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Part-!
Part-~II : Mathematics

Part-Hil : Environmental Studies
Part-IV : Language-l (English/Hindi) -
Part-V :Language-!l (English/Hindi)

Instructions for Candidates : +

The OMR Answer Sheet is inside this Test Booklet. When

you are directed to open the Test Booklet; take out the
Answer Sheet and fill in the particulars on Side-1 and
Side-2 carefully with*blue/black ballpoint pen only.

The test is of 2% hours duration and consists of 150
questions. There is no negative marking.

Use Blue/Black Ballpoint Pen only for writing |

particulars on this page/marking responses in the
Answer Sheet.

The CODE for this Booklet is L. Make sure that the
CODE printed -on Side-2'of the Answer Sheet is the same
as that on this Booklet. Also ensure that your Test
Booklet No. and Answer Sheet No: are the same. In case

_ of discrepancy, the candidate should immediately report
¥ the matter to the Invigilator for replacement of both the

Test Booklet and the Answer Sheet.

. This Test Booklet has vae Parts—I, II, III, IV and V,

consisting of 150 Objective Type Questxons and each
carrying 1 mark :

:Child Development and Pedagogy (Q. Nos. 1-30)
(Q. Nos. 31-60)
Q. Nos. 61-90)

(Q. Nos. 91-120)

(@Q. Nos. 121-150)

Part-IV contains 30 questions for Language-I and. Part-V
contains 30 questions for Language-ll. In this Test
Booklet, only questions pertaining’to English-and Hindi
Language have been given. In case the language(s) you
have opted for as Language-I'and/or Language-1l is a
language other than English or Hindi, pleasé ask for a
Test Booklet that contains ‘questions on that
Language. The languages being answered must tally
with the languages opted for in, your Application
Form.

)

e P
. Candidates are required to attempt questions in

Part-V (Language-1l} in a language other than the one
chosen as Language-I (in Part-1V})- from the list of
languages. .

Rough work should be done only in the space prowded in
the Test*Booklet for the same.

The answers are to be recorded on.the:OMR Answer
Sheet only. Mark your responses carefully No whitener

is allowed for changing answers.. o
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PART—I [/ w—]
CHILD DEVELOPMENT AND PEDAGOGY /. st farmma aiit fBrar-vma

Directions : Answer the following questions
by selecting the most appropriate option.

1.

In the progressive model of

gducation as implemented by CBSE,

socialization of children is done in

such a way so as to expect them to

(1) give up time-consuming social
habits and learn how to score
good grades

(2) be an active participant in the
group work and learn social
skills

(3) prepare themselves to conform
to the rules and regulations of
society without questioning

{(4) accept what they are offered by
the school irrespective of their
social background

Which of the following is based on

Vygotsky’s sociocultural theory?

(1) Operant, conditioning

(2) Reciprocal teaching

(3) Culture-neutral cogmtlve devel-
opment

(4) Insight leammg

A teacher says to her class “As
individual assignments ‘are demgned
to help individual students learn
more effectively, all students should
complete assignments’ prescribed

~without any assistance.” She is

referring to which of the followmg
stages of Kohlberg S moral
development?- :

(1) Conventional stage 4
—law and order
(2) Post-conventionial stage 5
—social contract
(3) Pre—conventionql .stage 1
v _—punishrriel_jit. avoidance
(4) Pre-conventional stage 2
—individualism and exchange

gy . Fafafgs oot & s/ W & fw wew
st frerew gfiuy

1. Fo Wo filo-Flo (CBSE) g 3wAwT MU

yifiefiad fen & wfmw § s=t w0

arrsfertn @ yobr @ o wmar 2, s

e Y 5w R TR

(1) 9 &9 78 F arelt wrfies aedr/
THER F wm Wt oan @ 5 e
THER =t Afmf W s wedt §
(score good grades)

(2) @ oMfRk® & 4 aks wrfeiar =
frafe & aur g wee dg

@ 3 1 v W wmw F
i farfendt &1 srqurm #0Y & fore
IR B W

(4) Beeht oft yR A gl geafy @
Tl 3 3@ wer ] AR R
forarer 510 wew fovan e B

. Peafafan 4 @ dmew o ¥

|- giephos fogra @ smumha 27
(1) wfha wrggem
(2) areafes faeg 4
(3) weRfa-fiy games Rem
) gl siftrm

. TF Riftmr oot wel @ wed B, ‘‘w

YFR F TS FHEl (ass1gnments) EQ|
fafor g wer fe T @ B e frenef
Afereh Rt & @ e W, ot W
ﬁareﬁﬁmﬁ:mmﬁmmm%m
& ol ®1 TR Femat b B R
fSrerra & =to Y oI wFa 2 e 27
(1) oftgariess W 4 7R s19en
(2) W-3f=Ties =R 5—annig diier

3) qE-3ftu=nies =01 1 —zvg afEs
4) tgeﬁq-mwz

< 3 fafime
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Fourteen-year-old Devika is
attempting to develop a sense of,
herself as a separate, self-governing
individual. She is developing

(1) hatred for rules
(2) autonomy
(3) teenage arrogance

(4) maturity

In context of progressive education,
which of the following statements is
true according to John Dewey?

(1) There should not be a place for
democracy in a classroom

(2) Students should be able to solve
social problems themselves

(3) Curiosity does:not belong to the
inherent nature of students
rather it is to be cultivated

(4) Students should be observed

and not heard in the classroom

A disorder rela_tédv' “to language
comprehension is '

(1) apraxia

{2) dyslexia -

(3) aspeechxia

'(4) aphasia

Following are the critical views
about the ‘Theory of Multiple
Intelligences’, except

(1) it is not research-based

(2) different intelligences demand
different methods for different
students. _

(3) gifted students usually excel in.
a single domain = . .

(4) it lacks of empirical support

4.

14-affs  Werr - swR-amy F g,
@it =afE i v @ Tk 0 @
9aTq T @ B | 98 Tl @ R

(1) Tt 3 ufa gom

(2), =

(3) TreiaeTTS e
(4) afgesa )

. wfaefier fen & wed-f Frfefes @

HH-T1 FF A S &, AR Wyfaa 27

(1) w&n ¥ Yoas @ s w0E T g
=fe

(2) Rrrfit ® =@ @ il guens
! gore § w9 @mar%q

(3) Fumen foenfiat & wema & swafifea
Tl ¥ oy smem sur/duds s
a!fréq L

(4) e & frenfit @ Frfeor wem afeg
7 fr g =l

T - SreeA @ wreg frer

(1) =mEE (apraxia)

(2) W(—m,(dysleﬁ;i,a)

(3) a@~mﬁm (aspeechxia)

(4) wT9EE (aphasial)v

frafafea & 4 FR-w  awisEEES
gwm  ‘wg-gf8 e (Theory of

Multiple Intelligences) ¥ @ &t 27
(1) a2 Nuraria T §

(2) fafim gisat fim-fie. fefhi & fo
faftm wgfoat 6 uinm = 8

(3) wiowrameht freneff wo: @ oy d @
el fafirear vefifa a3 &

(4) THF HIS éﬁm YR T8 ?

[ PT.O.
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Theory of Multiple Intelligences’
cannot be -legitimized as it

(1) is not possible to - measure
different intelligences as there
are no specific tests

(2) does not place equal importance
on all seven intelligences

(3) is based only on sound
empirical studies done by
Abraham Maslow throughout
his life

(4) is not compatible with general
intelligence ‘g’, which is most
important '

The individual differences of
students in a classroom are

teachers
a diverse

(1) disadvantageous as
need to control
classroom

(2) detrimental as they lead to
student-student conflicts

(3) inexpedient as they reduce the
speed of the curriculum

transaction to the level of the

slowest student

(4) advantageous as they lead
teacher to explore a wider pool
of cognitive structures

School-based ' assessment

introduced -to

(1) deeentra]ize the power of Boards
of school education in
country

was

(2)  ensure thve holistic development

of all the students

(3) motivate teachers to punctili-
ously record all the activities of
students for better interpreta--
tion of thelr progress

(3] encourage schools to excel by
competing: with “the other
schools in their.area

the:

8.

10.

wg-gfe R @t dw A wmown

THhal, Fih

(1) TRt ool % pma & fim git
(different intelligences) T

g T8 R

(2) 7§ =ft v gheAt A guH vEE
IR

(3) @' Faa IrwTEH WAl F e~ &
Yge AFWATCHR LB X ARG B

4) asaaﬁﬁmnmwfjmwgﬁ‘g’%
IR (gama) e R

. & ¥ frenfat & dafees fade

(1) Wl &1 -8, wifr oreageRt
Al Fwa B il F@ R
eIl §

(2) whERE-8, =ifs =@ Rl &
QR g I B R

(3) gugw &, wify I waifs m=

frmeff & W wF uemEEt F
TIHROT Y 71T A 9 9 3

(4) eme ¥, wifts 3 Rk H
TIARHE  EAE W @e A
TLAUH B W w &

foremag- s snees ey fEn T O
aifer '

(1) Ty A formerht fegn g, (Boards)
i wifcr @ Tt B s @
@ @t et & ol fm =
(3) Frerfit i safi it Jzm =mEm ¥

fer b vt TRt ¥ fafa

FET g eTeamrR} aﬁ st
T s wh

(4) foraem™ 3 &5t 3§ R oy fifim
fraeat . gemn A vt g
Lo faftea w1 wedfr w3 g
e 8 g% .
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12.

is correctty matched with its
specified domain?
(1) Could you group your .: Evaluating
students on the basis of
their achievement in
Mathematics?

(2) What was the turning : Creating
point in the cricket
match telecasted last
night?

(3) Write down a new : Application

recipe to cook chicken
by using herbs.

(4) Determine which of the : Analyzing

given measures would
most likely lead to
achieve best results.

13. Which of the following is the most
effective way to convey students
from disadvantaged sections that
you expect them to participate and
succeed?

(1) Articulate your confidence in
their ability to succeed
(2) Develop your own‘interest in the
topics to be taught
(3) Compare them . with other
children _as frequently as.
possxble to make them realize’
) ~ their goal - ’
' (4) Emphasize the point that you
have high expectation of them
1-L

R

/el

Which one of the following is not
related to other options?

(1) Organizing question-answer
sessions

(2) Taking feedback from students
on a topic

(3) Conducting quiz

(4) Modeling the skills of

self-assessment - -

Which one of the following questions

11, Pefafes § @ K9-w & o= et @

12.

(1) ®n 39 AR fnfd & sh
firg i Iy’ F WMUR W
aiffra X THA B 7 ko

(2) Tl T qEvh ® Rew 7

. g AE 87
(1) TIRR @At @ gufsa FET

(2) Fﬂﬁﬁmmﬁmﬁhﬁﬁﬁaﬁmaﬁ
&

(3) vl (Quiz) iETiera
(4) w-3THH & Hive w whemfa wE

frforfta & ¥ F9-m v o fafie e
¥ 3 e & foren gont 37

AT

. Qﬁ'ﬁﬁﬁ

e Bg # fols s
(turning point) FH-|T 417

(3) s-gfEt ¥ wm gw faEA
R g P W Iy
FQR l ‘ iy

4) ﬁufﬁaﬁrﬁmﬁaiaqmw@ﬁ
T | RA-F AR, TYHI. M
qﬁwﬁaimﬁﬁa’q’fﬁmﬁaﬁ
F Gohal 2

: 3ﬁ§<’ﬂﬂ

: foreero

13. Prefifiag § @ -4 walfte gwEsd

faftr @ wadt 2, S enweh! 7| ot w @
a%%aﬁaﬁwﬁawﬁwﬁﬁmmm
UHA | Goh?

(1) o9 ITh whera ¥ ITH G H
ﬁ‘ﬁmm‘ta&mai’ '

) vammﬁaﬁﬁwﬁemmﬂzf%r
it s o

(3) wﬁa&waﬁmaﬁ%m'ﬁa‘i
#) 3 TS QT FAT FHA T

{4) 3™ 9@ W AW & emudt IR I
ame 8

[ P.T.O.
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Following are the
developmental disorder, except

(1)
(2)
(3)
(4)

autism
cerebral palsy
post-traumatic stress

attention deficit hyperactivity
disorder

Multiple pedagogical techniques,
assorted learning material, multiple
assessment techniques and varying
the complexity and nature of the
content are associated with which of
the following?

(1)
(2)
3)
(4)

Universal design for learning
Remedial teaching
Differentiated instruction
Reciprocal teaching '

Which of the following is true about
gifted learners?

(1) They make everyone else
smarter and are essential for
. collaborative learning

(2) They always lead others and

. assume extra responsibility in
the classroom

(3) They may achieve lower grades

due to their heightened

sensitivity

(4) Their importance is primarily

due to their brainpower

Inclusion in schools

focuses on

primarily

(1) making subtle provisions for
special category children
fulfilling the needs of children
with disabilities only

meeting the need of the disabled

child at the expense of entire
class ’

(2)

3)

including the educational needs
of illiterate parents in schools

4)

examples of |

14‘

15.

16.

17.

frefafaga 4 @ v-w Sermes TR
1 IR el B?

anenfarls (Autism)
yqferss 9@ (Cerebral palsy)

w-fimmas @99 (Post-traumatic
stress)

= s@uE afFa B (Attention
deficit hyperactivity disorder)

agiem-wmef  qeeis, wffga sfam
wrft, g-ameeR wEA qul afEda
Sifeear ug amh 1 @y frefafaa o |
g wrag 7

(1) wEsiifie srftrm yred
(2) uarTES fregw

(3) frifea srgewm
(4) Rt R

Prafrfaa o @ sfonareht sRmmssist &

for wn wgfia 7

(1) ¥ gt A off -y s € qen
gearh sifrm ¥ g sraves 2

q W I W AT H@ T R A
7 srfefee Swaiics Tem w@ |

AT Iy daeATeRadl & RO A
ot fr Joft a1 ga &

g dr W afeed e F
FHHO[ Y 3T A &

foreneal 1t gErEaTE gEE: A B R

(1) BRe i s ==t ¥ fm
gefagen wawEl & Ao |

Hae fim st 6 smawwarst @i
ol FE W

et e A fiwg @ Feife w=t B
HEREHAS A T FA T

et ¥ fRer sfinnaat f dfes
AETHAIA |-

(4)

(2)

(3)

(4)

(2)

)

(4)
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--The cause of learned helplessness in

children is their

(1) acquired behaviour that they
will not succeed

(2) callous  attitude towards

classroom activities

(3) non-compliance with expecta-
tions of their parents

(4) moral decision for not taking up
studies seriously

If a student is consistently getting
lower grades in school, her parents
can be advised to help her by

(1) working in close association
with teachers

(2) withholding mobile phones,
movies, comics and extra time
for play

(3) narrating her the hardships of
life for those who do not possess
proper education

(4) . forcing her to work harder at
home

Which of the following -does not

deter problem solving?

(1) Insight

(2) Mental sets.

(3) Entrenchment

(4) Fixation

18.

19.

20.

=1 °§ diedl 7 g = s @

(1) 3@ =EER & @ & o & 3
THSA T & T

(@) e TR % R s fot

(3) 3w afrEst i ar&&ﬂ:ﬂ% F |
TS F o= T

(4) IreaEE F IiiaTgEes A R g e
foi

R wh franfl faem 4 amar e
aoft W wd ¥, A Iew afaEE H
gt e og aee e s wa @ R
(1) 5 s < afvg wnf § a AR

(2) WrEEA B, TAfH, Hed, 99 g
srfafe @ W AF @l

(3) s wefmify fgm = @ ww IR
Sfem Ma;%?rszﬁmama’t

(4)3{%3%3%?&%@?%@3;@«
a3

ﬁmﬁ«r&ﬁﬁﬁam U Y marfﬁa
T8 FHLar? i

(1) FmEE (Ins ight)"
(2) mﬁﬁm (Mental sets)
(3) wrefa=t (Entrenchment)

(4) Fufor (Fixation)

[ P.T:0.
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A teacher is connecting a text to the

previously learnt text and showing

children how to summarize it. She is

(1) helping children to develop their
own strategy to comprehend it

(2) insinuating that there is no
need to go through the entire
text

(3) reinforcing the importance of
text from the assessment point
of view

(4) encouraging children to mug it
up as effectively as possible

What kind of errors is common
between a learner who is learning
his mother tongue and the learner
who learns the same language as a
second language?

(1) Overgeneralization

(2) Simpilification

(3) Developmental

(4) Hypercorrection

The stress affects performance in
examinations. This fact reflects
which of the following relationships?
(1) Cognition-Emotion

(2) Stress-Omission

(3) Performance-Anxiety

(4) Cognition-Competition

A teacher is trying to counsel a
child who is not performing well
after an accident. Which one of the
following is most appropriate about
counseling in schools?

(1) It is about the palliative
measures for making people
comfortable

(2) It builds self-confidence of
people by letting them explore
their own thoughts

(3) It is about giving the best
possible advice .to students
about their future career
options

(4) It can be done only by the
professional experts

21.

22'

234

24.

s fofie o1e @t qaufea are ¥ Sed g

=i oW foe Rmar @ ) 9' @

= Y

(1) o8 s=i N g wEn N @
forerfira w0 8§ wgrrar o T R

(2) a8 = B G IR B Qe
¥ T Ugd I emEwERdl H OEHRd 9
w3

(3) % 3mHeH & gt @ WewEEg &
wExE Bl e ora U T R

(4) @' Tt = ameiggs o w3
ARG TR G

UF T A wgEr Hia @R 9 |

= el v T v % s § da @

21 2l Pafafea 8 @S- @am g

#I 3R = R §7

(1) it amrdiEm

(2) AT

(3) formrEme=

(4) STt aYrEa

ghien 4 oma Prsafy | wwifda @ 2 9w

a2y Frefafaa 9 @ fra wer & gy @t
TIT H@T B?

(1) EFE-9E

(2) aa-faei

(3) Freafu-femm

(4) agH-wieRfar

TH AEA9% I = F Wg guHyl w ¥
Foraeht Frovearems yfd w gien % vy
sgge Td R frafafee 3 @ Sw-d

v R & wet ¥ R g S'w

B Tt 87

(1) T& T IUIMES I & arfes i ama
&l TNHIIF TEqH FL Th

(2) =& 3 f=mri g @ = 3g A
H streafazara w1 fmfor Far 2

(3) ﬁarﬁfa‘iaﬁwf&m%ﬁmvﬁﬁgﬁ
T T8 - I=31 qesrfad. e §

(4 ™ wd N Faw wpE T
ST 9oy @ w0 W e &
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Which of the following would

encourage the least a student who |
wants to become a hlghly creative |

theater artist?

(1) Try to win the State level
competition that will ensure you

scholarship
(2) Develop empathetic, amicable
and supportive relationships

with your peer theater artists

(3) Devote your
theatrical skills that you find
most enjoyable

(4) Read about the'pprformainces of
the world’s best theater artists
and try to learn

Which of the following theorists
would be of the opinion that
students study hard for their
personal growth and development?

(1) Bandura

(2) Maslow

(3) Skinner

(4) Piaget

Which of the folloWing factors
supports learning in a classroom?

(1) Increasing the number of tests
to motivate children to learn

(2) Supporting the autonomy of

children by the teachers

(3) Sticking to one particular
method of instruction to
maintain uniformity

(4) Increasing the time interval of
periods from 40 .minutes to
50 minutes

time to those |

25. & fondff sowla gemee omeEl

26.

27.

FATHR T Agal & | 39 fo e
ﬁﬁﬁq-mmma%wﬁmé‘l’n?

(1) TooEn gf@fien & St
| YT T AT BEah Ut T weh

(2) o YU FAER @A 6 A
grrfagel, B @ wgErh weaey
ol wem

(3) 3 TEhE Hwrt @ Ifes #Ea

(4) HER % Ay T wenwrt H ety
A Tag ot dgt & fom qun 3w@
dras % v F o s

T ¥ BT Ugaen 98 Wi Wy
2 5 s= ol gfg @ fmmr /g FoR
AT A 87

(1) s

2) ﬂwﬁ
(3) ferm
(4) T
frefafga & ¥ FF-w o= Fa § afrm
¥ HETTIH B Wehell &7

(1) =t @ frm g Ofm w@ F fag
qliernt it TE H qE A

(2) axwmaﬁmﬁa%a‘tﬁwmaﬁ
JgraT § TERET oA

(3) wuFEl AT @A & R Rl O
T Tl W ek T

(4) Femm A sEfy wW 40 fre @
soﬁm:waa%n

[ P.T.O.
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Mature students

(1) believe that emotion has no |

place in their studies

(2) resolve easily all their conflicts
with their intellect

(3) sometimes need emotional
support in their studies

(4) do not get upset by studies in
difficult situations

®

A child coming to pre-school for the |

first time cries profusely. After two
years when the same child goes to
the primary school for the first time,
he does not express his tension by
crying rather his shoulder and neck
muscles become tense. This change
in his behaviour can be explained on
the basis of which of the following
principles?

(1) Development
sequential manner

(2) Development is gradual

(3) Development is different in

different people

(4) Development is characterized by
differentiation and integration

Which of the folloﬁng statements is |

true?

(1) Genetic makeup impacts respon-
siveness of an individual to
qualities of the environment

(2) Adoptive children possess same |

IQs as their adoptive siblings

(3) Experience does not influence
brain development

(4) Intelligence remains unaffected
by the schooling

10

proceeds in a

28.

29.

30.

gftge foemeff

(1) 38 s & fwwm »@ § & =%
eEA B et 1 RS T T 2

(2) 3ot Sifgerar & @y o Wil wER
F 55l o Iy THYE A 8

(3) o1a 3reEA B wuf-wft waeT
(4) w7 oifeufaat § ot sem @
foraform &1 e

gd-forner & ugelt aW s w=N g wq
¥ fgr 21 QA 9 uw ad = W=
e fommem & wgelt sR W@ @, @
IO e TageR = A e afig
I F9 9 T A Wt 0= T ) s
T aRTRE qiEda w1 w0 dfe e
8w 87

(1) forerra itk g & e @
(2) T freada dar war 2

(3) erem-3rem Art # forerm off g wv
| g ?

(4) T 9 whieto fawm & aeor §

Frafafiaa § @ -1 F99 ger 27

(1) R g =i €, haw
o % iy, SeqReERdl gt
FAA B

(2) e faT T a= W oad gig-cRuE
(IQ) & 2, s e fw T %
HEIS WTE-wgl i et g

(3) wa afss & fmm &t yaifyg
T8l AT

(4) Freredfeor w1 gl ® @ g
Tt e
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PART-~1I / 9 i—II
MATHEMATICS / nfor

Yirections : Answer the following questions | fdyr : fimfiiRaa wedl & W [ & fou wew
v selecting the most appropriate option. shra g ﬂf‘:ﬂ'l
31. The perimeter of a square is 20 cm. 31. Tt ot o ofama 20 adft 31 ©F InEa
A rectangle has the same width as # el 39 @ A SR F At 2 3R
the square. The length of the e soeht, e i gr R W
rectangle is double its width. The e, af A, ﬁ 2
area, in square cm, of the rectangle _ e
is (1) 30 -(2)' 50
(1) 30 (2) S0 » ‘
(3) 100 (4) 25
(3) 100 4) 25 .
32. The internal length, breadth and | 32. fmfi snaaer s A Hi awafes TS,
height of a rectangular "box A are derd et =1 Fe: 20 &fi, 18 ot
20 cm, 18 cm and 15 cm respec- ar 15 ot €, qon s B f 18 B,
tively and that of ‘box B are 18 cm, 12 dft six S’ﬁ‘ﬁ 2| RN A B T
12 cm and 5 cm respectively. The ) T T 27
volume of box A is how.many times B % S T E
(1) 4 (@ 5 | S
@) 6 @ 3 (3)..6 @ 3
33. Which of the following is not | 33, fiq# @ -4l g@qﬁ%?
correct?
(1) Area of a square of side 10 cm (1) 10 %Tﬁ W ‘q’ré ‘q'ﬁ B A
= Area of a rectangle of length = 10 ¥l A HR 0.1 =T
10 cm and breadth 0-1 m AT AR B EAHA
(2) 1 metre 5 centimetre (2) 1 e 5 FH = 15 g
= 1-5 metre ' '
. 4 &
(3) 0-40 is same as 0-4 (3) 0-40 ¥R 0-4 T &
(4) Rupee 2 = Rupee 075 (4) 3T = 075 TH
SPACE FOR ROUGH WORK / T &@ & fog 9w
1-L 11 [ P.T.O.
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34.

35.

36‘

I

/el

One orange costs five and half
rupees and one kg apple costs & 80.
Then the total cost of one and half
dozen of oranges and one and
three-fourth kg of apples is

(1) € 219 (2) €229

(3) ¥ 239 (4) € 209

NCF, 2005 states that Mathematics
teaching should be ambitious,
coherent and important. Here,
‘ambitious’ refers to achievement of

(1) narrow goals of Mathematics

(2) linking of Mathematics with
other subjects

(3) application of Mathematics
(4) higher goals of Mathematics

In Class II, concept of even number
and odd number was introduced by
activity of pairing the given number
with concrete objects. Then teacher
asked the students to check
(ij whether the total number of
crayons in their colour boxes is even
in number or odd in number,
(ii) whether the number of pages in
their Maths notebook is odd or even.

This task of finding even or odd
number of crayons/pages is

(1) assessment for learning

(2) assessment as learning

(3) assessment at the end of
learning

(4) assessment of learning

34.

35.

36.

UH HR K A G} UG A q TH
forelomr @9 @1 L1 80 T4l @, Al 3%
o Gl q ww o fri-<hu feetom
¥ I Fol T 2

(1) & 219 (2) ¢ 229

(3) ¥ 239 4) € 209

vHa yrsa=Et H wREn, 2005 T 98 3g@
e mn § B i fheor aewmnied,
ga@ R mewgw € wifdwl =l
‘gl @ e Frefafae 8 @ et
IrAfey 87

(1) Tfora % wehiol sRyal (vieat) fr

(2) "ira = o fwat @ e A

(3) wifdra & srgoEmt H
(4) vt & 3= 3! (weat) €

w1 7 gy gewm i fwy gen f
Theudt # IR W () awgett @ @
T e % W ge & feurRa g
fan man| 39% uvarq fifiEr A ol @ W
dAgsA s s I aed i
(i) Tt it fesat & A Hi o dem wm R
sivan fawm, () R wfig H wh o
FAEA (UT) it T 9w R areEn fawm )

FaEl /ot it ww v foww wewm 3@
F H1 98 F

(1) siftrm & fore geame 2

(2) sriRrm % v § e B

(3) wftrm % o o gearE ¥

(4) & qegien &

SPACE FOR ROUGH WORK ; & %W % fou s
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37.

38.

R

A

After explaining the operation of
subtraction in Class II, teacher drew
the following diagram on the board
and asked the students to fill in the
circles :

The purpose of the exercise is

(1) strengthening skill of addition

and subtraction

summative assessment

(2)
(3) arranging fun activity for the

students

mathematization of mind

(4)

How many rectangles are there in
the following figure? :

The above question is testing
(1)
(2)
(3)
(4)

knowledge of learner
understanding of learner
creativity of learner

memory of learner’

37.

38.

Fal 11 # Hawed (FR) & JeE H
N FA F gvEr faw T wmwe
H9 far e R e ok ==t @ R wEl
H W F foe =

OO0

\9 _47)( /
1\
C\ . e-fo e
\ : -\/'
~1' X2
-5 N

(

TG AT H W B

(1) "herd R T Sl @Wn Edl
pEREERC

e Yot

oEl ¥ fu weer e R
A HE

aférss o1 ivrdie

]
- b

(2)
(3)

4)
R fo o o § g feR e 7

TG IE SE W@ E

(1) Frameff % 36 H

(2) ﬁnmzﬁ%gﬁé(aﬁmm) 6
(3) foemefi Y gorran

4) ﬁrmﬁ%&mwﬁaﬁﬁ:ﬁ

1-L

SPACE FOR ROUGH WORK / & wf ¥ fou sg
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39. Which of the following activities is | 39. = a1 mn ==-w framrem e 11 a%
meant to enhance problem-solving B 6l aHesT w g FE h T T
abilities of students. of Class III? gfg & o 7
(1) A crossword puzzle containing .
clues for all key terms learnt (1) =i ri-ugelt forent @ mw wft g
like even number, odd number, T S8 gw gem, aw g, v
composite number, prime &, AW HEm R % dod
number, etc. (|erT) 2w T #

(2) A group project How the
students of primary wing shall 2) HT’I\%E gfeasm - gt samaen
be distributed equally in four ¥ wEl § §9F w9 § =X ged
houses (house system of school) ( W’ﬁ i e W) § B TER
so that every house has talented : . ‘
students from sports, arts, fersTfora 1"25«:(( M A T EH F @,
cultural and academic weT, Hikhfae I Afere fparerey
activities? - &% gfasremett BT 8i?

(3) Conduct an interclass quiz in . ,
the class on ‘numbers and (3) e ¥ ‘wem ofR wEww fawm w
operations’ - e gaelt gfoafia s s

4 A worksheet -- containing B e “
problems on four basic (4) g ‘ﬂﬁqﬁ_“ﬁ foret R STETeH
operations like—Find 25 x 34, T JW—rg R 25 x 34,
451 + 11, etc. 451 + 11 R @ 7 &

40. The recommended key concept
in the unit of ‘multiplication’ in 40. e [ o N = d 3;@;,}@;[
Class III is TF{ I@

Hehod T B

(1) multiplication of 2-digit number

with 2-digit number (1) d-sif FEm B A G ¥
(2) properties of multiplication— T T

order property and group

property (2) W Toreri—3m 3w o
(3) word problem based on ‘

multiplication (3) T W IUia SsE-gae
4) multlphcatlon of 3- d1g1t numbers ) )

by 10 o, (4) -3fhi WMt F 10 A [0

SPACE FOR ROUGH WORK / & &1 & fom s
1-L

14
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41.

42.

43.

R

/el

From the unit of ‘fraction’, -teacher
asked the students to list any five
fractions.

This question refers to

(1) higher level of thinking
(2) analytical thinking

(3) spatial thinking

(4) lower level of thinking

In an exercise, the question
was—Measure the lengths of the
line segments P Q and
R S.
The child answered—

length of AB = 5 cm

length of AB = 3 cm

This refers to
(1)
(2)
(3)

conceptual error
procedural error

error due to habit of naming line
segment as AB

(4)

A teacher distributed newspaper in
Class V and asked the students to
read the cricket scores of Indian
teamm in latest match. Then she
asked them to draw bar graph of the
scores. The teacher is trying to

(1) help the students to make
connections between mathe-
matical concepts and real life

reading error

(2) teach them through project

approach
make the class joyful
communicating

(3) and

enhance reasoning power of the
students

(4)

41.

42.

43.

‘i’ <l g A e 7 Bt A fed o
Rl A e s ¥ o w3

I& T¥ Gohd HT 8

(1) @ F 3= R

(2) fvduomers @ ®

(3) fferdia/mereiia | =i

(4) G F fm wmH

et e A9 o1, Pe—eQ
M Re———S W@ @l # T
e
T A I fean—

ABEf’ﬁm:S@Iﬁ

o Uhd BT R

(1) e IR &

(2) weifafe 3f =t

(3) Y@ @ve # W AB forga & e
¥ HHT e

(4) v AR W

it 3 war v wmer-gx foafa s

BET ¥ e A ¥ A A wRdlE dw &

Rgenfedt & f3r¥e & @R ® Ugd & g

FET| THF UIAE 3G I T R H

4 E WA & e weni- T iy ya

ECRE RO

(1) BEl H, awafrs Sed IR
Thoqiel % " wEeY WA H, |
HEREl B H

(2) ufESET IO ST BT @ e A
E3]

(3) ®EM W JWHI T TSI
CLicic _

(4) oEl R afdw g § gfg w0 A

1-L

SPACE FOR ROUGH WORK / % &1 & fog s
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44. The following word problem was

given to a child of Class IV :

Mumbai has 336 bus stops. Delhi
has 127 more bus stops than
Mumbai. How many bus stops are
there in all, in Delhi?

The child’s response to the above
problem is recorded as—

336 | Mumbai
336 "127 Delhi

Total bus-Istops in Delhi are
336 + 127 = 463.

The teacher shall report about his
performance as

(1) the child can find the answer
correctly but his expressmn is
poor

(2) the child is good at visualizing
and analyzing, and his problem-
solving ability is appreciable

(3) the child has not adopted the
right procedure. He needs to
practice more

(4) the child is not able to write all
steps required properly

44, H1 IV F fedt s W fFetafe

e -gHE & S

s 336 w6 Wi | g 4 g @
127 a9 VR aftes 21 g & 3o
fope w@ =g 87

BE I IGUTH THET F1 ST 30 TR o

336, | mwE
336 | 127 | f@

fegt & 3@ 336 + 127 = 463 @™
i g1

frerr 39 91 & wevl ¥ g # w foe
Jme

(1) B && IW Wd W HqHa & 9g
et Afisafes fge @

(2) B TWEN W GRS 39w
ﬁs@rwwﬁﬁm%mmﬁ
m%’ﬁwﬁﬁwmﬁ%

(3) o 7 vt frfafy =@ srarft) =@
ek 3nma Y anavasT R

4) 3@ oft mavEs WOl @ oy |
A A8 @A

1-L

SPACE FOR ROUGH WORK / T &/ ¥ fiu wg
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46.

R
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A student was asked to read the
following numbers. :

306, 408, 4008, 4010

He read as follows :

Thirty six,. forty _eight, four

hundred eight, forty ten

The reason for error in reading is
that

(1) the studeﬁt.: does not like Maths
class and finds the class boring

(2) the student has understood the
concept of place value but does
not know how to use it

(3) the student is not fit for study of
Maths

(4) the student is not able to
understand the concept of place
value .and feels comfortable
using two-digit numbers only

The parameter(s) of assessment for

45, fFdl om @ fi2 @ @ g ) T

fora =gt o
306, 408, 4008, 4010
I0 T T YRR UG :

€ o, Iy oe, IR © e, iy
Tq

Tga § 3R 1 FwRwr 2

(1) B F it 6t FHar Tt Td et
3N wen IS (FVATF) ATt B

(2) BE A TR U A TR @ gHe
&t % Wy 3T 3TN T S

(3) o T @ R A % fau
IgE R

4) oo g am f wweam B oA
gHga & 3R 3W Few  9-3hy
&I % qe1 ITEE AT B

\ ¢ y — L] Y

‘time’ for Class IV shall be 46. e IV % im A & G Y

gl @Tﬂ/ﬁ'ﬁ

(1) reading time on analogous clock
only ' (1) ¥aa vgn Ul | g99 Te

adi i n  digital d .

(2) reading time on dxgl‘a an @ B ol Sﬁ'{ﬂgﬂ o W qH T,
analogous clock, concept of half 7 ik
past, quarter past, quarter to, e wuer JAfeh, wUE Tver i,
a.m., p.m., relation between %ﬁ?ﬂ’é HUIl H, a.m., p.m. &l
minutes and seconds Hereaar, fire i ¥og 1wy

(3) readingt tifme on cliigital clocl:k, (3) F@ P T W UG, am.
concept of a.m. and p.m. only S p.m. H FFE

(4) reading time on digital clock .
only (4) Faa AT TH T EHT UFA

SPACE FOR ROUGH WORK / & &M & fou 9@
1-L [ P.T.O.
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Tall shape of Mathematics’
mentioned in NCF, 2005 refers to

(1)- solving challenging problems
(2) creating Maths game
(3) providing hands-on experience

(4) building of one concept on other

Consider the following :
5+ 3=
The open-ended question corres-

ponding to the above close-ended
question is

(1) Find the sum of 5 and 3

(2) What shall be added to 5 to
get 8?

(3) Give any two numbers whose
sum is 8.

(4) What is the sum of 5 and 3?

Farhan went to school library and
found that 100 books kept in story
section are spoiled. 20 books are
missing. 219 are kept in shelf and
132 were issued to students. How
many storybooks were there in the
library?

Teacher can teach the following
value through this question

(1) Helping others
(2) Sharing books with others
(3) Taking good care of books

(4) Sense of cooperation

47.

48.

49,

¥ yrewwat it '@, 2005 # 3fghaa
‘niftre <Y ewsft ArRlaT Hed whR

(1) vyl awenett & g & @

(2) nftra & @&t F g

(3) Tl S T HA

(4) U HHCTT R TEY WHeUR! ST

fafafaa w fimm At .
5+ 3=
70 Hiva-3w u &1 d_gEN TEH-IFW T
am ,
(1) 5 3 3 =1 T Fi@ FiR |

(2) 5 # @ S S g Al 8w
77

(3) =3 a‘tma,arq Ay Rreer @
8 Rl

(4) 53M 3 omzhnwﬁm?

FEM 3 ey ¥ gEreeE § 9 W 98
grn foh gt 31 § Tt 100 TR T8
& & 20 g W A A gar
8?1 219 TWh Jemdt d W el
132 g&ahl &l a=0 @l Ued h faw
TR g § g et wRre
g off?

%mwwmﬁﬁa%afmmaﬁ

* 9T GHal- 2P

(1) = 6 gga FE1

(2) ¥ & G T ) AR FE
(3) Ul I T @IS AT
(4) zravﬁﬂaﬁvéa:sﬁam

SPACE FOR ROUGH WORK / % &4 % ﬁv‘ﬂf Gm%'
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50. The:product of the place values of | 50. 70560 # 5 IR 6 & sy uAl &

5 and 6 in 70560 is TS B
(1) 300 (2) 3000 (1) 300 (2) 3000
(3) 30000 (4) 30 (3) 30000 (4) 30

quotient is

(1) 70707 (2) 70007 (1) 70707 (2) 70007

(3) 7077 4) 7007 (3) 7077 (4) 7007

i

52. TOMHA 3001 x 101 H<@ 390 WA SU
52. What should be subtracted from the Rt B 300311 Wi &7

product 3001 x 101 to get 300311?

(1) 2790 (2) 2090 (1) 2790 (2) 2090

(3) 2970 (4) 270 (3) 2970 (4) 270

s

53. (36I IR 60 am aam fﬁm o Tor)

53. (Smallest common multiple of 36

and 60) + (Biggest common factor of + (18 3K 45 1 T 31 a1 porRETe)
18 and 45) is equal to TR Bt

(1) 20 (2) 30 (1) 20 @30

(3) 40 | 4 10 : (3) 40 - {4) 10

SPACE FOR'ROUGH WORK / Th ®1@ ¥ foru sy

1-L 19 [ P.T.O.
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54. (10 tens + 11 hundreds +12 ofies) | 54. (10 TR+ 11 VHST -+ 12THIE) qUK ¢
equals B S R0T o by
: (1) 1213 (2) 111012
(1) 1213 (2) 111012 sy z
(3) 101112  (4) 1212
(3) 101112  (4) 1212
‘.i )\)U +
55. 42 % UREUE Y TE §
55. The number of factors of 42 is
. G s SH1) 7 obesib 0 I0(2) 18
(1) 7 2) 8 21
' R T ) -
(3) 9 @) 6 Brh&y . ()6
56. When 3488 is divided by 12 and | 56+ 3488 12‘;‘“’7 W;“m AT 3‘3
2478 is divided by 11, the difference 2478 H 11 | ¥ FH T AH 9%
between the remainders in both I R
cases is et D
- Sy rBor1du s ad @')’mﬁ .
(1) S (2) 6 B ol e A
- @) 0. @) @
(3) 7 4) 3
57. wH @S B P #8118 am. ™
57. A t;ain l?veststtfz}tiorloP atlglig a.m. TR R4 Q W 3 7 10:98 p.m. W
and reaches station Q at 10:28 p.m. s LN
Tgadt 71 e T 9Ee A @
on the same day. The time taken by T & 8 ¥ ETQ >
the train to reach-Q i§’ -E¢ o .,,:yt'?.: . 10M . o fe e e Ce
' M 010 gy ey ARy (ORS¢
(1) 14 hours 10 minutes.. = (1) 14 ?U?ngga v oo e T
(2) 14 hours 46 minutes 2 1";“‘;"@’(‘}’6 [LEC
(3) 18 hours 46 minutes (3) 18 ume 46 fime
(4) 13 hours 10 minutds * (4) 139910 fire
SPACE FOR ROUGH WORK /it (&M ¥ fou s |
1-L 20
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58.

590

60.

14 L 280 mL of orang€ juiceTand |7, 58..’144, < 280 fich @@ =1 s ok
18 L 830 mL_of carrottjulceﬂgtil‘:fu vr. 1a-d8 F 830 fuch mw @ S ot w w
mixed together g Sl e was o ﬁmrzn T | Wyw g ¥ 15 |t
filled in 15 bottles each containing #. Bl @ y&e § 15 T e a1
. 15 L.:How much:mixture)was left?& | . -%|’W,ﬁl‘i% R
| JFIF DR BBT K¢ 3 o
(1) 11 L 105 mL ) 1 105ﬁwﬁ
(2) 9 L 610 mL | @ 9 9 < 610 rrmﬁ
~ w5 fleyy l
(3) 11 L 605:;mby T @anehieos Bt
: ‘5
(4) 10 L 610 mL (4) 10 610 fref
% e AN ;ﬁ“-ﬁr-. v} ) 3 ! . . -
| TRRes WY -
One-fourth of a pizza was eaten by | oo frt Risn o1 wr-<hord s ¥ 3 @ foran|
Renu. " Thé* “rést > was equally ‘(’ﬁ e GETT ﬁ a1 T
distributed " “athéng! 012 children. tel 12 TR HE !
What part of the plzzapdld each of T ﬁ _gia,a; a—% wt fosn Al fieerm s
~ these chlldren get'P i 5 firen? . !
SRS AR,
1 .|
1) — Vio(2) =56 (L 1 2) —
M 1¢ @ =F M ()3,,
4] , FT& 4
3 . +h 1 3 ‘{:\I 3 1
5 3 4 L @) = “ <
@) T¢ ) »g_:}‘%? ‘ 16 '8
. f
& - U rl‘&;{m RN =
The number. of seconds 1n 6 hours 60 6 =t ﬁ E ;ﬁ Gﬁ ” ﬁ'rd-?{ et
equals the number of mmutes in " e LIk E'@" Al ”%
{‘1) 4 days RTINS S SRR Y h_‘-(l) 41?_{:[ R
TR\ S 111~ . _ . T
(2) 10 days (2) 10t Lo
T J
Moo & 0 f
(3) 15 days & TF & " (3). qu?::{ S
(4) 2 days . ) (4) 2f=
C o e FEEE A 5o !

R

1-L
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PART—III / stra—III
ENVIRONMENTAL STUDIES / waiawur steaas

Directions : Answer the following questions
by selecting the most appropriate option.

61. Select the true statements from the
following :

62.

1-L

L

I1.

III.

IV.

(1)
(2)
(3)
(4)

Elephants love to play with |

muddy water as it keeps their
skin cool.

Most elephants like to take rest
and sleep nearly 10 hours a
day.

A three-month-old elephant
weighs about 200 kg.

Most adult elephants eat about |

100 kg of leaves/twigs in one
day.

Il and IV only
I and IV only
I, II and IV
I and II only

Select the correct statements about
Madhubani paintings :

A.

(1)
(2)
(3)
(4)

To make these paintings, indigo,
turmeric, colours from flowers
and trees, etc., are used.

The paintings show human
beings, animals, trees, flowers,
birds, fish, etc.

It is a very old form of folk art
and is named after the place
Madhubani.

Madhubani is a well-known
district of Rajasthan.

A, Cand D
A, Band D
B, Cand D
A, Band C

figw : fafufeg yet % s P F fog v
3t e g
61. frafafea & & v wom ghe

L areft e ot § @em vm #a E,
FfF Y T WR o deF Tad
H

1. ey geft A & w10 o
IR ET A WA TEEE A 2

. &9 78R & gl & 9= #1 99 e
200 freum g 1

v. sfuey == el ww e & wmm
100 f¥eum o= /anfeal @ aq 21

(1) a= 3R IV
(2) Faa AR IV
(3) 1, I IR IV
(4) Faa1 R

62. wyw R & aR § &l e Y

A. T Ryt e i e, wed, g
F T e & SR fRar s R

B. @ fuat & $om, wWeR, 9%, §4, 99,
ofal onfe Ram s #)

C. @& s Rewer sga godft @ 3R
THSH! U WYSH AHF TUH F AW W
RN

D. ngﬁmmmmﬁ-u%ﬁ;ﬁm%l
(1) A, C3RD
(2) A, B3RD
(3) B,C3RD

(4) A, BRC
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63. A bird makes its:nest high up on a

64.

£
e

1-L

J
tree. This bird could be
(1)

(2)

3)

- Sunbird
Indian Robin
CroL\-Svi

Dove

(4)

Pochampally is a. village which is
famous for the special cloth which
is also called yPochampally. This
village is a part of

(1) Kerala

(2) Karnataka

(3) Andhra Pradesh

(4) Tamil Nadu

Select the correct statements about
‘Desert Oak’ :

A. It is a tree found in Australia.

B. This is a special kind of tree
which has its roots growing
from its branches.

C. The roots of this tree go deep
into the ground till they reach
water.

This tree stores. water in its
trunk. Local people use thin
pipe to drink this water.

A, Band D

A, Cand D

B, Cand D

(4) A, B and C
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63. W% geht Yz & J=ht era W oAU Higen

64.

65.

ST &1 78 veft & wehar @

(1) TeReER

(2) et

(3) =tam

(4) R
m@ﬁa%lwﬁaﬁzﬁ%@mw:
& w3 A T & forg wirg § sl @ o
Tremagt @ FEd 3| a8 Wa Fafafa 3
foperaat T 27 _

(1) ¥«

(2) FAEH

(3) Y W

(4) afrg

UWirearh 3’ & ar & vt w9 i
A. T% Y arefemn # umn san R

B. 48 % fooiw wew w0 g B, R
Gr%zzﬁ?ﬁﬁ-gmﬁ gl

C. 79 Ug i o A | 38 TS qF
st €, 99 @ f6 ot o T 9ge
Gﬁ'ql £y

D. 3038 % a1 § ol s B @ @
S iy &M ude 9Rg 1 39
% 30 T A fi7

(1) A, B3D

(2) A, C3MD

(3) B, C3RD

(4) A, B3R C

[ P.T.O.
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66. Select the correct statements about |
Abu Dhabi :

A.
B.

o
e

It is located in desert area.

Water is costlier than petrol in
Abu Dhabi.

C. Arabic is the local language

here.

D. Money used in Abu Dhabi is

called Dinar.
(1) A, Band D
(2) A, Cand D
(3) B, Cand D

(4) A, Band C
7. There are animals that awake at

night. These animals can see things
only in

(1) violet and blue colours
(2) green and yellow colours
(3) black and white colours

(4) red and orange colours
68. Here in Fig. 1, a 24-hour clock is
shown and in Fig. II and Fig. HI,
sleeping times of two animals X and
Y are shown by shaded portions.
Select the correct statement about
the sleeping times of X and Y :

24h

18 h %6 h

12h

Animal X -

Animal Y

Fig. 1

(1)

Fig. 11 Fig. 11
X sleeps for 20 hours while
Y sleeps for 18 hours

(2) X sleeps for 18 hours while Y

sleeps for 4 hours

(3) X sleeps for 4 hours while Y

sleeps for 18 hours

(4) X sleeps for 4 hours while Y }

sleeps for 20 hours

1-L 24

66. ¥ uTeh % fawa § W e g
75 Yirearrt 3o o R

arq a3 e A & wEm R
gt Y o W e 2

o et A g (FR) R AR
gl

A, B3RD

A.
B.
C.
D.

(1)
(2)
&)
(4)

A, C3RD
B, C 3D
A, Blsir C

67. T A Ta § Fa ¥ A TR ® A
RNRA AW, AR

(1) St TR e

(2) &3 dien

(3) aren MR &

(4) @ o gl
68. 3 fyx 11 24 uw A ud fard wh R
an P e R EQ wAEd XY
¥ @) ¥ gwa oEitea wm 4 a8
X gl ¥ F O % g & an 1§ weH
EIEE |

24 Ho IR X
18%%}6% %
12 Ho
faa1 fan fa 1t
(1) X g wo2 an & St y ¥iaTE 0
gt B

(2) X *1oWg T0¢ Hien & SelR v = e
g ?

(3) X =W gue W & wafeh Y H8IE "0
dar ®

(4) X 9R =v2 | ¢ efe v | aee
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* s = 3 a?

A sea whose water is poisonous

(1)

A sea which 1s saltiest of all
oceans and seas

A sea in which high and low
tides are very frequent

(3)

(4) A sea in which it is dangerous to

sail ships

Anjali desires to emphasize on
cultural/regional diversity in food
habits, while teaching the topic on
‘Food’ to Class IIl students. Which
one of the following learning
experiences given to students can
bring about the desired result?

(1) Use a chart showing foods of
different cultures/regions and
explain

(2) Ask students from different
cultures/regions to bring food
from home, display it and share
the information with classmates

(3) Explain the information given
in the textbook about different

foods in greater detail

(4) Request an external profes-
sional cooking agency to display
food of different regions/

cultures

25

69. Td °NR R 37

- 70.

(1) ¥ wrw Rrwen arft sretren a2

(2) T R S ot meEmd w AR A
SoTeT AN B

(3) U arK fed sar-yR 9ga @9 afa
¥ od B

(4) Y@ g e SRS 9EEn WaETes

&rell 8

Ha1 111 & Tt A ‘isw’ = e 1gi
g ofEfd WisH  geERE oneat o
giephas /& ffvua w oy @m T
et ®1 AR R T sfam-sewd
frud g frenfiEt # aifea swEd & S
et RY

(1) faftm &e/wepfaat & st =t wia
el wTé - IqAm I I =mEn
T

2) Rftm =i/l & fefE @
% g0 ° @I WA gl e 3Ime
wefifa e o dewfed @ gasd

&l SA-HSH RiHT

eIy B fafie wewe & wisHr %
f%lwﬁ?ﬂmﬁarmrﬁﬁsﬁtﬁﬁﬁ
TEAT AT

(3)

foreht a1t s s It EETiS
ot W oo W fafim &=
Hepfaal & HINH 1 TR HAT

(4)
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Preeti wants to lay greater emphasis
on  ‘Pollution’ while teaching
environmental concerns to Class V
students. Which one of the following
activities is likely to be most effective
in achieving the desired objective?

(1) Asking students to prepare
charts on different kinds of
pollution

(2) Taking students on -a field visit
to a polluted river

(3) Asking students to take up
group projects related to
different kinds of pollution

(4) Inviting experts to talk on air,
water and noise pollution

Neha uses the following assessment
techniques in the subject of EVS
for Class V :

I.  Hands-on activities assessment
II. Home assignment assessment
III. Project work assessment

IV. Oral testing

Which one of the following pairs of
techniques is likely to be more
objective assessment?

(1) II and I
(2) ITand IV
(3) Il and IV

4) Tand Il

26

71.

72.

Fa vV & Brnfdat & wiaf faraett &
i & ygrd g ffa ‘vemm’ w aftes @@
1 et 31 aifed Ry R 9w FA H
far dm fw w Geead d 8 @9
waffees wanet § vt 27

(1) fenfiat @ fafim wme & wguon %
T SEaTa

(2) TP # Dl wo w A s
Terelt wgfora =t =t fern

(3) fornfhi @ faftm we & wowoll @
Tt o hEsAred W wd s
% for e

(4) Fret ooy = Feife & arg, oo
S AT FEHOr W

T oEW V ¥ EVS fwm d R A

TR R 1 T el ¥
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0. TEwr goared

1. sRaEism1 ® qeaie
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TEIFE qoATRT S |eRdT 87

(1) 1
(2) }I:?'ﬁ'{IV
(3) 1r s v

(4) 1311
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73. A good home assignment in EVS
should primarily focus-on - :

o
e

o % . Y; !
(1) revision and reinforcement
o .

(2) mastery learning

.
challenge and excitement for
extended learning ~ - *

¥ > R
better utilization of time

(3)

(4)

74. Shalini has planned a “field trip for
Class IV students to the Science
Centre. Which _one of the followmg
general instriictions given'to the

students is irrelevant for the trip?

(1),

Ask questions for your doubts
on displays

Carry yoursfull schoolbag for
the day

- (2)

(3) Do ‘not go anysvhe_re without

informing me

(4) Take a notepad and pen with

you

75. Good EVS curriculum. at primary

stage should

(1) include more practice questions
in end exercises

provide oppofhihities to explore
surroundings

(2)

4

focus more on
explanation of concepts

(3) detailed

on' exact

(4)

emphasize more -
definition of terms

1-L 27

73. EVS ¥ Tt ord Tead @ yeua: few
- W EEq g ey

(1) T o secfieor
(2) weed @t
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(4) W a7 wgwE
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(2) G R 1 QU TET AR A
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(4) 39 Ty U 3R RIS A S

75. WUt X Hit A= EVS wzgadi d B
e

(1) 98 & ora ® ARG AW-TH
afmifora &

(2) ST JTE-YE FH WA & AGEL JIH

(3) Twewel i faga =urE W s
T

(4) wal <t gerred aftrrn W efus 7@ <
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76.

77.

78.

Poems and stories have been included

in EVS textbooks for primary stage
in order to

(1) develop

literary
students B

skills  in
(2) provide fun and enjoyment in
learning of the subject'™

(3) enhance understanding of
fundamental concepts

(4) have a change in routine and
monotony of presentation of

content

Four perspective teachers were
asked to make a presentation on the
theme ‘Travel’ to Class V students.
Each of them mainly focussed on
one of the following strategies

(1) Using charts to show different
modes of travel along with
explanation

Using textbook content to
explain different modes of travel

(3) Asking students to collect
pictures of different modes of
travel and prepare a scrapbook

(2)

(4) Asking students to narrate their
own travel experiences using

various modes of travel

Think and Discuss’ section in one
chapter of EVS textbook in Class V
includes the following statement :

“What would happen if you don’t get
petrol or diesel for a week in your
village or town?”

The statement primarly aims at
(1) sensitizing students on using oil
Judiciously

(2) assessing students on sources
of petrol and diesel

(3) promoting imaginative and
thinking skills to understand
real life concerns

(4) creating awareness about
scarcity of petrol and diesel

28
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The- technique p.off¥ ‘Classroom
questioning’ inzteaching OfﬁEVS can
be used best for e o

‘&J K {&-‘ :.5‘57 x,ztg

,,j j3
(1) draku SttEtoR of" students

W TR B UTRBTEET
,(2) *arousmg ~gur, wsz}‘ty An the
'learners
Ty ;‘ﬂ"i_}'

(3) promotmg;;pracncal skﬂis

#IPA

(4) maintainirig -disciplinesin the
class.: = ,;.:?F o

CPBL & LY ¥ RE (8
One of the majorgtobjectives of
teaching of EVS at primary stage is

to

ST

S S £8

-(1) ‘dévelop in=depth understandmg

of basic.concepts;of:-thesubject
§ wehT roE T
prepare students for studies at
_the mextgstage: ferry
wrax i
help the learners link classroom

- learning toyélife sroutside the
school

(2)

-

)

k # "‘ 1; ﬁ TT&S? ;“5-‘{
acqu1re skllls to carry out hands-
- on -activities~independently

Tt

(4)

Which one of the followmg is not a
suitablé’ act1v1ty at pzflmary stage ‘to
sensitize"stidents§to¥the’ concept of
conservation ofrfrees?en <

i g e e s o gy ' oo
Organizing™ T a5 “§logan-writing
competition -onstreest

(1)

‘Encotiragifig’ éveryFstudent to
adopt-astree. andmlook after it

2

(3) Sh<oWing‘"(:hildr"é’ﬁ‘:=sf‘oif agé! of logs
.of wood izt wTRER)

Oiganizing ¥ dF¥lposter-making
competition-onrtrées

(4)

29
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ﬁa;ﬁwm -

(2) m@r Tl éa’aan % firg femmfean
Y AIR AT
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A e ARt wen
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s

1) %&ﬁ tR WITI ﬁ@q (slog m wrltmg)
wlaaifiar a@ﬁam

2)9?&65@13&%@@&16%%{
W@@%WWW%W

(3) " =it Fr T wEl H wwan fer

qﬁmtﬁwaﬁsﬁsﬁiﬁﬁm
mﬁam

[ P.T.O.


http://upscfever.com

A\

82.

84,

1-L

R

/el

While teaching the topic on Water’
in .. her EVS classroom; - Anjali
organizes role-play on different
sources of water and individual
actions to conserve water. The
activity is primarily aimed at

(1) improving~ social' skills of
students -

(2) breaking monotony in the

process of learning

(3) ensuring active participation
of students in the process of
learning

(4) enhancing students’ k@owlédge
on sources of water

EVS curriculum :at primary stage
has been developed to include pure
Science as well as Social Science
concepts. This has been done
primarily to ’

(1) enable a learner‘look at environ-
ment in a holistic manner

(2) reduce the numbér of subjects
to be studied

(3) reduce the load .of: schoolbag

(4) reduce the requirement of
subject teachers

Which one of the followmg will be
more effective learning experience
to emphasize more on social
inequalities in an EVS class?

(1) Showing video films on related
issue

(2) Orgamzmg spemal lectures on
related issue ’

(3) Conducting a quiz contest on
the issue

(4) Asking the  students to
undertake group projects
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While discussing liking and disliking
a student says, “I and my mother
both love to eat, snakes. Whenever
we feel like eatmg snakes, we gotoa
nearby hotel "and éat. L1ng -hu-fen.”
This student must-belong to..

(1) Assam 4

(2) Hong Kong

(3) Odisha

(4) Amnacha1 Pradeshv

Study the following

statements
about Braille script : '

I. Braille is written on a thick
paper by making dots (raised
points).

II. This script is based on eight
points.

III. Rows of dots .are made with a
pointed tool.

IV. It is read by running the fingers
on the raised dots.

- The correct statements are

(1) I, il and IV
2) I, II and IV
(3) 1II, Il and IV

(4) I, Il and III .
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8'7. Select the correct statements from
the following :

88,

A.

D.

Animals that have outside ears
and hair on their body give birth
to the young ones.

Animals that do not have
outside ears and hair on their
body lay eggs. '

Animals that do not have outside
ears and hair on their body give
birth to the young ones.

Animals that have outside ears
and hair on their body lay eggs.

(1) A and C only

(2) B and D only

(3) B and C only

(4) A and B only

Select the correct statements about
beekeeping :

L

II.

M.

Iv.

(1)

(3)

(4)

January to March is the best
time to start beekeeping.

Honeybees are attracted to the
Lichi flowers.

Boxes are needed for keeping
bees and  storing honey
produced by them.

Sugar is purchased to make
syrup for honeybees.

II and III only
I and IV only
II, IIT and IV

I and II only
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89. A student noted down the following |

information in her diary about
her journey from Ahmedabad 'to
Nagarcoil : : -
Station Arrival Departure Distance from
~Time ~* "Time  Gandhidham.
T (in kilometres)
301
2649

Date

10.2.2014 Ahmedabad 11:30 a.m.11:50 a.m.
12.2.2014 Nagarcoil 04:45 a.m.00:00

From the above information, the
following conclusions were drawn :

A. The distance between
Ahmedabad and Nagarcoil is
2348 km.

4
B. The train covers- this distance
in 40 hours 55 minutes.

C. The train covers this distance
in 28 hours 55 minutes.

D. The average speed of the train
is about 80 km per hour.

The correct conclusions are
(1) A, Cand D

(2) A, Band D

(3) A and B only

(4) A and C only

90. Which of the following information

may be obtained from a reserved rail
ticket?

A. Date and time of booking, date
and time of start of journey

B. Coach number, berth nuniber

and fare

C. Name, age and sex of the
passengers

D. Train number with name,
boarding station and last
station :

E. Date and time of arrival at the
destination

(1) A, B and D only
(2) A, B, C and D
(3) A, B, D and E
A, C and E only

1-L
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‘Candidates  should
| questions from the following Part
only if they have opted for
ENGLISH as LANGUAGE—L.

answer

wemef Fraffe wrm % ww %
IW FAA adt § I} I wTT—I
#1 famew AT o 2

PR S

PART—IV : Language—I
' ENGLISH

Directions : Read the given passage and
answer the questions (Q. Nos. 91 'to 99)
that follow by selecting the most appropriate
option.

-

He has reservations on the treatment of
dance in Indian films, but, given a chance
to’ work on his own _terms, legendary
Kathak Dancer Pandit Birju Maharaj would
like to work more in Bollywood. . The
75-year-old tells us, “In my opinion, dance
is adulterated in Bollywood. To make it
more dramatic, the dancers are asked to
perform in an exaggerated “manner. That
makes any kind of dance:impure, especially
classical dance. I'd like to work more in
Hindi films, provided my dance is not
tampered with.”

The Kathak maestro tells us that over the
years he’s been highly impressed with
how. some female actors have showcased
classical dance on screen. On being asked
on how he” sees the passion for dante
among youngsters in the ‘country, Birju
Maharaj says, “I see that the young
generation is divided in their response to
classical dance. But in all my interactions
with  the’ younger lot, I have been
impressed.” “These children have such
amazing, pfesence of mind, listening and
learning while I talk and teach them.” It is
often said that classical dance doesn’t
receive due credit, but the man who is an
authority on the subject thinks Delhi
receives the art well. “I feel that classical
dance might not be on a rise, in popularity,
but I have always been overwhelmed by

the response that I have received in Delhi.

1-L

been
the

My performances have always
applauded by packed houses
Capital,” he opines.

in

91. The information presented  here
about Birju Maharaj can be found

in a/an

(1) newspaper article
(2) diary

(3) encyclopedia

(4) autobiography

92. The observation that ‘dance is

adulterated’ means that the dance
form is *

(1) not practiced
tradition
found in adult entertainment
performed only in films

suitable to be performed by
adults

according to

(2)
(3)
(4)

93. Here,. “to perform in an exaggerated

manner” suggests that performers
(1) are not professionally trained
(2) deliberately distort the dance

form
(3) only dance for a selected
audience
(4) cannot dance
94. A ‘packed house’ during his

performapce suggests that it was
(1) jammed in tightly |

(2) filled into

(3) exceeding allotted time

(4) well-attended

34
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The younger dancers have: presence
of mind’ means: that they

(1) -are open to learning the pure
form of the dance

(2) prefer

traditional ; styles. of
dancing

(3) can combine to. perform\ in the
traditional,and modern styles

(4) are calm while they prepare to
perform

Birju Maharaj’s assessment of his
popularity lies in

(1) the . large numbers i 0f
practitioners gand sadmirers of
his style in "Delhiz~a,

(2) the influence “of * traditional
styles in modern dance

(3) his migrating t6}Mumbai on
g :
popular demand by producers

(4) the number of dances he has
choreographed in films

A word that can replarce ‘the phrase

‘tampered with’ in the passage is

(1) falsified

(2) misrepresented

(3) disturbed

(4) misused

-

An antonym for the

‘showcased’ is

(1) advertised

(2) published '
(3) abridged

(4) withheld

A synonym for the word ‘inspired’
from the text is

(1) adulterated

(2) impressed

(3) received

(4) divided !

word -

Directions

Answer! the foilowmg

questlons (Q. Nos 100 to 114) by selecting
the most appropnate optlon

100.

101.

102.

103.

35
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-(3): 11stenmg to a lecture

g

To evaluate readingccoémprehension
at Class III level students ,may be
asked to "~

(1) retell a story 1n thezr own words
,or to summanze the mam idea
ot the moral of the story

(2) take a short dictation of what
they have read B

(3) write a dlary based on one of
the characters¢ -

(4) use a set of - identified
vocabulary on their own

‘An CXCICISC where words are “‘left

out of a shorter? passage and the
must ' fill “in thef blanks
with ‘stiitAble words based on her

readmg, a’ssesses ‘her ab111ty to
L T

(1) comprehend L s
(2) use new words. .
(3) summarize .
S U TR

(4) spell words
T T T &

>4

Creating or retnevmg what the
student wants to sav and then
generating a suitable text to say it,
are stages.of theys—=.process. -

s o g

(1) listening

IS Y, Y el
(2) writing o e
(3) speaking . ., . .
(4) creative R TPTEr ALY

Use’ of grammar punctuatmn and
spelling pertains to’

(1) -text-production-while Writmg
TR A '

(2) formal speech

4 mformal convéréation
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104.  Read the following exchange :, -~ 107. Types of ‘text media’ are

"Spedker ‘1 Have you béen to Indore?
he AV I

Speaker 2 Who'»’ (1') audio discs and tapes
Speaker I::¢To Indore; 1n Madhya Pradesh.

[ (2) illustrations and <iagrams
? Speaker 2" Umm. 1 am not sure,.

During the assessment of students’ '(3) motion pictures and
' speakmg skllls mark(s) would be documentaries

deducted durmg thxs exchange for

(1) nome of them (4) digital e-books, e-journals

PR TT
(2) the second speaker

(3) both of them 108. Which of the following resources will
AT el . . help 'to :break down communication
() the Vﬁrst;.spl_eaker barriers .and enable children to
study and learn in botti L1 and L2?
105. . ‘A student recommends the readmg
of “the latest ;.best seller; saying (1)
,xthat 1t is - 'very, mterestmg You '
hsten,rtrymg to make out whether
.the students observatlon is sincere {2) Multimedia
or not.” This type “of hstemng can be :
described as . -

. Multilingual |

- (3) More textual
(1) critical - :
(2) c:omprehengfon (4) Communicative

(3) sympathetic

@) active 0 ° F° 109. Students learning a language often

T R R lack confidence when speaking
=1 e due to the language’s unique

106. “Children deserve miost-of the credit ~ pronunciation rules. One way to
for the language that they acquire.” overcome this problem is’

This observation implies that in
modern classrooms ° ] )
o (1) children reading aloud in class
(1) students pursué’théir own lines

of enquiry (2) using game-like activities which
(2) students need not attend ilelquul,'e verbal interactions in
L2 classes the classroom
(3) s}iudents may choose L2 on (3) conducting special  speech
their m:rn“ - ‘ therapy with a counsellor
4 the teacher establishes the .
task 'and supports or facﬂltates (4) correcting errors whenever they
learning, . 5 - ; happen .

1-L 36
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The contemporary target language
classroom is a confluence of varied
languages and language abilities.
Teachers should restructure their
practices by exposing students to

(1) suminaries and simplified
versions of the learning
materials, e.g., stories, grammar
notes, etc.

(2) worksheets with a variety of
tasks which cover the syllabus,
and students give  their
responses in class under
teacher’s guidance

(3) appropriate challenges : based
on the syllabus;, in a secure
environment, opportunities for
all students to explore ideas

and gain mastery

adequate self-explanatory notes,
either prepared by teacher or
from material writers

For students to gain language
skills from textbooks, the textbook
learning should

(1) correlate with assessment and
achievement

(2) lead to wusing the textbook
sparingly

{3) expose them to more literary
reading

(4) become more cost-effective
compared to technologically

supported courses

37

112,

113.

114,

While teaching hearing impaired
students in an inclusive class, it is

. necessary for teachers to

(1) make sure that they are
including signs and nonverbal
signals to strengthen any
-communication

(2) conduct regular a special class

for such students

be in constant touch with the
parents of such students

3)

(4) use cue cards to signal the

teaching content

While translating a subjéct
and using the translation in
the mainstream curriculum, the
benefit is

(1)

promoting national identity

(2) enriching ling'ﬁistic capability
and appreciation

(3) enabling teachers who are not
competent in the mainstream
language to take classes

(4) standardizing cultural identity

Some criteria for the selection of
language items should involve

[

enough worksheets for practice

(1)

and

(2) everyday

sentences

vocabulary

their learnability, coverage and
teachability

(3)

(4) a focus on language rules

| P.T.O.
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Directions : Read the given poem and
answer the questions (Q. Nos. 115 to 120)
that follow by selecting the most appropriate
option.

Sprinkle, squish betweenrmy toes,
The smell of ocean to my nose.

I can feel each grain of sarnd,

It falls from air into my haiid.

The shells I find along the shore,
Picked up by birds that fly and: soar.
They sparkle like:the ocean’s waves,
And carry sand from all the lakes.

I walk

That’s where my feet leave prints to be.
I walk all the way to the end of the land,
The land that holds this beautiful sand.

—Morgan Swain

115. The poem’s central theme is
(1) a factual desc'll'%ptibn of nature
(2) sharing experiences with nature
(3) a recollection of a visit

(4) an introspection by the writer

116. Here,

“to the end of the land” refers
to the '

(1) sealine

(2) land

3} sky

(4) horizon

117. Here, “That’s where my feet leave

prints to be” means that the writer

(1) knows that

everything is
temporary

(2) relives past visits

(3) expects to forget the‘experience

(4) hopes to remember his visit

118. The phrase in the poem that conveys
the same meaning as “along the tip
of the .sea”.is

(1) “each grain of sand”

(2) “end of the land”

(3) “air into my hand”

"(4) “like the ocean’s waves”

119. i The poetic device used in the line

2“They sparkle like the ocean’s
waves” is a/an

{1) hyperbole
R &
2) exaggeration

(3) simile

(4) allegory

120. A word that can replace ‘squish’ is
(1} crush
(2) hold

(3) scrunch

(4} trample
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Candidates should  .answer
questions from the following Part
only if they have opted for

Thenelf Frerfrfaa s & wvA &
IW Faer adt g -7l I WrI—I

HINDI as LANGUAGE—I.” #1 Frwea et g & -
'- qET——IV : aT—I
=i

fAdsr .
f\ammanmaﬁﬁq(noaoglﬁ%)

e $1 S6 emuren (e HEER) ¥ W @
JUER B &, N WY B FATH THEH T H
IR R s 3, R 9 Rama o wmd 2
ol H WA I Fae Sefted i e &
frdwar 21 98 e it 3w A Rre-® wfen
7@ ) Re g ol % Ny @9 # G
v fdm % w7 8§ TR =@ Y 3T T
5 T ag oTad fie 1 siifue s
2 @, W gware # ahfa el Wi,
T ¥ R B F SR N I # R
¥ aftim & Mfm frg 0 T gEed
S @ v F aig 6 Tm @ oo arfaesar
# o o 2 (B wiers 1 aifee 3o e
 fnly 2) Ak 3 o sl @ FRatEEa
F3ft 78 o e % 3 off e ot Rfara w €

o1. foen Y SHF rauron fen w fFa s d
WA HTl &7

(1) Ten =B wfen § @ w@ A
wifra B 2

(2) fvem 3@ % H-37 A when @

(3) fen # Faw ow fawt w Rriga
F ®

(4) Fren § s &1 AF-I B @
1-L

ﬁﬁqmmﬁwmﬁﬁa'

39

92, m%mmmmmﬁf&m
1 T S Tt

(1) e gmaEm @

(2) Rren & 39 @ @R ?
(3) ez qoba: ffara ==t 2
(4) 3 orgwit &

03. @ Tew % IgEn fhen A wlrn wwE

B % for srfar wd ®

(1) Fers 6 sufeafa

(2) R &1 A FHEH B

(3) BT T WA FFER B

(4) o % den % fe sags o

04. Tim % oRER Icfig Hi frmam B

ferewar @=n 87

(1) &mmww%'

(2) Rer ‘I’ % o om A R
(3) et fuers wea Sefie® € R
(4) T st v st
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T W —— W 0 s fmen e R
(1) Fwae sthed -

(2) Iefifeat H gon

(3) farfdrdt zmm 5oa
(4) e o o F T gEEy

R’ wee @ 793 ren 9o @
(1) Forgreht
(2) FrgramETen

(3) forsmg
(4) fgramha

ot wrez & 2t woerelt 1wy gamr 27
(1) arefeshar

(2) FFEmE

(3) fastwan

(4) foramum

A T # ‘o’ wee @ eref @
(1) ¥as

(2) T

(3) =ga

(4) Rega

F e g wwar 117 Ywifea s A
e o6 W= 1 SN R S e 27

(1) wmrforg

(2) whrwfem
(3) erafifea
(4) wfcreaaET

40

fader . v st famew &1 T difm (3o wo
100 ¥ 114) : -

100.

101.

102.

Ferfl, wfaar, Ml i aest F mem 9
T ,

-
(1) e goal T sty &0l &

(2) Faer AU qehwfE &1 Rrerm w1y 8
(3) oo wiEHfoH W A oo &

(4) HIS FANSH I FE B

I ®R W =1 B ww e w6
TR 3w R

(1) gER-lnfagal = 99 9w e

(2) wEHt-sfaett ® WA F FErerEr
F1 g e

(3) ¥ yaiE F WU weX ) @A w
HEAT

(4) I W ol % www frege
F H FIT H R F@T
fo@m

(1) = agg wfee whr 2

(2) T srfad pIwrar €, f ey
e s 2

(3) U Wz it g 2

(4) T g A wipar 2
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ST SieETe 6 9T o SrgaEl H S @
e atmd §)

(1) *R-uRar, g

(2) W-9fEr, g

(3) =-ufEr, et

(4) =R-uf@Er, do o

w T IR D H yremh wug § ugd

IR — F | MR ol —— ¥ R
Al -

(1) 37, ¥

105.

(2) STER-F, FAIEH

(3) W'W, m

(4) AW-TH, R

<

ECTR T Sy
fimwam%‘mq—s“f%?

(1) "=f % IFER AW TR TSt
T T

(2) Tt AN wE K afeafm =
AT FA

(3) s==t Y T hY W I Tt Y T
W R T g 3 e &

(4) Gt 7T St A A et

41

106. TI-RTE & oy N RT-a1 Fod wa'2?

107.

108.

PR L .

(1) ST91 & e m wrafRE 0

(2) W‘Qﬁmﬁﬁmﬁaﬁ T RR A
feram 6t e 2t 2

(3) THT-THITTS UH-TW AT T B

(4) %W % = HITH-HH Q- A
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(1) weF-emfy

() "h-afy

[}

(4) feanfear -

R Te@ Al ww s 21
(1) wfaa S |
@ s

(3) m—qﬁaﬁfﬁxxoﬂé‘shegts)

(4) s

I

T wwemman #

T fr-f s v
& am §, o
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e S
f

(2) SR vt @ dham @t Renhigy
% g erfyamd 2

(3) st i w—m * IR oash
WINT3T & ¥eg, e g1 i 2

(4) I ot awet H e Raw ¥
%’Qlﬂ‘ﬁaﬁf% e N
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A it w7

(4) TSI 3T F1 g Teheer 27

S

114, Wl w1 W a=t ¥ o s %

- FTH 1 Y& IMYR F41 g1 aq1fRe?

(1) B w=rd

(2) v Rwm-awg
(3) -t Rt _ﬁ

(4): TQ-SITH -
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2 ¥ 3 awEt A

3 T I =,

R @t et
ate wfysrq &1 @ i,
7§ 31 9y T

N Hieft T at fg )

115. =faar i afrat & S8R Hiaa s 9a

A @ ?7

(1) < o, wEE oi i &
(2) S e Tt § @Y @ §

(3) St IsTre thetra & '

(4) Nt gugaT S wifd herd @

116. =afFa i gfy Fft B+ =nfea?

(1) S{usR = A areft

(2) T s B AH-AH @ qrAl
(3) eRiar & A

(4) wfosa 1 oFa g A A
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117.

118.

119.

120.
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(1) ﬁmaﬁimﬁam
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A F TE w2 N v

(3) wcrsﬁazm
(4) ot ) ot
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(1) arferft |
(2) T«

(3) ATFR
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ENGLISH as LANGUAGE—ILI.

only if they have opted for
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PART—YV : Language—II
ENGLISH

Directions : Read the given passage and
answer the questions{(Q¢ Nos#121 to 129)
that follow by selecting the most appropriate
option. :

“Get well soon!” Shanta sai_d, handing

Partha a yellow balloon. She was his third |

visitor. That’s because she was his class

teacher’s daughter, and her mother made ‘
her visit him. The other two, Rahul and

Syed, weren't really his friends, although
they often ganged up with him against
other kids to take away their lunch pocket
money. Partha knew he wouldn’t have long
to live. He could feel it, deep inside. Seeing

his aunty crying after talking with the |

doctor confirmed it: His time had come.
He didn’t tell his visitors, though. They
would either pity him, or be happy to get
rid of him.

Once Shanta left, he ripped a page off from
his notebook and wrote—

“Dear God, I know I messed up and nobody
likes me. Please give me a second chance.
I can show you what a good friend I can be.”

He drew a map showing the way fforn the
school to the hospital, walked shakily to
the window, and let the balloon fly away,
carrying his message towards God,

1-L

The balloon was heading straight to
a telephone pole, but a gentle breeze blew
it away just in time. It crossed the park and
disappeared out of view.

The next day, a boy he had never met
before came to visit him. “I find balloon,”
he said. “You are lonely ?”

He just nodded, too startled to talk.

‘1 lonely too. My family come from
Afghanistan and I no speak English good.”
He smiled. “I bring gift to you.” He handed
him a small bag of fruits. “I pray for friend,

and God give me friend.”

Normally, he would have made fun of his
broken English and his long, baggy brown
kurta, but he knew better. He smiled and
offered him the first orange.

121. One student the reader understands
did not really want to meet Partha,
that is

(1} Shanta

(2} Syed
(3) Rahul

(4) the Afghan boy

44
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Partha felt lonely because -—
visited him when he was at the
hospital.

his class teacher

(1)

{2) only Syed and Rahul from his

class

he had no friends at -school,
SO no one

Shanta

A synonym for the word ‘startled’
in the passage is

(1) surprised
(2) stunned

(3) avoided

(4} composed

An antonym for the word ‘shakily’ in
the passage is

(1) unsure
(2) unsteadily
(3) firmly
(4) rickety

45

125. Partha’s feeling of loneliness scon

126.

127.

turned to A

(1)

irritation

(2) sympat'hy

(3) self-pity

(4) anger

Partha would hot go back to school
to meet his schoolmates and
teachers because '

’ [ . P
(1) his parents wanted to change
his school

(2) he did not h-?v_e long to live

(3) he hated his:school ‘as

he had
no. friends :

v
H

(4) his doctors did_not let him
[T e R f

The message in the passage is

(1) -loneiineés is 'meﬁtable

[

(2) about faith in God _

(3) all actions have consequences
. e ' -
wd

(4) friendship is rare

[ P.T.O.
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128. The change: in'.Partha’s attitude is

129.

Directions :

evident when he iH -

(1) accepted the fruits from
a stranger, although he disliked
oranges et

(2) refrained from poking fun at

the Afghan boy and-shared the
fruits

3)

was unmoved even when his
aunt was crying

(4) sent a letter to God written on

a balloon

A phrase that can replace the words
‘ganged up’ is

(1) joined in opposition ..
(2) formed a group

o e o
(3) supported together

(4) became friends
: ©R

Answer the following

questions Q. Nos:*1_39 to .(]‘.4;4) by selecting

: Iy

the most appropriate option.

130../While: - ' ..evaluating students’
responses forv..viat.  reading
comprehension, marks may be
deducted for —— errors.
(1) gramrria‘.rt‘ica;l
(2) syntactical
(3) content
(4) spelling ..

131.

1-L

A text that requires students to scan
in order to understand*and analyze
the writer’s message and purpose
could be

(1) an encyclopedic extract

(2) a newspaper headline

(3) a set of instiuctions to assemble
a device

(4) apoem : -

46

132.

133.

134.

While drafting a notice, students
' may be instructed to use
language.

(1) direct

(2) intrigue

(3) descriptive

(4) elaborate

For evaluating a poster designed as
a part of a competiticn, which of
the following criteria would be the
“most appropriate for the judges?

(1) Relevant content, style and
word limit

(2) Use of quotations, style and
visual appeal

(3) Creativity, relevant content and
visual appeal

(4) Creativity, fonts and visual
appeal £

Learners lack confidence to speak
in the target language in vlass where
the main language of conversation

is the local vernacular. This

challenge can be met by

(1) allowing students to speak
about whatever they can,
irrespective of the grammatical
errors, enhance - their
vocabulary and gradually make
corrections

(2) allowing students to watch

English films as miotivation,

practice a drill consisting
of useful sentences and
vocabulary’ with ©  regular

correction of grammatical errors
insisting on students’ using only
the target language irrespective
of the grammatical €I7orSs,
enhance their vocabulary, with
regular feedback on their
performance
instructing them
slowly and self-correct
grammatical errors, enhance
their vocabulary with a list of
useful words

(3)

(4) tc speak
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In order to drive home the point
that listening skills matter, students
should be

(1) exposed to popular English
films and reviewing them

(2) taken to the language lab once
a week for practice and feedback

(3) allowed to listen to CD’s of
poetry read aloud by well-
known voice-artistes

(4) reminded that listening-skill

practices relate to real life
Learning a new language after
puberty leads to —— of a foreign
language. ’
(1) difficulty in acquisition
(2) norrnal acquisition
(3) greater mastery
(4) loss of mastery
An activity that requires a class to
design and present a PowerPoint
on the importance of water
conservation in a target language is
a —— activity.
(1) multidisciplinary
(2) science project
(3) group
(4) language practice

47

138.

139.

140.

To enable students to distinguish
between academic and spoken forms
of a target language in a bilingual
class, they should be encouraged to

(1) speak in the target language

(2) read more books' written in the

target language
(3) write more .in the
language

target

(4) watch more related bilingual
films

Providing learning support to
pupils who lag far. behind their
counterparts in school performance
includes o

(1) giving more activities for
language practice

(2) providing extra notes and
coaching

(3) allowing them to comple,té

assignments without time limits

(4) initially - adapting s¢hool
curricula and teaching
strategies -

Enriching the curriculum for

learners who are gifted and talented

(1) give them leadership.roles in
class activities

(2) increase . .complexity of
curriculum for them to
experience a wider variety of
language and opportunities for
creativity o

(3) promote them to a higher class
so 'that they are exposed to
a more difficult syllabus

(4) introduce a foreign language

[ P.T.O.
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Identify the false assumption.

Language course-books prescribed
for students should provide

(1) detailed lesson-plans for
teachers

(2) suggested sequence of teaching
procedures

(3) balanced presentation of
information

(4) organized wunits of learning
experiences

Students who do not have the
opportunities to wuse the target
language outside the classroom,
demonstrate much lower levels of
language competency. This can be
overcome by .

(1) conducting tests periodically to

motivate them to learn

giving them a set of commonly
used sentences and vocabulary
which they are expected to use

setting separate tasks which
are easier, with more time to
cornplete them

engaging them in specific
language-focused tasks which
are indirectly monitored by their
group leaders .

(2)
(3)

(4)

A foreign/non-mother tongue

language teacher often faces the

problem of a class full of reluctant,

unmotivated learners. This can be

helped by

(1) using methods and strategies
to motivate and make learning
more challenging in the class

taking the help of an academic
counsellor who will address the
class

(3) identifying the students who
are ‘unmotivated’ and taking
a special class for them

encouraging learners to take
their own time to complete
assignments :

(2)

(4)

48

144. Language learners learn to do by
doing. Which activity supports this
observation?

(1) Opportunities to practice as it
helps with habit formation
Encourage the use of their
mother tongue to promote
better understanding of the
meaning of a prescribed text

Go from concrete to abstract
texts

The teacher models
writing and speaking
which learners copy

(2)

(3)

(4) the

styles

Directions : Read the given passage and
answer the questions (Q. Nos. 145 to 150)
that follow by selecting the most appropriate
option.

Our consumption of palm oil is rocketing :
Commitments from various governments to
increase the amount of biofuels being sold
are pushing this rise in demand, because
they’re seen as an attractive quick fix to
reduge greenhouse gas emissions. India
wanted 20 percent of its diesel to be bio-
diesel by 2012. The irony is that these
attempts to reduce the impact of climate
change could actually make things worse—
clearing forests and draining and burning
‘peatlands’ to grow palm oil which releases
more carbon emissions than burning fossil
fuels. But this phenomenal growth of the
palm oil industry spells disaster for local
communities, biodiversity, and climate
change as palm plantations encroach
further and further into forested areas
where the emission of greenhouse gases is
largely due to deforestation. For example,
much of the current and predicted oil
palm expansion is taking place on forested
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‘peatlands’. Peat locks up huge amounts of
carbon, so clearing ‘peatlands’ Gy draining
and burmng leleases huge greenhouse
gases. The Roundtable on Sustamable
Palm Oil (RSPO) had established . clear
ethical and ecological
producing palm oil.

standards for

But since then, forest destruction has
continued unabated.

145. The passage is about the impact of
—— on the environment.

(1) destruction of peatlands
(2) . palm oil indusg'ies
(3) drilling for diesel fuel
(4) loss of communities(
146. Peatlands are natural
(1) means to suppress carbon
emissions
(2) causes of environmental
destruction
(3) sources of biofuels when burnt
(4) sources of diesel
147. The phrase in the passage which
means ‘speedy remedy’ is
(1) phenomenal growth
(2) quick fix
(3) current and predicted
(4) draining and Buming
1-L 49

148. The synonym of the word ‘irony’ is

149.

150.

"The RSPO ‘was' convened to -

(1) fespect “*~

(2) reality S

(3) praise

(4) paradox

- N . e :
Aol

_r_ $ PR

LA

b g [Rad - \
(1) control destructive practices in
palm oil production’

(2) control the burning of peatlands
(3) reha.bilitate lo::al communities

e

(4) force the closui'e :of, palm oil
industries

The passage suggests that RSPO’s
efforts to carry out its responsibility
has been - '“;T*-

| € TP
(1) mostly sucgessfglilaﬁﬁ,F

(2) mostly a fdilire 1 F¥ -~ *
P Wi
(3)-* No informationdini®the passage
E . RS

(4) partly successful-

[ P.T.O.
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Candidates should answer
questions from the following Part
only if they have opted for

HINDI as LANGUAGE—II.

whenelf Feaffas o & T &
N Fad aWt g afe I w—i
#1 fawey 134 gr &

TM—V

aT—II

=

Ay . = g W wwiv F www g tE
fawes &1 == AT (Jo do 121 ¥ 128) -

e # wgd SiuwR 2 3R SivErR R @ Wiy swpw
3 T B 1 o A W ivmER B SHER W A
& 3 T 37 fim S o o v ok
arhien off, a8 FEA: & B W 1 & afvwn
W Sl F a7 F g a9 99w §)
@ WIS K = A iy R sy R 3k
T &R M s I A ¥ @
B &1 7® T @ 6 St =R o o wf gw o |
T wa R, 9 Bt ¥ o iy i g T
Tl 21 Forg $5© @ 3iweR & wiwR ¥ T3 ¥
fore 3w Sttt # o S €)1 I SfiE siumn
& g #1 @ gaq swwEw @ s 2

121. 7w # ‘Iduwn’ e fhg IR G¥d Far
27
(1), wﬁaﬁt
) W@Rmﬁaﬁﬁaﬁt
(3) mmﬁaﬁraﬂz
(4) Th'H 3w

122. @S 3 f5Y-H9 91 U e 27

- (1) werrer 9 < aftor amresien
(2) wIEEH . W99 T
(3) IHUFR FI TwR T HE

(4) TYFT A ShHT F A
1-L

123. ¥9 =affd @d & i frg ™ =m, Wy
%msnam?‘s’fma}

(1) 3@ g@d & uiy earena,‘:rﬁw Eo)
s firerar ®

(2) 98 FIA Y WA IFART F@w B
(3) &R wifq =1 " a1 @ar R
(4) 9% ¥ F AR T v

‘Stumr #1 oy’ fFa ik Gk w5t 27

(1) =, i, gusEt W wE % R
T FE

124.

(2) W< ¥ B AUFR H TFWE F Teo
LEii

(3) WAN F JUFR ¥ Yo W F forg
FRENIC R

(4) & w6 wme d sen, ww,
guzar 7t &
125. T TN F T R &
(1) SAuHR A THIe H =EEn FE@T

(2) 3= IR g W T FE F R
I we

(3) Te-atE Wit it Rfwad T
(4) 919 3R qua - e w5
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(1) 3T, YE3Ta

(2) dard, s

(3) AERH, TARIE

(4) =rFumE, FHE

g7 # wga owwr ¥ Ywifea ofw #
FH-TT FH 87

(1) IMIEH HRH

(2) AR HTH

(3) T FH

(4) WHEH FRH

NG 5 I e e
21 =g ¥ P &

(1) @

(2) =

(3) 2

(4) ¥R

51

fAdwr . W@H@ﬁmwmﬁﬁq (Wo To
129 ¥ 143) :

129, mﬁwﬁ&m‘ﬁmww

130.

131.

— & oft wifw, wiifs s wm & @
F= 1 Al gad yge SR @ 21

(1) 3sh

(2) #gwT
(3) weI H ww

(4) &R

'ai-n . o,

T 6t g - ER‘ET ﬁﬁfm sreaTa

ﬁﬁﬁiﬂ%ﬁaﬁm@# TT(“RTg'ﬁ:ﬁgﬁ
3R =T aqgwa-w ¥ qEEE H

=it H ‘mﬁnzﬁ JECge—— Y -
& difa w1

ﬁﬁaﬁfawammﬁaﬁz%aﬁ
ﬁa&ﬁaﬁwﬁw W & T

el 1 TE-ud HeH FH ¥ o
- 7Eg Fd-& 6 A T @ s

(1)

(2)

(3)
(4)

=t s & waa tiwe w1 valfes sha

(1) & vzg R {75 i oF

(2) ﬁﬁma@aﬁaﬁm fora 3
qafaaﬁmém

(3) aﬁ%mﬁmw-w —
4y =it & s A e

[ P.T.O.
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arr-wenet - weRla wmft Yaw aw
T B It § § -

(1) == = wen-frew fRem & 3@
I 7 dar

(2) 38 = Hosfada: w18 o T
fram

(3) & Wt W - &I 7 @
(4) I W AA-IA TEA §

S & ITER W= F I wnw dey
AT S Bt R1 ot el ww Y
m‘mﬁa’aﬁﬁ

(1) %&uﬂmaﬁﬁ%v&mmﬁﬁ%ﬁ

(2) = % e wwgn R wnd arfe 3
Jf §9 FHar F WA ¥ St W
e w%

 (3) WA IR A e i wRew @

TR W, 3 W SHEEE 9F 1 e
(4) T +ft 7 TR HY rEvaEar 7w 2

Preferfen & @ W-an Frm ve dad 3§
yiwra et T

(1) =& ghfttm =1 &% = % fug
HEH 37 W e e e

(2) el W HEUEEE Ted ¥ fre sk

U

(3) Wuﬁ-wmngﬁraﬁaaﬁm
Y HEAT

(4) fm, wd oik of st & s w
A T FCYGT F QT 2
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FEAT
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(2) 3w s SR IR TR FEATd
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4.

5.

6.

10.

11.

12.

R

| FAL anm FuLLOWING INSTRUCTIONS CAREFULLY :

Out of the four alternatives for each
question, only one circle for the correct
answer is to be darkened completely with
Blue/Black Ballpoint Pen on Side-2 of the
OMR Answer Sheet. The answer once
marked is not liable to be changed.

The candidates should ensure that the
Answer Sheet is not folded. Do not make any
stray marks on the Answer Sheet. Do not
write your Roll No. anywhere else except in
the specified space in the Answer Sheet.
Handle the Test Booklet and Answer Sheet
with care, as under no circumstances {except
for discrepancy in Test Booklet Code or
Number and Answer Sheet Code or Number),
another set will be provided.

The candidates will write the correct Test
Booklet Code and Number as given in the
Test Booklet/Answer Sheet in the
Attendance Sheet.

Candidates are .not allowed to carry any
textual material, printed or written, bits of
papers, pager, mobile phone, electronic
device or any other material except the Admit
Card inside the Examination Hall/Room.
Each candidate must show on demand
his/her Admit Card to the Invigilator..

No candidate, without special permission of
the Superintendent or Invigilator, should
leave his/her seat. ,
The candidates should not Jleave - the
Examination Hall without handing over their
Answer Sheet to the Invigilator on duty and
sign the Attendance Sheet twice. Cases
where a candidate has not signed the
Attendance Sheet, a second time will be
deemed not to have handed over the Answer
Sheet and dealt with as an unfair means

* case. The candidates are also required to

put their left-hand THUMB impression in
the space provided in the Attendance
Sheet. .

Use of FElectronic/Manual ~Calculator is
prohibited.

The candidates are governed by all Rules and
Regulations of the Board with regard to their
conduct in the Examination Hall. All cases of
unfair means will be dealt with as per Rules
and Regulations of the Board.

No part of the Test Booklet and Answer Sheet
shall be detached under any circumstances.
On completion of the ‘test, ‘the candidate
must hand over the Answer Sheet to the
Invigilator in the Room/Hall. The
candidates are allowed to take away this
Test Booklet with them.

FreaferRea fdw e A o)

1.

10.

11,

12.
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Do not open this Test Booklet until you are asked to do so.

AK14Il

‘est Booklet No.

vilten gierst dem

PAPER—II : MAIN TEST BOOKLET

|ST-uE——11 : g udtern gitrer

Test Booklet Code
Tiien giwreT doha

3 wlign gfsm A a9 9% F @t 9 9% HE F Sy

Read carefully the Instructions on the Back Cover of this Test Booklet.

@ vl gf & fod smaw w Ry e fEel /) am @ @)

1,

6.

10.

Instructions for Candidates :

The OMR Answer Sheet is inside this Test Booklet. When
you are directed to open the Tesf*Booklet, take out the
Answer Sheet and fill in the particulars on Side-1 and
Bide-2 carefully with blue/black ballpoint pen only.

The test is of 22 hours duration and consists of
150 questions. There is no negative marking.

Use Blue/Black Ballpoint Pen only for writing
particulars on this page/marking responses in the
Answer Sheet.

. The CODE for this Booklet is M. Make sure that the

CODE printed on Side-2 of the Answer Sheet is the same
as that on this Booklet. Also ensure that your Test
Booklet No. and Answer Sheet No. are the same. In case
of discrepancy, the candidate should immediately report
the matter to the Invigilator for replacement of both the
Test Booklet and the Answer Sheet.

This Test Booklet has Five Parts—I, 11, [II, IV and V,
consisting of 150 Objective Type Questions and each
carrying 1 mark :

Part-l :Child Development and Pedagogy ({Q. Nos. 1-30)
Part-1I :Mathematics and Science
Part-1Il : Social Studies/Social Science
Part-IV : Language-I (English/Hindi}
Part-V :Language-Il {English/Hindi)

(Q. Nos. 31-90}

(Q. Nos. 31-90)
{Q. Nos. 91-120)
(Q. Nos. 121-150)

{Candidates have to do Question Nos. 31 to 90 EITHER
from Part-Il (Mathematics and Science) OR from Part-1il
(Social Studies/Social Science).

Part-IV contains 30 questions for Language-1 and Part-V
contains 30 questions for Language-ll. In this Test
Booklet, only questions pertaining to English and Hindi
Language have been given. In case the language(s) you
have opted for as Language-1 and/or Language-II is a
language other than English or Hindi, please ask for a
Test Booklet that contains questions on that

Language. The languages being answered must tally
with the languages opted for in your Application Form.

Candidates are required to attempt questions in
Part-V (Language-II} in a language other than the one
chosen as Language-I (in Part-IV) from the Hst of

1anguages.

Rough work should be done only in the space provided in
the Test Booklet for the same.

The answers are to be recorded on the OMR Answer
Sheet only. Mark your responses carefully. No whitener
is allowed for changing answers.

giterfefat & fere fAdsr:
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<A {1 (m—w)ﬁg#}n;}imt}fﬁaz’n ¥

g:miwﬁmgfﬁmﬁmmé:%qané@mmmﬁ

Wl I FAE OMR IW-TF W A sifym w A 3w

Name of the Candidate (in Capitals) :

.

EarE R | I et 3 A G i BRg 2

ahieneft 51 A (I 1A )

Roll Number {in figures) :
S CELicH

Centre of Examination (in Capitals) :

qiEn % (I3 e §)

(3it &)

(in words) :

(wisst )

Candidate’s Signature :
wliemeff 3 geeR

Facsimile signature stamp of Centre Superintendent

Invigilator's Signature :

e & granan



http://upscfever.com

PART—I / wrt—I
CHILD DEVELOPMENT AND PEDAGOGY | ae frere aiR e -wme

Directions : Answer the following questions
by selecting the most appropriate option.

1. Which of the following figures correctly

2.

represents the development according
to Piaget’s developmental theory?

8 \JﬂL ‘2’;:[___
Age Age

3) “‘ \ (4): /
Age Age

A teacher found that a student is facing
difficulty in drawing a square. He/She
assumes that this student would also
find it difficult to draw a diamond.
He/She applies which of the following
principles 1o arrive at his/her
assumption?

(1) Development tends to follow an
orderly sequence

(2) Development is saltatory
(3) Development is gradual

(4) Development is different for

different people

. Which one of the following statements

is true regarding the role of heredity
and environment in human
development?

(1) The role of environment is almost
fixed, whereas the impact of
heredity can be altered

(2) The theories based on the
‘behaviourism’ are largely based on
the role of ‘nature’ in human
development

(3) The relative effects of heredity and
environment vary in different areas
of development

(4) The policy of compensatory
discrimination of the Government
of India is based on the role of
‘hature’ in human development

fdor - Geffen Tt ¥ sw W % R @R
3frm farerea Tl |
L R & R R % dge-d

AR 3 3 Fe-w e e w1
®q A WE wal &7 '

M E_ﬂm_ @ E[___

ka2 3'"’3..
@ &\ *) E/
T s

2. UH sy faveti 3w f freneff =i

a7 3 FOE oEE W ¥ SEA I
mrn f6 98 R (diamond) & fm T d
0 HTE e won| I feafatea d @
firg Rrgr R STTRE B I8 A T

(1)ﬁm@mﬁamﬁ%ﬁ?{ﬁ9§ﬁté
s ¢

(2) fyara 6 W T Seitad- v #
(3) Fr Pl gt @A R

(4) re- 37erT St ¥ for faera Y whea oft
T - 3T Bl 8 :

. e frre # st v R A i

gs?mﬁﬁﬁq%f@a'ﬁéaih-mmagﬁa

(1) vidwm # ufem wom fEed wd R
;raﬁmaaﬁmaﬂmrauﬁaﬁaém

(2) :w‘mtara’ ¥ Rrera o wwda foewa
vfi’ i sifiree W amaTia &

3) e ¥ ffm & i angafieRal @
afaw w1 qrfdE T uRadafe @

(@) w@ w&R & foews gAfarqEaRd
(compensatory discrimination)
gt Ay awd feew § wld R
WfeRT W 3T 2 d
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6. Which® of the

Prever,”

4... In the. context of socialization, schools

often have a hidden cumculum which
consists of

(1) forcible learning,
behaving in particular ways by
imitating peers and teachers

(2) the informal cues about social roles
presented in schools
interaction and materials

(3) negotlatmg and resisting sociali-
zation "of students through their
families . .

(4) teaching and assessment of values
x and -attitudes

S. Which of the following implications
cannot be derived from Piaget’s theory
of cognitive development?

(1) Sensitivity to. chlldrens readiness
to learn

(2) Acceptance of individual differences
(3) Discovery learmng

(4) Need of verbal teachmg

H

following is a
characteristic of Kohlberg’s stages of
moral development?

(1) Variable sequence of stages

(2) Stages are isolated responses and
not general pattern

(3) Universal sequences of
across all cultures

stages

(4) Stages proceed in a non-hierarchic
manner

7. Teachers and students draw on one

another’s expertise while working on |

complex _‘prOJECtS related to real world
problems in —— classroom.

(1) traditional
(2) constructivist
(3) teacher-centric

(4) social-constructivist

2-M

tﬁinking and

through

[}

4. gusfiem & g § frmewt & e v, v

w=od waTaal femw wdt 2, R Bl §

(1) seneaes otitpm, faaw g gosrell weft w@
aqwmﬁaﬁﬁmﬁrﬁqszﬁ I
S FTel ATER

(2) sFa:frm 3 weplt g freredt § s
s @ s et @ weg
- IR @A
(3) ufErl ¥ meqy @ frenfiEl % gughangt
(negotiating) d SfeRieneT® Qursiioor
(4) et 3 gl s fem @ s

5. fafifRes & @ Fw-w fifwd o &

Wm%ﬁmzi'«rﬁﬁaﬂmm

(1)a%'=ﬁ #$ :ﬂf\wmrn% T ¥ uR
agufietal

(2) Fafms ¥t 6 Sl
(3) @iyl srftemy
(4) wlsim Moo & smavasa

6. ﬁmf‘aﬁgaﬂfzaﬁ'a-maﬁmﬁa;mm

& T AT T 27
(1) =wh # ofedsia sy

(2) Rfira s srem-stem %i%
= wfamm =

(3) oft dwpfEt @ weg nuﬁﬁmcfaﬂq
JEen

(4) Fhm = & - w4 et &
A g § '

7. — =@ 1 awafys wioiem geemed

T wia it W wH wE g s

gwwiﬁﬁsaﬁwﬁ%wwwﬁ$ﬁmﬁ

(1) ureafs
(2) WAwAS (Constructivist)
(3) reAE-FZa

{4) -

[ P.T.O.
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8.

ho4

Aty

In the context of progr_ezésive education,
the term ‘equal educational

_opportunity’ implies that all students

L@

10.

11.

should

T

(1) receive equal education irrespective
of their caste, creed, colour, region
and religion

(2): be allowed to prove their capability

after receiving an equal education

be provided an education by using
the same methods and materials
without any distinction.

(4} be provided an education which is
most appropriate to them and their
future life at work

_in the context of language develop-

ment, which of the following areas was
underestimated by Piaget?

(1) Heredity

(2) Social interaction

(3) Egocentric speech

4) Active construction by the child

An eleven-year-old child’s score on
Stanford-Binet Intelligence Scale is
130. By assuming p =100 and 6 =15in
a normal probability curve, calculate
the percentage of 11-year-old children
this child has scored better than.

(1) 98%
(2) 88%
(3) 78%
4) 80%
Which of the following observations

supports Howard Gardner’s theory of
multiple intelligences?

. (1) Damage to one¢ part of the brain

)

affects only a particular ability
sparing others

Intelligence is an interaction of
analytical, creative and practical
intelligences

(3)

chical in nature

Teachers should follow one specific
theory of educational innovation at
the time of designing instruction

(4)

2-M

Different intelligences are hierar- |

8.

10.

11.

yferefrer fave 3 wead # e e s @

(1) St oft wnfa, o, T, &4 ol % 2d T
oft g fien T & |
(2) @ fe a'F w7 A gt A fre

FTWUAD

(3) forn freht 9= & WR gt 4 g |
e ww R

et fre g < T A TS § A
<7 Wi ¥ w1 o agE d

(4)

s % wd # Pt @ #R-m

&7 Fam ¥ g SAa 3w
(1) SrgafTehdm

(2) wfes =a:Tw

(3) E-Ff=a W _

(4) Feremefi SR WishaTeR T

- F
ek

o -t w3 Reed-Ra ghe A
130 3i® q| 9 S B T wee wee
am A p=100a o =15%, A 3 TRg-ai
?ﬂﬁi%gﬁsﬁ_ﬁwmﬁﬁq%ﬁwa@ﬁ
gt 3t W R
(1) 98%
(2) 88%
(3) 78%
(4) 80%

Srfafae # @ Pe-w Hgu gad TR &
aglu-gfs frerma o @l W 27

(1) o ¥ s um ¥ g afa S el o
gmmammﬁ 3% wopof

(2) afe Fredwones, GRS TH g
gfeat A ewfr B
(3) T il oo TR H TIgHHTOT @

(4) ¥R ¥ Ty w Fwiw W} T
sea el o fafin e e
¥ frgra ®1 SEUEE ST AR
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13.

14.

1S.
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Which one of the following statements
is true about ability and - ability
grouping? o

(1) Students learn better in homo- ‘

geneous groups

(2) For smooth and effective teaching,
. class should be. homogeneous

(3) Children are intolerant and do not
7 accept d1fferences

(4) Teachers " may use’™* multilevel

teaching to cater to different ability

groups
Which one of the foﬁowing statements
is true?

(1). The formative: assessment can

sometimes be, summative assess- |

ment and vice versa
(2) The summative assessment implies

that assessment is a continuous ‘

and integral part of learning

(3) The major objective of the formative
assessment’ is to grade the
achievement of students

{(4) The formative assessment summa-

rizes the development of learners

during a time interval

A teacher asks his/her students to

draw a-concept map to reflect their

comprehension of a topic. He/She is

(1) jogging the memory of the students |

(2) conducting formative assessment

(3) testing the ability of the students to
summarize the main points

(4) trying to develop rubrics to
evaluate the achlevement of the
students 5 .

Whlch one of the following fepresents

the domain ‘evaluating’ in the Bloom’s

revised taxonomy?

(1) Creating a graph or chart using the
data .

(2) Judging the logical consistency of a
solution

(3) Evaluating the pertmence of the
data provided

(4) Formulating a new way
categorizing objects

for

2-M

12.

13.

14,

15'

A F Aweren wyden-& e §-fiafafa

¥ A FH-T w27

(1) foremefl qu-wgl # Seat dient

(2) sy T gwEl fiaor ¥g Fan B awed
{homogeneous) g1 H1fey

(3) o1 Imiesy € & F W F wHer T
T

(4) T S ar @t @ 1w w3 & fag

mmaﬁagﬁﬂaﬁrmaﬁm
nfee -

ﬁtx%ﬁaaﬁﬁaﬁw-mww%?

(1) TR e Hi-wft FET &
geraT 3 T g R fudaa: A
(2) TereHTeH Mo @ aifvar § e e
it @ u et 9 afirs e d
(3) TEATHE TTReH W gET 339 ¢ farnfat

1 Syt &1 Sofiao 5
(4) AT RReH wRg-and qi frarfiat &
f%mammw-mﬁ-

ThH am/wmﬁ?ﬂ franfeiat = et faw
et et B iifafEa w9 g
Wﬂ"ﬁiﬁ aARE (concept map) &1 Fmio
F ) hEd1/FEd 31 T@

(1) ﬁmﬁiﬁfﬁ@{ﬁaﬁmimﬂﬁﬁtﬂwﬁa
EREETRGIR K

(2) TS IThe FE/E R

(3) ot i g=x forgetl @1 gw fora A ewan
o e W@/

(4) Bt fit IvAly F iR g Tl
(rubrics) ¥ faem@ w1 var w ®@/@.2

Prefafan § 3 dw =@ % R

Ffigwn § ‘Geair’ (evaluating) & &3 &

Wﬁiam%?

(1) IfHel =1 TW FW gL W (graph)
319a1 IR (chart) =7 fmion st

(2) h wuuE f afbs gETaar w1 e
AT

(3) e TS i TWlwaT H1 Hediw HET

{4) TgeTt % Avileor G T T TS H
fomto T

[ P.T.O.
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16. Teachers must believe in which of the

(2)

17.

i8.

19.

following values in the context of
dealing with disadvantaged learners?

(1) Personal accountab1hty
students’ success

for

High expectations of appropriate
. behaviour

3)

No demands of any sort on the
student

(4) For immediate of

compliance

students, use of being shocked and |

angry

Stuttering problems in students can be |

dealt by applying Wthh of the following
methods? s

(1) Dictated speech

(2) Prolonged speech -
(3) Pragmatic-speech *
{4) Protracted speééh

In the context of. learning-disabled
children, providing immediate connec-
tions, stressing- collaboration: and
leveragmg non- learmng technolog1es

such as instant messaging, mtelhgent ]

search and content management are
associated with which of the following
designs?

(1) Embedded learning

(2) Interventionist learning

{3) -Reply to remediation

(4) Universal design for learning

An inclusive classroom is'that where

(1) assessments are repeated till the
time every learner -achieves
minimum grades ks

(2) teachers teach” " from only |

prescribed books to lessen the
burden of the students

there is an active involvement of
children in solving. as many
problems as possible

(3)

(4) teachers create diverse and
meaningful:- learning experiences

for every learner '

16.

17.

418,

| AT,

19.

ghm el % iy e+ F el |
st v & Fefafea get § @
fared favama s o afge?

(1) B A wwermr ¥g SR IR

(2) wgfaa sgaEn it 3= U

(3) foreneff & Reeft pm 0 i 7 B

4) et 3w ek ST

(shocked) T ®Y %1 T

P & 2 fre Taf W T A
AN (stuttering) A wwen ¥ fwa w0
e 37 ‘

(1) 39%a 9% (Dictated speech)

(2) waféd &% (Prolonged speech)
(3) wftrmer @/ (Pragmatic speech)
(4) wfesa amg (Protracted speech)

di@d 3§ sre (disabled) a=t ¥ it 7
TR TGl Y G, TEAT WSS <1 ag
-sftrarens diehl,  SH deR
Tréﬁwn qo gl yeee,
#1 oM (leveraging) frfafiga & @ %H
Y A W 87

(1) +mf¥ W\'& (Embedded learning)
(2) Teadd sl

(3) TS e

(4) wAftrm =1 wrEifE TR

U guay-FHen 98 % agr

(1) xﬁwmaﬁtﬁu’aﬁﬁ?ﬁ@ﬁ%aﬁ
% TEAE AfrmEal =an Svft s 9w
a '

it # wr w1 FQ & R e
herel IgAeE gl @ & wegr 8 ‘

et & siftefus gmena w0 A
wa%mﬁgﬁﬁ'a%ﬁﬁzﬁawﬁarﬁm
Tt

e YAF frmwal & foy Aol
amﬁmﬂfﬁmarqa;agwﬁ%@qﬁ%mw
frfn e .~

(2}

(3)
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Which one of the following is an |

. appropriate assignment for a gifted

2-M

. Problem solving

student?

(1) Many more exercises of the same
type in comparison to other
students

Asking him/her to tutor the peers
to channelize the energy-and keep
him/her busy

Create a prototype of a new Science
book based on different themes
Letting him/her finish the textbook

on his/her own before the entire
class

(2)

(3)

(4)

. Many measures have been taken at

institutional level to check the dropout
cases in the schools run by government

agencies. Which of the -following is |

an institutional reason for children

dropping out of these schools?

(1) There is a lack of infrastructure,
such as blackboards and toilets

(2) Teachers are . not having
appropriate qualifications and are
paid lesser salaries

(3} Teachers have not been sensitized
about the need of treating children

well
{4) There is no alternative curriculum
for children who reject the

compulsory curriculum offered

. Learning disabilities are

(1)

(2)
(3)

objective facts and culture has no
role in determining them

synonymous with dyslexia
also present in children with
average or above average IQ

not immutable irrespective of time
and nature of interventions

(4)

is more likely to
succeed in schools where

(1) a flexible curriculum is in place

(2) homogeneous groups of students
are present in the classes

(3) the emphasis is only on higher
order academic achievement

(4) teacher-centric pedagogy is in
effect

20. mfafes # @

21.

22.

23.

BA-W.  Teawd

(assignment) wlimmelt faeneff & R

I 87

(1) = foenfefa it gon & awm Fam % weg
IeFa Afies st

(2) 30 T wawEh WAl Fi s 9
% fau wen aifs sh wfea = Rwm
i o qut 98 == W

(3) fafm fawal (themes) 1. em i W@ g
fovm w7 rentas.gww w1 i
FAT

(4) wPqul e i e IV JATN TIAGETH B
3itw THTE F@ W

%mx@sﬁmﬁﬁmﬁiﬁ%ﬁmmﬁ@é
wH geH g e F W w Afw s
e o & Fefifed § ¥ #H-wm wrw
mmfwwﬁﬁa%ﬁvsma‘%ﬁam
g 3] ¥?

(1) faem & wmuz o sieoma S
ST Yanedt 1 e B

(2) HvaaRl F1 GgUgE AT G0 9 B
TN 378 A A

(3) =t @ weht-wifa =aen w0 it svavawa
%ﬁmﬁrﬁéﬁwﬁa#‘@m

(4) <t 7= srfard grgEert @ wfer T8 =
ure e forn fasreuteres yrggeat 1 T g

Frferm - 3rgmaTd

(1) sgue qwa § qu wesfy B o w0
(2) UST-31ea & qaiy §

(3) wmry an 36w At gig-csurs A st
7 oft ard et &

(4) W98 9 T@AY F TET H I R ge of
SufEdefte 78 it

TET- A I3 39 foemert § wwer 8, w@t
(1) ofedaefie/a<dich ot 2
(2) wenaft A BE H H-TGHFT JUTRY B

(3) Faw Ity Pw @y W § S
faa < 2

(4) sreaTae-hisa Rear-wre woreht 2

[ P.T.O.
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26.
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Cognitive apprenticeships
instructional conversations

and

(1) conceive
activity

learning as a social

(2) are based on application of
inductive reasoning

{3) emphasize on systematic organiza-
tion of textual material

(4) highlight the " need of practical
training to achieve efficiency

Which of the following should be a right
way for a .teacher who intends to
correct errors of his/her students?

(1) He/She must correct every error of
his/her students even if it requires
late sitting in the school

(2) He/She should correct  less-
frequent errors more often than
high-frequent and generality errors

(3) He/She should correct errors that
interfere with the general meaning
and understandability

(4) He/She should not correct errors if
it irritates childrsn

The following skills .are involved in

emotional intelligence, except

(1) awareness of emotions

{2) management of emotions

(3) criticism of emotions

(4) amicable relation with class fellows

25.@&%/%@:&%@:@&@3@% j

24. G S qu Hfw A

(1) s % & sl RRR S w3
TR LA &

(2) rHmeTE affEm & egmm W
i &

(3) wrgzEnelt % goraftra 4 w w23 §

(4) Foea B W ¥G =reaRs ey 6@
AEEFAM RIA}NE

B =2 - F)

YUR T =gt /andt 8; 3wk e Aefafiea
A FN-a1 gy anf 27

(1) 39 aﬁﬁaﬁq‘i’a‘ﬁ procH (A IR
AT TR, 3% fore W 3R Frerer #
e oIl

2) @m—wﬁaﬁa@awmg&ﬁ
N 3 F TR B AR IR W i
e ST T .

(3) 3 :| & = wMwm ww =R @
w3 § SrEeluTeREal ¥ ey
Ft &

(4) 3T FR-deiem wiEn s 9 gey e
R, @ 3 9 it 7w

26. Feffea & & F-w1 wwe s g @

g, @ 27

I o S—
(2) wrEstt 1 yerug

(3) wraadt A anrErEm

(4) =en wewiedl % e il syeren
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27. While appearing in an assessment,

28,

30.

Devika finds her arousal as energizing,
whereas Rajesh finds his arousal
as discouraging. Their emotional
experiences are most likely to differ
with respect to

(1) the duration of time -
(2) the extremity of emotion
(3) the level of adaptation

(4) the intensity of thought

The Government of India has started

Midday Meal Scheme for the
elementary schools. Which of the
following theories of motivation

supports this Scheme?
(1) Behaviourist =

{(2) Socio-cultural

(3) Cognitive

(4) Humanistic

. Attaching importance to the home

setting of students for understanding
children’s behaviour and wusing this
information for building effective
pedagogy is related to which of the
following theories of learning?

(1} Behaviourist
(2) Ecological
(3) Constructivist

(4) Social-constructivist

Which of the following may be the best
way to deal with an inattentive child in
the classroom?

(1) Nag the child as frequently in front
of the class to make her/him
realize ’

(2) Make the child sit in the most
distraction-reduc_ed area

(3) Allow the child to stand while
working so as to enable the child to
focus attention

(4) Provide the child frequent breaks to
refresh her/his attention

27.

28.

29,

30.

ST FfRAT-% S I ) s gt
Bt } safh oW i e e 39 R
& WIEIEHF APt 1 I e Ty 27

(1) ®R=Ta

(2) TR i TR
(3) TET R

(4) foramt o1 v

TRa wER 3 oyl faed & R
YRR~ A WS IRy @t 2y Poafefad § &
HH-a AR Rigr 1@ A ¥ gad
wHar 27

(1) sHergREd

(2) HS-HiEHRH
(3) wIFTEE

(4) wmdg

S &% Jagn F wug & foe frnfia ¥ w
& drTeR HOAEEQ M 3 @l 38d uiH
g &) el fign-wme & ffor @ e
W gl 2 98 asa ARtrm % frw R
g Bt

(1) =ggRErEl (Behaviourist)
(2) wifRR® (Ecological)
(3) wER (Constructivist)
(4) wmiSr-aATard

(Social-constructivist)

FE T O A 31 I 99 § FEER F@ F
HA-T U Faifts aner © ge 27

(1) o= =) 7egy WA ¥ Y X wan § gun
I AR-AR SieAT-39e

(2) 98 W W TR A @ TR

(3) wm HfHa w1 F fog, & @ gu =
 ES T hi sgafy 3

(4) 79 F @R W TEiigw =3 F R
da-dfia § 3@ srawm I

[ P.T.O.
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‘Candidates have to do Question Nos. 31 to

90 ‘Either from Part—II (Mathematics and
Science) Or from Part—III (Social Studies/
Social Science}. ;

TR 1 ¥ 31/ 90 A1 A w11 (R 3k

fomgm)

foam) @ =@ &

N AM—I (AR FeER [ R

PART—II / Sm—-II
MATHEMATICS AND SCIENCE / wfom aik fmm

Directions : Answer the following questions
ny selecting the most appropriate option.

31.

32.

33.

a4.

The value of 0-001+1-01+0-11 is
(1) 1-111 ) 1-101
(3) 1-013 4) 1-121

In 1999, the population of a country
was 30 3 million. The number which is
the same as 303 million is

(1) 303000000

(2} 30300000

(3) 3030000

{4) 3030000000

I a®>=1+7, 3%=1+7+b and
43 =1+7+c, where g, b and c¢ are
different positive integers, then the
value of a+b+c is

(1) 58
(3) 77

(2) 68
@) 79

We call a number perfect if it is the
sum of all its positive divisors, except
itself. For example, 28 is a perfect
number because 28 =1+2+4 +7 +14.
Which of the following numbers is a
perfect number? g

(1) 13 (2) 10

3) 9 4 6

- Which of the following numbers is a

perfect square?
(1) 548543213
(2) 548543215
(3) 548543251

(4) 548543241

Adsr

: Prafafem vt & s R §F R w=w@

s Rrwea gf

31.

32,

33.

34.

35.

0-001+1.01+0-11 % AR R
(1) 1-111 . (2) 1-101
(3) 1-013 4) ‘1-121

1999 # foedt 3w A wwgem 303 fufew
i ®-8 wem 303 faftrm % w27
{1) 303000000

{2) 30300000

{3) 3030000

(4) 3030000000

e @¥=1+7, 3% =1+7+p a3
4“=1+7+é,‘aﬁ_¢b§ﬁtc'ﬁﬁmw
Al &, 9 a+b+c H HA

(1} 58 7 (2) 68
(@) 77 . 4 79.
o Rl den A Wl den wwr § AR w

T yEE W o e % (den |
BIGH AN F W @ IJTEE 28 TE
T UM R W 28 =1+2+4+ 7414 2
B & @ F-wt den arpt g 27

(1) 13 20 1o

3) 9 @) 6

e T & FR-ft den o g @t gen 37
(1) 548543213

(2) 548543215

(3) 548543251

(4) 548543241

2-M
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36.

37.

38.

39.

R

/er-

The product of two whole numbers is
24. The smallest possible sum of these
numbers is-

(1) 8 2 9
(3) 10 4 12
The value of

3502 _3500 16

3500 .9

is
(1) 2 (2) 4
(3) 8 4) 16
If

800880—8><10"+8x10~"«1-8x10z

where x, y and z are Whole numbers,
then the value of x+y+2 is

(1) 11 (2) 8

3) 6 4 S

One factor of x* +x2 +1 is
(1) x2+1 2 x%+x-1
(3) x%-x+1 4) x%2-x-1

440,

11,

The scale of a map is given as 1: 10000.
On the map, a forest occupies a rectan-
gular region measuring 10 cm x 100 cm.
The actual area of the forest, in kmz, i

(1) 1000 (2) 100
{3) 10 4 1
A fraction is equivalent to 3. Its

denominator and numerator add up to
91. What is the difference between

the denominator and numerator of this |

fraction?
(1) 3 (2) 13

(3) 19 (4) 21

36.

37.

38.

39.

40.

41.

A pof et w5 qured 24 §1 37 et W
ST g 490 3
(1) 8 2) 9
(3) 10 4) 12
3502 3500 ;e S
3%00 12
(1) 2 @2 4
(3) 8 @) 16
afy

800880 =8x%x10* +8x10Y +8x107

‘aalx,yaﬂtzlp‘iawqa T x+y+2zH
Eichd

(1) 11 2) 8
3) 6 @4 5
x4+x2+1a;rtzaauvr-1@v3%_’l

(1) x2 +1 2 x®+x-1
3) x? -x+1 4) x%-x-1

T AEfEE 1 e (scale) 1:10000 R &
MARE W ST A 10 ecm x100 cm #
Y ¥ U AR &% ¥ w9 fewrar m
T ST 1 ATt et km? 1§, 3

(1) 1000 2) 100

3) 10 @ 1

& fig S %gw%lsuésaaﬂzm 1 A
91 %lm&aéﬁasﬂtmﬁw I P
(1) 3 (2)_}.3&

(3) 19 (4) 21 =

SPACE FOR ROUGH WORK ; T® %™ % fre g
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42. The number n is doubled and then yis | 42. ¥ n F FHE =H I y F N @R
added to it. The result is then divided ™ qiom Y 2 | 9 w1 R 3 § arafs
by 2 and the original number n is WA n ! 92 T &1 tf<iw afon R
subtracted from it. The final result is y
y (1) y 2 =
(1) y 2 = 2
?1+ ] 3 + 4) nty
8) n+y @ Y B n+y
43. A polyhedron has 6 faces and 8 43. ﬁ?&ﬁ TEHIH F TR F A 6§ qon o
vertices. How many edges does it have? & vem 8 1 3| fhae foem §7
(1) 10 2) 12 (1) 10 (2} 12
(3) 14 4 15 (3) 14 4 15
44. I 44, 3R
1957 1957
-a9 —a9
18b8 1858
the sum of the digits a and b is a9 3 3_ﬂ( b a2
(1) 15 2y 14 ' )
(3) 13 4 12 (1) 15 (@ 14
(3) 13 “4) 12
45. Forty-two cubes each of side 1 cm are
glued together to form a solid cuboid. If 45, s Tt =i, (e @ s € ¥ 1 cm B,
the perimeter of the base of the cuboid T Wy f%'qa;m T 3 TN SHET S )
is 18 cm, then its height, in cm, is R T8 T F TUR FT IREW 18 cm A, @
(1) 1 (2) 2 el JE, cm #, ?
3) 3 4 4 (1 1 2) 2
46. In APQR, PQ=4cm, PR=6cm and (3) 3 4) 4
OR =3 cm. Which of the followmg is
correct? 46. APQR %, PQ=4cm, PR=6cm 3R
(1) £ZR>«£Q (2) .£Q> 4R QR=3cm 2 = # @ -1 9 7
(3) £Q0=«R (4) ZR< 4P (1) £R>Z£Q (2) £Q> ZR
47. In AABC and ALMN, AB = LM, AC=LN 8) £0=£«R (4) £ZR < «P
and £B = ZM. Then the 47. AABC 3 ALMN #, AB=LM, AC=LN
(1) triangles cannot be congruent M sB=sZM R @ .
(2) triangles must be congruent _ (1) S watmm =8 @ qord &
(3) triangles will be congruent if- /B is 9 ﬁrgéi oty @ gatran §
a right angle ! (2)
(4) triangles are congruent only if (3) ﬁ‘ﬁ'maﬁ afe £B o @ @
AB=AC (4) Bt wafman & ¥aa aR AB = AC R
SPACE FOR ROUGH WORK / T &4 % Rt wg
2-M 12
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48. The area of a trapezium-shaped field is

49,

S0,

S1.

720 m?, the distance between the two
parallel sides is 20 m and the length of
one of the parallel sides is 35 m. The
length of the other parallel side is

(1) 35m (2), 36 m
3) 37m (4) 40m
If the cost price of 10 candles is equal

to the selling price 6f 8 candiés, the
gain/loss percent is

(1) 25% gain
(2) 20% loss
(3) 20% gain
(4) 25% loss

- e A
The mean of median and mode of the

data 7, 6, 7, 9, 8, 8, 10, 8 is
(1) 5-5 2) 8
(3) 8-5 @) 9

A teacher conducted a debate in the
class on the following topic : L

‘Zero is the most significant
number.”

She encouraged every child to express
his/her view on the topic. The teacher
is ‘

(1) making her classroom = more
communicative and ;'eﬂe}gtive

(2) passing her time as students are
not in mood of studying

(3) using her Mathematigs_ class as
life-skill class to develop value of

argument among the children
(4) inducing problem-solving  skill
among the children, .-

[
48, quErE & T % U T F &6 720 m 2

%,ﬂmgmaﬁ%a‘maﬁgﬁ 20 m 2 3R
I 9 T QIR W o 35 m 21 gl
YHIR S 6t TS §

(1) 35m T2 36m
(3) 37m (4) 40m

o

49, aR 10 At 7 Fa-qea & dafed ¥
forsra e & st ;@ e/anf i 2

(1) 25% &9 - & . ‘.
(@ 20%@f

(3). 20% @y -

(4) 25% &f S

50. afwgt 7, 6,7, 9, 8, 8, 10, 8 & AT

MagemF Ay
(1) 5.5 k)i')li‘-' !(2) & I' .
3) 85 -4 9

51. &% ﬁTﬁm:':‘r’aaj&;; ¥ ﬁdﬁq m féﬁé W

arR-faa: = smem R
Ty ot e a2
: s¢ . .
IR YAF T A 370 FvT | I39Y Fer e
w3 & e Newfea fran Rifer |
(1) oo w1 B ol afiermeia ofv
Frarcefte s @ &

(2) ST T el o W} FiE oEl @
 :feufa ugn Y A

A3) wEt § aftE i et w3 B B

It it i war w SHaa-Hma € wan

I 999 W E R

(@) S s A A e A

SPACE FOR ROUGH WORK / T %M % fig wme ™
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Under the topic, “Use of eXpon'qnté to

express small numbers in standard

form”, the following facts are ‘stated :

(A) The speed - of light is
300000000 m/sec. ,

(B) The height of the Mount Everest is
8848 m.

(C) The diameter of a wire on a
computer chip is 0 000003 m.

(D) The size of a  plant cell is
0-00001275 m.

The above examples are used to

express each stated aumber in

standard form. Use of such examples

(1) shows the accuracy aspect of
numbers

(2) reflects
approach

the »inter-"disciplinary

‘(3) is made ‘in class to grab the

53.

attention of ¥ "students
interested in science -

(4) helps the teacher to identify the
bright students

more

Accordmg to Jean Plagets theory

- 1ntroduct10n of hnear equation and
learning techniques of solving it are
assimilation, and: ‘extending the

_ concept to pair of linear equations
<" may raise problem of accommo-
dation

introduction of pa1r of linear
equations: and techmques of
solving it5 afe¥-assimilation, and
connectmg Jit to basics of linear
equation 1s accomrnodatlon '

exposure to linear equation,
techniques of solvmg it and.pair of
linear equations are assn'mlatmn

(4) learning the concept of linear

equation, ;pair of linear equations |

and quadratlc equations is problem
of accommodation

2.

53.

forrg, “stma @ swEm S wEed @
mwmﬁazaaasﬁﬁml” %mﬁaﬁ%
ﬁ"ﬂqwﬁm@@%&nw%

(A) ST sl =Te 300000000 m/sec 21
(B) mR= tRw H F§ 8848 m 3

(C) ¥ faw w @ an
0-000003 m 2|

EO )

(D) e wRE & WS 0. 0()()0127>m
21 :

SRR H I Yo% fgfua Ten
S &9 N T w3 T e 21 U et
& I

(1) wemstt & Ry weel # qufar
(2) st 3wrm H vfafafRe @ @

(3) e § 3 o, § Rgw § afwr%rﬁé
&, F1 A 39 IR Y g R

(4) Toew T0 Fa F dw gz o sE
UFEH A | TR e B

ot R % g % swEm

(1) Meaw wrfispeor &1 afters oo @ 7 HQ A
Aftrm e SRR § we Was
gleO-gm  fl EuRe w fawn
UESA Y THE ] T g 2

(2) e wler-gm &1 g oo @ e
Hﬁzﬁmamm%na & g
IR & el & wag w0 mmﬁm%

Was  wiew @0 T, W '@
<ﬁﬁmwmwﬁmw
HTCTYTRTT 2

Wew wfiwon, Was wiww-gm an
fromht e H sEumn w1l
TUENH-gTE

(3)

(4)

2-M
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‘Maths lab-activities’ can be used for

(1) formative assesSme;lt only
(2) summative assessment only

(3) both formative as well as
summative assessment

(4) selecting students
Mathematics Olympiad

As per the NCF, 2005

(1) narrow aim of teaching
- Mathematics at school is to teach
number system and higher aim is

to teach algebra '

(2) narrow aim of teaching
Mathematics ‘at school is to teach
calculation and higher aim is to
teach measurements

(3) narrow . aim of teaching
Mathematics at school is to develop
numeracy-related skill and higher
aim is to develop problem-solving
skill

(4} narrow aim of teaching
Mathematics at school is to teach
arithmetic and higher aim is to
teach algebra : :

According to Bloom’s revised
taxonomy, the cognitive objective that
can be achieved through the following
task 4

“Prepare a PowerPoint presentation on
contribution of Indian mathematicians.”

is.

(1) remembering
(2) understanding
(3) analyzing

{4) creating

for National

54.

5S.

56.

‘e seTITen fRaTReal’ w1 IuE fRr S
T B

(1) et TS S & e

(2) Fae Gepfera gedieA & forg

(3) wmaﬁtmaﬁ:@mﬁa;%q
) gﬂﬁmaﬂﬁﬁm%@m%ma

U urgFEt i FR@1, 2005 F ATEN
(1) Trelt # e fimor & dfd W

YGFI ]

() uﬁﬁﬁnﬁmﬁrm'mmﬁ@mqﬁm
R it I=at 9w w9w e 2

(3) = & R fregw =1 dhiel Rew de-
g o fIwfia W= o s=d Ry
RN &6 R A P [l e R

4) @t & e foawm W g w®w
FEiE qgrMT 3R I= k@ Hsmifua
gl ?

= ) G i % sar A3 Ry g wE
et RSt % ARE W qeRuiER

mﬁamﬁwaﬁtﬁa’@ﬁm%,
ECh

(1) I= FHE
(@) wwg
(3) fordwm e

(4) G T

SPACE FOR ROUGH WORK / & &1 % Rt W
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57. Read the approaches used by“"the two
teachers to teach solving of. linear

equation, say 2x-6=10:

o

Teacher A *  Teacher B
Steps : Steps
(z) Take 6 on other| (j Equétion always
side maintains equality.
(b} Change the So same operation
sign of 6 and with same number
add to 10 can be performed

~on both sides to

(c) Get 2x =16 raintdin equality
(d} Tf‘hke 2,(;’“ thg (ii) Hence
Zw;;S‘e an 2x-6+6=10+6
or 2x=16
(e) Get x=8 i 2_x _ 1_6_
2 2
or x=8

It can be observed that

(1) teacher A emphasizes on
instrumental understanding while
teacher B emphasizes on relational
understanding

(2) teacher A emphasizes on relational |
understanding while .teacher B |
emphasizes on instrumental
understanding '

(3) teacher A focuses on éonceptual
knowledge while teacher B focuses
on procedural knowledge

(4) teachers A and B focus on
instrumental understanding

57. &t fiet 3w Redlt Was wfew, <@
T

2x-6=10, ® T = § IFEM fru
I Sl afen

firers A | - freF B

() 6 ® W g ¥ || (i) T & guHa w9
SiE Tt et ®1 ot A

(b) & = fag viafia =& el d v wewet

© =t W AW R o v 3
2x =16

(@ 2R GRUGAATT 9y -646=10+6

Clu) El)

. ® WY wEE e
10 4 Sifeg e @

(ii) @«

&ﬁlﬁﬂf?ﬂﬁﬁl"{ |  #¥a 2x =16

(e) x = 8 ¥m R L. 2x _16
JE 577
. IyEl x =8

M S masm d f

(1) fugw A @fiw aug. | s« @ 2 Sl
g B ol gng W

(2) Bres A g og W 9 oW § aRe
fies B oa Wy W

(3) fages A TORENE TH W HEd B §
waly s B sl 39 w

4 g;xgmwﬁ%r% B %1 wug w ¥fa

SPACE FOR ROUGH WORK / & &1 % fyq sg
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58. Class”™ VI+ students were -given -the

11 ft

T

11 ft|

following layout of ‘a housé : ~ {»
Hei T8 sHr o e

le— 10 ft —d— 12 ft &6 fi->)
- K
N Dmmg L
, Toom .y é
h
e
Connectmg lobby n
Guest; * e ey Living
room. Bedroom oF ek roorng
r H oW ES

The students “Were asked to find out
the-— |.d : ' *' “‘ .‘ r‘; ’ ?35,5“'

‘t
(A) perimeter and area of ‘each room;

(B) total perimeter and total area of the
house. " R -

e
The above activity can be used by
teacher as formative assessment task
because
!
(1) it will be easy for teacher to engage

all the students for 40 minutes |

period
N eER

{2) the students’. responses. will help
teacher to diagnose their
‘understanding: regardmg finding
dimensions, calclilations, knowl-
edge of formulae for perimeter and
area, etc.

(3) the students w111 ﬁnd the task

interesting and wﬂl not disturb
each other .

-—
PERT

T4y it° il Yeffove the phobla of Maths

‘examination® ¥ 137

| 58. & VI. %q‘.ﬁmﬁﬁ‘mﬁ f??h?ﬁ Kﬁh‘F{ P
N ¥ aOTRG L L e 5
fe— 10 ft —df— 12 ft --——>%<-‘d"' 6 ft->)
5&;3‘{!;1;?{-" A q
SR R
8 a FEN
wa et

PR ERTTY =T VRV PR A

Wi

e AR eI Ty B ¢ baa—,; »
K i E» re e Y rh

JEENE PO L LAl

St 2it. o
N s G e iy
9. ﬁmﬁﬁ@mw%%mﬁ—
ad. - 2 4 swooio o odagns

(A) Wmﬁaﬁﬁfbn;aﬁtméwm

(B) F gt TR S S Fe Ao

‘I

'wgwtmﬁﬁrwmmbmm%
'm%mﬁém%ﬁ‘avﬂfﬁ

(1) s e B g P srerk 3 @
ﬁaﬁ?ﬁaﬁmﬁmwm@m%

_tU‘l" &

(2) ﬁzn&fﬁ ¥ 3 gfom, awe orfe
famal, o, @&wﬁwﬁa
Wamﬁzmmﬁﬁﬁr&maﬁ%mmaiﬁ

) s B s

(s)ﬁaﬁhiﬁasmﬁmdﬁmwa
@@iaﬁsﬁmﬁaﬁﬁ

RS A') "’ s . {

4 %mnﬁmiﬁ;qﬂm%nﬁiwm’ra
N

SPACE "FOR ROUGH WORK / e Eﬁf aa %ﬂ{ T
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59. Students’ ability to dpply the concept of | 59. arafy® e R ferf # afgett i sEawn
square roots in-real life situation can | ) @n FA freRiat &\-amar B woen &
be assessed through the following sifre Faifa T skl S
problem e - T 2L
- i o lepem AR <
(1) Find the smallest square number (1) S8 ~IqH a:‘ﬁ EI_E ”. ﬁ 3}; ™ g;h
that is divisible -by, each “of the wEmstt 4, 9 aU10°ye & fio 21
numbers 4, 9 and_10. T
S (2) 25600 % el A T Fifsr)
(2) Calculate the square,root of 25600.
(3) Find the sfpal_lest number that may (3) BW I HET ﬁ. J1d ﬁﬁ'ﬂ, @ 5607
be subtracted from ‘5607 to get a 3 e | i we s e 2
perfect square. — - = - ="
S (4) 0025 Mt i TE e & W W@ { A
(4) 2025 plants are to be planted in a s 2 B v dfFw d I & gEm 8
garden in such a way that each row A9 8 Rt den 9 R 2 tfFE 6
contains as: many. plants-.as the . i N o
number of rows. Find the number _‘IE T e dff # e B we
of rows and number of plants in 'ﬁﬁ*‘%' e T .
« each row. e T ' ) )
R T Sl
60. A student writes 60. i wr feram §
locm_écm locmzicm'
12cm 6 - 12cm 6
. e T O £
15m 15m
B o PR
This student RUICIE B,
(1) always commits clerical error of (1) #EI@ % @Y ALH fr @ wE
. writing unit with ratio ;ﬁ@:{,'g-;a:gﬁ;gﬁ R
" . : ! W
(2) has clear concept of units and their » et .
" convérsion cor (2) ;%"E' ‘i,i. 3%}3?% T FT ST JH T
b - ® s '
(3) can reduce fractions to lowest term
correctly and can write the units (3) Rt = @y 91 i ot < A 95 gHhAT &
properly . afr g v forg wwar @
(4) has concept of units, conversion of / VRE e
units, fractions but missed the (4) WFH T TH Tl ? ud wmE & W
concept that ratio does not have i ﬁ?ﬁ #l Wﬁ .‘Tf(f%ﬁ %‘jﬂﬁ R
units Lo et STl @ foh ST, 56T g A T Al
SPACE. FOR ROUGH WORK / T &M % foig sme
2-M 18
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61. Study the following statements about
excretory system in humans :

(A) Wastes dissolved in water are
filtered out as urine in-the kidneys.

(B) Urine stored in urinary_bladder is
passed out through the urinary
opening at the end of the urethra.

(C) Ureter carries urine to the urinary
bladder. '

(D) Useful substances -are  absorbed
back in the blood.

(E) Blood containing useful and
harmful substances reaches the
kidney for filtration. -

The correct order of the processes given

in the above statements is

(1) (D), (B), (A), (), B)
2) (E), D), &), (), (B)
(3) (B), (D), (E), (A), (O)
4) (E), (D), (&), B), ()

o
e

62. The pseudopodia of amoeba are used

for
(1)
(2)
(3)
(4)

Below are given some organisms :
(A) Yeasts -
(B) Bedbugs

- {C). Leeches

(D) Cuscuta

(E) Algae =

(F) Lice.

(G) Mushrooms

(H) Lichens

The organisms which may be:classified
in the group of parasites are

(1) (A), (C), (F) and (G)

) (B), (C), (D) and {H)

(3) (B), (C), (D) and (F)

(4) (©), (D), (E) and (G)

sensing the food only

capture of food only
movement only .
movement and capture of food

63.

61.

() ggm%ﬁﬁ q g
y .

e et & @ SRl w2
62.

63.

S IS 9 ¥ v § S R e s

areEA iR o ’

(A) st g gu e e gEi d 97 % w
% goreg o forg < &

(B) T § @ 5, e Zaa &
oy @ g9 da ¥, ¥ e e e
fear wman 81 e o

g T EEE # S

(D) Swit warel T A G SEmi
foen s 2 ‘

Tt o T aH @ R F G

3 7w Frered & fag 3@ § agem@ 2l

(E)

(1) (D), E), &), ©), B)

2) (E), (D), (A), (C), (B)

3) (B, (D), (B), (A), (C)

(4) (E), (D), (A), B), (C)
e & e e aEEa R 2
(1) e s T ST O
(2) e aﬁmm L}

(3) e T A

(4) T 3 @ i e A

49 3o fa REm e

@A) fie C

(B) @A

() st®~

(D) IHEH

(E) qard

(F) s L

(G) BT (HIEH) -~

(H) SE - .
<t 2 el i i feg ST I e
(1) (A), (C), (F) 3 (G)

2) (B), (C), (D) 3 (H)

(3) (B), (C), (D) 3R (F)

@) (), (D), (E) #R (G)

SPACE FOR ROUGH WORK / 1% Fd ¥ fog R
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64. In Column—A,. names-":of scientists

are given and in Column—B, some
discoveries.are-given :
COVETIES alt 2

3 Column—;B

Column—A -
(e) Alexander. ~ ¥ (i) Anthrax
Fleming - bacterium

(¢} Edward Jenner (u) Fermentauon

(c3 Louis Pasteur (111) Lactobacﬂlus
bacterium
(d) Robert Koch (iv) Penicillin

(v} Smallpox vaccine

The correct match of the names of
scientists with their discoveries’is

(1) a b c a -~ -
v v i
(2) a c d
i iii ii iv
@a b c d
v i v il
4) a b c d -
i v ii i -

€5. Select the correct s'tétéx_ﬁeht _about
biosphere reserves.

(1) These are the protected areas
meant for the conservatxon of
endemic species only

(2) These are the areas meant only
for the conservation of plants and
animals v

(3) These are the areas which help
to maintain the . biodiversity and
culture of the areas

(4) These are the protected 'areas
reserved ‘for wildlife where they can
freely use the habitats and natural
resources

64. mﬁ-—Aﬁéaﬁﬁés m%wnq%mﬂt

——Bﬁ@@?ﬂ?ﬁ"ﬁ%
7o '
&:’TW—-.—-A-n Lo2e 1 FHICTH- -—B
(o) SRR () T S
(b) @aé@ﬁ( - (i) Revm
(¢) gs‘mat (iii) SErafer sfamy
(d) Tsé =i (1v) afffem
(v) é?ﬁ"mz‘m
émﬁaﬁ%mmmﬁ@aﬁﬁiﬂnm ?
1) a b e d e
iv v' 1}' '1 < ' i
£ 7
b a by ¢ qzd oo
i il i v e

4 a b=eetd
iii v i o
. : 920 TN +

‘L‘

65. JvST IHE (mr?aa 833) é efRE wd
w47 gAY -

() aégﬁmm%ﬁéﬁaﬁm%«ﬁm
ésmm%mmﬂq% X

2) 3 %m%mmmﬁwqﬁ%mm
%mmm%r RN O I |8

1

RS
(3)a%$aﬁsﬁ&éaﬁéaﬁ%wafn
mﬁaﬁvmwﬁﬁamﬁﬁ%

aégcfm%aﬁcﬁ%m@navf%gaa
s 3t wifeh et % JuanT & fo
s foman T R

SPACE FOR ROUGH WORK / & &M & fou s’
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$6. Study the following 'stdatements :

(D) Eukaryotes

(A} Prokaryotes do not havé nicleus.

(B) A single cell can perform all the
functions in a unicellular
organism. -

(C) Blue-green algde are the examples
of prokaryotes

do not have well-
- organized *nucleus” with 2 nuclear
membrane.

The correct statements.are N
(1) (A), (B) and (C)

(2) (A),.(B) and (D) _

(3) (A), (C) and (D)

(4) (B), (C) and (D) ]

66, 9 i T w1 st e

(A) Sikfe # ez T aa 2

(B) wH-wifin g d§ what wifiem wft w5 d
el 21 :

(€ FR-g fare nFfar F e g

(D) {%ﬂﬁzﬁmﬁ@aﬁﬁwf&am
T Aag , L

#d Q Hiﬂ o %

(1) (4), (B) 31"? {C)

(2) (A), (B) R (D)

(3) (A), (C) i (D)

(@) (B, (C) 3 (D)

Y

67. In the given dlagram, positions of four | s
endocrme glands in the human body | g7. fu M o # s ¥ wfit ¥ |R s
are ‘marked by the letters’ A ‘B, C§| . Wﬁf@lﬁA B, C,WD»{TUH%H@
and D: -y )
The correct labelling of:A,-B; Cand D is ) N
(1) A—pituitary gland, * - B—thyroid A, B, C 3 D1 &t ot
gland, C—adrenal gland, (1) A___'lﬁ'q\q ¥, © B_gnqugg afesr,
2) Tp?cris land, " * B-pituit C—fepm %,
—adren gland, pituitary _ ‘
gland, C—pancreas, D—thyroid (2) A--Xfg v’f‘ﬁ,_*}B—‘ﬁ‘@ uf,
gland < e C--30-gT9, D—Imalss uf¥
(3) A—adrenal gland, B—thyroid (3) A-fem  ufw, B-'—Wlsts’ -y,
gland, C——pancreas D——-I?i‘.tuitary C——3eared, DR ey
gland o ¥ LA . )
(4) A—pituitary gland, B—pancreas, 4 A_"TW 7, B3I, C—-auss
C—thyroid gland, Di<adrenal'gland ofR), DfFm a2y
SPACE {FOR 'ROUGH WORK / Th &/ ¥ farq _sme.
2-M [ P.T.0.
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A rectangular container given below is
filled with a liquid heavier than water :

Sele¢t the correct statement from the
following about the liquid pressure.

(1) Pressure at A = Pressure at B
= Pressure at C '

(2) Pressure at A > Pressure at B
> Pressure at C -

(3) Pressure at C > Pressure at B
= Pressure at A _

(4) Pressure at C > Pressure at B
> Pressure at A

Light is falling ‘on the surfaces S, S,
and S3; as shown below :

AN

Sy Sz S3

The surfaces on which the angle of
incidence is equal to the angle of
reﬂectxon are

(1) S, and S,
(2) S2 and Ss
(3) S, and S,

(4) All the three surfaces

68. R fou u frd smgarer v A 5@ ¥ 9 FS

69.

T

s % Ry & B £ 2 od v g
(1) AREE = BWEME = C | 3H
(2) AWTE > BREE > CW W
(3) Cma‘la>B;itm==qum

+ ‘

(4) CHIE > BWIE > A W o

aﬁ@ﬂaﬁq&m{sl,sz S5 78 W

WRRL

@gftsmmmw’hm‘%w%,
w- §7

(1) s, 3k s,
2 s, aﬁz'ss
3) .sl' R S,

@) wh i

SPACE FOR ROUGH WORK / {6 #1 & fom sz
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70. In the diagram of human eye givén

-below, the parts.marked by A, B; C and
D should be labelled as

(1):-A—ciliary muscle; = B=pupil,
C—lens, D—cornea -

~ -~
g

(2) A—iris,  B—pupil,  C—lens,

D—cornea
() A—iris, B—cornea, C—pupil,
D—lens

(4) A—ciliary muscle, B—iris, C——lens
D-—cornea :

.

71, Impressxon of an image pers1sts ‘on the

retina of human eye for about

(1) 1 second Le-

2) 1 second ‘“
)5 o -
’ %
bl N At ‘%
3) 1 second *
15
|
| O . )
{4) — second !
25 .

70. IR Ry muaE s sm@d 4, B, C3 D

m:ﬂﬁamﬁwwammuﬁmam
afa?

(1) AQ—n&m' &:ﬁ,'- B—g?ra‘i, c—H,

4 . i

(2) A—fafe®,”  B--gaed, | C—=,
3) A—iaiew, B, C—gaet,
1}-%11

X -

(4) A—agmTT ﬁsﬁ B———‘Iﬁ?ﬂﬂTﬂ c—ag,
D—=piHan., . A ;

71.'%#3%‘(&#1«@%@3@%;{%&3%

m?ﬁmmmmmmwm%?

iy

(1) uﬁm_ "
! 3w '
(2) 2
i
1 (SR i i e
@ 2.-‘*“"3’ L

SPACE -FOR:ROUGH WORK / & &® & fq sme
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Study the following statéments : . ™
(A) Gértnination of seeds does niot take
place under dry conditions.”

(B) Nutrients get transported to each
part of the plant in dissolved form.

(C) The supply of water to crops at

different intervals improves the |

texture of the soil.
(D) The supply-of water to crops makes

the soil porous due to which }

exchange of gases becomes easy.

(E) Water protects the Crops from both |

frost and hot air currents.

The statements which justify the need |

to irrigate crops are o.

(1) (a), (B) and (C) - -

(2) (B), (C) and (D)

(3) (C), (D) and (E) ‘

(4) (A), (B) and (B) -~ v

Study the following staiemé}i‘ts :
(A) Chromosomes are located in the

R« ok B . o
nucleolus. ! e 0

(B) Genes  are l6cated “ in  the |

chromosomes.

(C) Unicellular organisms respire and |

reproduce.

(D) The most ir‘npqgtar}t‘ifgqction’._of cell |
membrane_is to control the entry |

and exit 'of materials from 'cells.
The correct statements are
(1) (A), B) and (C})  “=-: 1
(2) (B), (C) and (D)
(3) (), (C) and (D) .,
(4) (A), B)and (D) ° &

The ultrasound equipments used for

investigating medical problems work at
frequency S |

(1) below 20 Hz <

(2) between 20 Hz and 200000 Hz

(3) between 2000 Hz and 20000 Hz
(4) above 20000 Hz -

(72 Fr Ry et 1 s R W
(A) o aRffet 3 S 1 sipn A
%| B it T * )

(B) Sl wi-wred] F faftm awlt # wmE
Tel) ¢ vren 4 4 a2
() Rfim wma sraue W wEel R WA A
TR A a1 ¥ e ¥ G S
(D) Faat A et R gl F @ wly =@ R
e For b w e (sTEE-TEH)
e B S 2
C - (Ep S e TR (efa). sl A
@ g oo a0
3 o BA-R § S s A e A g Fw
(1) (A), (B) 3 (C)
it .(2)"‘ (B)’ (C)_»@’L(D); e
(3) (O), (D)3 (E) oo -
{4) (A), (B) 3 (E)

NETLIT NI L) o SR

73, 4= f%vum, l%wﬁ 7 3T A
(A) 1orE, Hisw § R 2R
(B) @, ot & e B

(RIS SR i

oty - AC) T RIRE i e A FE B¢

(D) Hifir R e TR o R
i weredl ¥ AR F afEe w5 R

i wd o & SRS

(1) (A), (B) 3 (C)

(2) (B), (C) 3 (D)

(3} (A), QD) r ozl s

(4) (A), (B) 3T (D)

74, fufrem & G § wreme & IEER % forg
I fFe SR 1 el |l IRl & &
sAHtemfrads "0 7 L
(1) 20 Hz & &

(2) 20 Hz 3R 200000 Hz & =
{3) 2000 Hz 3R 20000 Hz % =
(4) 20000 Hz & s~

2-M
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‘#5. A sold rectanguiar block of irén‘is kept

76.

7.

over the top;of-a table with lts different

~faces touching,,the: table. Innd1fferent

cases, the-solid block exerts
(1) same force and same pressure
(2) same force buit diffétént pressures

(3) different an(,_iﬁ Qifferent
pressures T

forces S i1, 2

(4) different forces but same pressure
IS o4 E,'

e v

In the diagram of animal cell given |

below, the correct labelhng of the parts
A,-B, Cand Dis =

123

e

(1)

wall,
C—chloroplast, D—nucleus "

A—cell
C—nucleus, D—cytoplasm

A—cell B~—vacuole,

(2)

membrane,

v
A—cell membrane,f* B——plastlds
C—nucleus, D—chloroplast

A—cell ~ wdll, B—vacuole,
C—nucleus, D—mitochondria

(3)
(4)

The odometer readmg of a movmg car
at 8:00 am.”'is 36540 km ‘and at
10:00 am. 36666km. If the car is
moving on a zigzag path with variable
speeds, its average speed in metres per
second is

(1) 6-3 S
(2) 12-6 |
(3) 17-5 “
(4) 35 L a Y

B—vacuole .

b

- 75. W& TH 3 ATAHR F-H B A F

W

b,

a0t

drees

717.

i g R wawt A 39 R oyl ww@
T T R -l ol R |y o ag S
T STARA FEi'E

(1) Rmaaaﬁtwaa

(2) ¥R 9@ wg P !

(3) fm-fim ﬁrqoaﬂ}‘ﬁa-faa &l

(4) Pra-fim s wg ¥@ T@

Oy

et

"76fﬁéﬁqma=§$‘|ﬁm%am@ﬁ/a B, C

st Dyt o TR &

7R (sﬁﬁ rvra%), [ -

A—FRE B, B-RfE, \C—hs,
D—=fRre b

(2)

A———Eﬁﬁﬁm 1"3@, B—Jﬁ@i C—3F35,
DT (Fha aaas) "

(3)

(4) A—=Rm T, B—?Cf%?m O,
Ew o ‘ -”1
feft s w3 qomrd (fdufter) 1

sooa%qm 36540kmaexrma 10:00
T WIE 36666 kin 31 4R HR RN 9
R A T & T R, d R i

of g F st T B

(1) 6-3 N AR
(2) 12-6

@ 17-5

(4) 35 <

SPACE FOR ROUGH WORK /. T &H.% forg s
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78. A boy has a thick paste of turmeric:. On
5 . adding this paste to. hydrochloric acid
-+ and aqueous solution of sodium

hydroxide separately, what colour(s)
would he observe?

o
e

"

(1)
(2)

Yellow in both cases -, .

Yellow in hydtochloric acid and red |
in sodium hydroxide*

(3} Pink in- hydrochlonc acid and blue

in sodium hydrox1de
(4) Blue in hydrochloric acid and red ‘,
in sodium hydroxide '

S

Study the following statements with
reference to the villi of small intestine :

79.

(A) They are finger-like outgrowths and
" thousands in number: ‘
-9, st ;

s - (B) They have very thin walls.
(C) They have a network of thin and

small blood vessels ‘close to the
surface. -

Y ’ o ;;:"‘ .
(D) They have small pores through
which food can easily pass. :

The statements Wthh enable the villi to -

absorb the digésted food are
(1) (A) and (B) Only_
(2) (C) and (D) only
(3) (A), (B) and (C)

(4) (B), (C) and (D) .

- Ok

78. T o ¥ 9 T W MG U B 3F UL W

_EEgEiG o It Wifdn TRgieEs %
et - feem § -oTem-dem SRR W 98
%am/%vﬁwﬁmm?

1

(1) 'ﬁm"ﬁﬁ‘ﬂm t

"2) TEdE e § dien ok wiRem
FECAE L R i - A

TRgEE e § el i wifemm
o yglee Adften

S e § fen s G
RESECIFCR A

79. g5 ¥ fom (wWig) F = § 49 iy M
T & A R

A} ¥ el & TwE vl g dwnd A #
aﬁtsﬁ@awﬁﬁ'@?ﬁ%l

(B) T fufty gy TR AR R

(C) it ITh Fag % Prere gaw R arfRemad
wma%?nw%l

| IS5 ﬁﬁﬂﬁ?ﬁaﬁ%%mﬁmmﬁ'

TOR Tl B 1

A AW B R g e R i
- TR A HI &

(1) et (A) 3l (B)
{2) %= (C) 3 (D)
(3) (A), (B) 3 (C)
(4) (B), (C) 3 (D)

SPACE'FOR"ROUGH WORK / & &™ & fru smz
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80. Given below are some food items :

81.

(A) Boiled and mashedaijo-tato'
(B) Boiled and chewed rice
(C) A slice of bread.

(D) Sugar solution

(E) Coconut oil

Which of the above will give blue-black
colour when tested “with
solution? .

(1) (A) and (C)

(2) (B) and (D)

(3) (A), (B) and ()
(4) (A), (C) and (E)

While teachmg the correct method of
using a spring balance ‘to Class VIII
students, Gunjan mentions the
following steps (not - in- correct
sequence) to be followed :

(A) Note the zero error.
(B) Calculate the’ actual reading.

(C) Note the position of 'vpointer on the
graduated scale.

(D) Record the least count of the spring |

balance.

Which one of the following is the
correct sequence of the steps to be
followed for the said purpose?

(1) (A), (D), (B), (C)
(2) D), &), ©), B * -
(3) (A), D), (), (B)

(4) (A), B), (D), (©)

" iodine |

80. R o " e Ry & .

81.

(A) ot 3R R amre

(B) Tt o <IN §Q T
(C) W& (33) =1 @ g
(D) =R (whu) =1 O

(B) e &1 ae

ARRA e % Wy waw w W IeE § @
4 fr-wren @1 wem FH?

(1) (A) 3 (C)

(2) ®) 3w D)
(3) (), (B) 3 (C)
(4) (A), (C) ¥ (E)

F4 VI & SE & $9FRER gon A
Sqam faft g w9 em 3 9 Ru g
(sﬁwﬁmﬁaﬁﬁqﬂq%)mw
fore = :

() T g e ww

?ﬁia

(B) e s afwiva e
(C) 3iwifra ¥ W wahae & Fufy e wem)
(D) FFIRR AT T : éqa'qaniaaﬁaﬁamt'

ﬁwﬁmﬁﬁwwﬁwaﬁwfmﬁﬁm
T §7

(1) {A), (D), (B), (C)
{2) (D), (A), (©), (B)
(3) (A) (D), (©). (B)
{4) (A) (B) (D), (C)

SPACE FOR ROUGH WORK / 6 &1 % fig g
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Which one of the following is-not-a

desired ob3ect1ve of learning of Smence

at upper primary stage?

(1) To acqu1re scientific literacy

(2) To develop rational thinking

(3) To acquire-essential -process skills

(4) To perform better in competitive
examinations : o

The technique - .of . grole-play is

considered to be an effective str ategy in

‘teaching of Science because

(1) it ensures better understanding of
one’s role in real life

(2) it ensures active: participation of
students in the process of learning

(3) itis likely to promote “social skills of

students <@

(4) it ensures breakmg of monotony in

the process of learning 5

Science is considered to be
_questioning, exploring, doing and
“investigating. Which of the followmg
activities, carried out by Dipika in
. teaching of: Science, is, best su1ted to
satisfy these criteria? :

(1) Unit test on mlcroorganlsms

(2) A group diScussion 'on ¢ommon
diseases

(3) A debate “on énvironmental issues
. (4) Project work on. naturq_ of sound

The .National Cumculum Framework

(NCF) ‘2005 recommends that teaching

of Sc1ence at ‘upper - pnmary stage

should’ emphaswe ‘maximumnm’, on

(1) relating classroom 1earn1ng to life
outside the school

2) memonzmg | sc1ent’iﬁc ‘terms
given in textbook ,. - ¢

(3) answering all quest10ns given in
textbook exercises t f1

(4) improving students’ performance in
examinations AT

82.

83.

84,

g wefe ww-fgm d@en = W i T
PI-T1 Jexd TS S T '

(1) St gean i w7

(2) afbs did R Fen -

(3) eavash gfgar-HrEra Wil w

(4) wfevft whensit § 31t weely &

g -Rggo § da-@ iR TS wTE e
Ay am w A T

(1) zrn,ararm shamﬁmn"ﬁq\ﬁmﬁ
et YRR @ awern glAfvaa el @
wﬁw&ﬂnmﬁmaﬁlﬁawﬁaﬁ
ghffm sy

77 BE & GuIReR puded ®-agmEn 2
awd 3 o1 oone

T3 aaﬁzmsrﬁsm ﬁ TG eﬁl GIECH
ghRffm ety -

T ) ST, @ T, FE RN
3, m)mlam 3 am-faga & @
z‘iﬁmmmﬂqﬁ%ﬁqm&mmﬁﬁﬁ
ﬁqm%?mﬁmwﬁ%mm
(1) gem-shal w gfie 3w .

(2) mmﬂﬁmw{i%aaaaf

(3) qafacta ar{waﬁqtma-ﬁaw
(4) wﬁaﬁmmq&aﬁnwﬁ

)
3)

(4)

N {

4

. ity rgEeal, i FREL; 2005 f f oy argen

(F&tﬂf’m)aﬁﬂé%%?amﬁmwm

W-&mﬁaﬁmmﬁmmm&l

(1) a&nﬁmaﬁﬁuﬁm%aﬁﬁsﬂaﬂé

A & forg

()qu@%ﬁmmwmwﬁﬁm
FAFfw - ©

(3) URATEH F IIE-F Wit W F IW A
w0,

(4) whanadt & ferenfiat & weuln © gaw oW F
1 S

SPACE"FOR-ROUGH WORK /iTh &1 % foru -smg
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86. Geeta-is preparing a lesson-plan‘ for

87.

teaching the topic on ‘Human eye’ to
Class VIII students. Inclusion of which
of the following activities in the
lesson-plan is likely to be most effective
in helping the™ 'students understand
related concepts better?
(1) Preparing a good home assignment
(2) Dictating notes to students in the
classroom
(3) Using student activities and
interactive classroom questioning
(4) Demonstration using model of
human eye

On the basis of recommendations of

National Curriculum Framework (NCH),

2005, NCERT textbooks in Science lay

greater emphasis on

(A) discouraging rote learmng

(B) maintaining  sharp
between different domains of Science

curriculum
" (C) prov1d1ng «active learning
experiences to students |
(D) learning exact definitions of

S

scientific terms*
Which one of the followmg pairs

~ represents tthe combination of correct |

statements given above?

boundaries

86.

87.

T e VII % Bt ‘arRe 35 v wen
% foq ue-demr wm @ ¥ AN Ru o
forarramt # R ue-asm F aEkE =0
s A gl 99 wwar @ e wEt &
wrafRa Teeuiall A ared WE guy g 7
AP R FHAT AL

(1) =31 78 w1 TF

(2) w3 Bt @ A fergam

(3) Bl % frarremd o wan F Rt
(4) 'maa?fﬁs_ﬁﬁaaﬁrﬁmhagm

g gt f ww, 2005 i Rrrfet %
YN 9 NCERT ﬁﬁﬂ & el § e
ae fian 1 3

(A) Qﬁaﬁagﬁgaﬁs?hwr%awﬁm

(B) fogm <t urgg=al & fafe ad- o & <=
ﬁmmmr@ﬁm

(C) mﬁaﬁ’”ﬂma@mmﬂ?@m

(D) AR get Y gerd aftsrmmd drey w

ﬁ%ﬁmwaﬁq-wwmﬁwaé’rmﬁ%
waeA el s 87

(1) {A) 30 (B)

- (2) {A) 3 (C)

FEL pome
2) (A) an : e g
b 4) (B) &R (C)!
B d B C EE .
() (B) and (C) | s‘s.ﬁwﬁfmmmﬁfmmm
88. Which one of the following approaches # ¥ Fa-w swwn 3w RifE A dwhs
adopted by a Scienceé teacher! reflects w:ferfa &) <erfar 27
scientific temper on her part? - _
(1) Maintaining perfect dxsmphne in (1) e H gl TR TG 1’@341
the class ‘ (2) wuEee sy swaifdg UreusER @ gHm
(2) Covering the prescribed syllabus as | . AT L
quickly as possible (3) wa & S A v Y F fory et
(3) Encouraging students to ask S— .
questions, in the classroom .
(4) Preparing difficult questlon papers (4) wiftrmr & @it w0 F forv FRA wwE-w
to enhance learning AT S :
SPACE "'FOR 'ROUGH WORK / & &1 & fau smg
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The following steps (not in the. proper
sequence) are generally recommended
to be followed in scientific method :
(A) Testing of hypothesis

(B) Formulation of hypothesis

(C) Identification of problem

(D) Collection .of data

(E) Drawing of conclusion

Which one of the following is the

correct sequence of the above steps to |

be followed for this purpose?
(1) (©), (&), (D), (B), (E)

(2) (©), (B), (D),,(A), (E)

3) (D), (©), B), (A), (B)

903,

4 B), (), (&), D), (E)

Hands-on activities and projects form
an integral part of learmng of Science.

These learning expemences prlmanly
aim at

7_(1) assessing the students on pract1cal

skills"

(2) keeping the students engaged all

the. time

(3) maintaining dlsmphne in

laboratory D
(4) providing opportunity to students
for extended learning

the |

89. amfe faft & fow wmwr: Frafafea. =it

90.

asmrmmﬁﬁ(&wafqamﬁ el fu g
%)ﬁﬂmﬁmﬁ“\m‘cﬁ%

(A) ol ﬁﬁma

(B) aReheqd ST

(C) wren H wEEm

(D) ATHS A THT FEA

(E) ford ﬁma:n _
ﬁm%f@aﬁés#wﬁmaﬁwmm%?
(1) (C), (4), ), (B), B) .
2 (). ®), ©), @), ©
(3) (D), (©), (B), (A), E).

) (B), (), (A), (D), {E)

eaftrg, frareme o, aeieTt R e %

i 3t §1  sfm s w1 e v
(1) S Frere W B w1 gediE

(2) oEl = W W R @A

(3) Wmmﬁ:ﬂgsrmmr@m

(4) ﬁmr&aaﬁnq%%qmaﬁaﬁ FE YSH
AT
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Candldates: have to do'Question Noé 31 to
90 Either from Part—II (Mathematlcs and
Science) Or from Part——III (Soc1al Studles/
Social Science).

wﬂrmﬁfvﬁaﬁmwo 31@90ma‘t wiiT—11 (nfire 3fk
ﬁm)znm—-m (Wﬁﬁm/mﬁ%fﬂﬂﬂ)@
& B

C vl 7

PART—II / am—a -
SO_CIAL STUDIES/SOCIAL SCIENCE [ wrmfie sveaa /mmﬁﬁ ﬁﬁm

L'!}

Directions : Answer the following qugstwns
by selecting the most appropriate option

31. The movement Vande Mataram in
Andhra reglon was known.as
'..(1) Non Cooperatlon BRI
(2) Swadesh1 . R
(3) Civil Disobedience. .

(4) Khilafat

4

-
Sl ~
,.,

The book, Stn—Purush Tulana, wh1ch is
based on criticism of the ' social
differences. between men and women,
was authored by which of the following
scholars? )
(1) Pandita ‘Ramabai
(2) Begum Rokeyagr « -

(3) Tarabai Shinde g E
(4) Rasasundari Deyi

32.

-1 =
=
T
4

43, The Christian m1ssmnanes in the

19th century-wanted "to - introduce

Christian education in Indla to
“ (1) educate elite.class ol

(2) improve moral character of the
. people -
‘eaucate masée§ —

make Indians loyal to Company
government

.-

3)

4)
T

With.the industrialization of Britain in

the -19th_century

(1) Indla became main, suppller of the
raw materials to British industries

(2) India provided cheap labour to
British industries

34.

R *v,.v— .

(3) India became vast rtharket for
British industrial products

(4) many mdustnes were established

in India o

2-M
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33.
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35.

‘as Zamindars? o ¢

36.

37.

38:

39.

40,

(1) AH; BF; CE; DG,
(2) AG; BH; CF; DE’

2-M

(1) Act of 1833  1zes v v b
{2) Act of 1858 o A
(3) Act of 1861 )

7 (4) Act, of . 1868 w o

; + .been found. : N S TE
Name of Present-day
the Site State

A, Chirand -E. ‘Kashmif©' ..
B. Koldihwa - F. {Uttar’Pradésh
C. Burzahom G. ;Andhra Pradesh
D. Hallur H. ﬂ;Bihar

R

/el

In which land Trevenue. set‘dement the
Rajas and Talukadars were recogl:uzed
(1) Ryotwari Settlement

(2) Mahalwari Settlement

(3) Permanent Settlement

(4) Pattidari Settlement

~

bad

ey -

Begum Hazrat Mahal took’-an.active :
part in organizing the uprising agamst
British at
(1) Kanpur

(2) Lucknow
(3) Faizabad - o
4) Allahabad

Which of the following Acts transferred q
the administration of India from the
East India Company to British Crown?

=
» -

+ ;_-b

-
P |
DR 4

wal g

In sthe medleval Assam;cPaiks.were
(1) forced labourerss " ¥% - *
(2) plantation workers~
(3) water carriers .
(4) members of conscript army

P

‘Manigramam’ and ‘Nariadeési’ were

(1) famous towns during Chold period

(2) famous guilds of South India

(3) administrative units of: Cholas".&

(4) famous  ‘villages . ‘given as
Brahmadeya to Brahmanas

Cited below are-some:sites:and present-
day States where the evidences of grain
and bones*'of domeéstic Animals have

The correct match *of ﬁthewabove two
columns is

T

3

(3) AE; BG; CH; DF
(4) AF; BE; CG; DH

s

32

35.

1 -38.

39.

[
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The Rivers Ganga- and Yamunarare
named —— in the¢Rigveda.

(1) around a thousand times ,

(2) a hundred times,
(3) twelve times
(4)*once a

o
e

41.

v

42. Which one of the followmg featuxes is -
common to Buddhlsm and ‘Jainism
both?
(1) Only those who left their. homes |
' could gain true knowledge
2) Both of these rehg1ons
supported mainly by traders
(3) Man had to giveT up.” everythmg,
-including their , .clothes to gain
salvation
" (8) The constant ~craving -for more
. could ‘be. .removed by“followmg
moderate path

were

43. Who amongst the following said that,
“The upper castes had no right to their
land because in reality,. the land
belonged to mdlgenous people, the
so-called low castes™? )
# (1) Shri Narayan Guru.. .

(2) Haridas Thakur . a o

(3) Ghasidass ] ‘

(4) Jyotirao Phule = - ° -

Which one of the following statements

is appropriate in reference ‘to the

construction of Audlence , Hall

(Diwan-e-Aam), by Shah Jahan?

(1) White marble of the Ta_] Mahal isa
symbol of peace’ " *

(2) King’s justice would treat the high

and the low as equals’~ |

Contentedness in the subject helps

to rule better

It was a‘neceSsity to bring the rate

of crimes under control :

44,

3)
(4)

45, Who amongst the-following could not'

be a member, of~a‘~Sabha as, 1a1d down

in the 1nscr1pt10ns from, Uttaramerur in

Chingleput district- -of Tamil Nadu?

(1) Those. between the age.of. .35 -and -
70 years

(2) Those having, knowledge of the
Vedas B

(3) Those who have’ ‘their owri ‘homes

(4) Those who have fnot'*'stibmitted

their accounts .+ -~

2-M

33
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" 46i~Which one of the followmg facts does

@)

47.

h ‘and textufe”
B e 4 ST ]
. 48, Minerals that he near the" earth surface
T are simply dug out *by?the ‘process
known'as*™ For T AR
(1} quarrying
e FR (2).“calcination® B S
%~ b (3) ‘open-¢ast mining B
By sT.(4)rsintering Teas TG
43. The oldest rocks in the*T 'whorld are .
found in o
(1) Western Australia -- e
(2) South Africa L
(3) South India BT
(4) Hawaii Islands ks
- 50, Act1v1ty that changes raw material into

not hold true about Grama-Bhojakaq,

the village headman .in. the northern

parts of India?

(1) He was often the largestilandowner

(2) His post was hereditary

(3) The king never used h1m to collect
taxes

Generally, he had slaves and hired
workers to“cultivate the‘"land

Which property of a soﬂ is’ determmed

—

by the parent rock? *© =
(1) Rate of weathenng anid- humus

(2) Thickness of .soil,

(3) Accumulation of soﬂ o

(4) Chemical propertles permeablhty

products of 'hore value’ is called -+
(1) primary act1v1ty :

5 %(2) sécondary activity .

51
T

52.

2-M

(3) econom1c act1v1ty
(4) tert1ary act1v1ty

ERT IR

The Apache and the Crow are
(1) “tribes of North America®
(2) nomads of Kenya

> (3)* music bands of the USA A

4 documentanes on env1ronment
CE g f oup owe

Which of the followmg is an example of -

Sunrise Industry? ® V. -

(1) IT industry g Rt

{2) Cooking 011 1ndustxy P

(3) Paper mdustry o

(4) Jute industry T

V.

PR

34

46.

47.

48,

49.

[

'50.

51.

52.
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53.

54.

§5.

56.

S57.

58.

2-M

{4) deforestation _and _K__sgirli

“{1) 30 -minutes

Which region is known:as the»‘Orchard
of the World™?

(1) Orange Country of South Afnca
(2) Kashmir Valley of Indlaq
(3) Mediterranean region | ‘
4) Queensland 1n Australla

Which~ene of the following: helps the |

ships to navigate? . _ N

(1) Area of high tides

(2) Area of low tides

(3) Area where - the warm ocean
currents and cold-currents-meet

{4) Area of ocean currents

The radio waves transmifted from the
earth are reflected back to the earth by

{1) exosphere

{2) mesosphere

{3) stratosphere

{4) thermosphere ., . - s

The balance in the environment gets
disturbed if

(1} the relative number of splec1es is
not disturbed

{2) human activities continue to
preserve natural habitats

{3) indiscriminate killing of wildlifé is
banned Lo ‘

erosion

continue o N

Which one of the following is not a

principle of sustainable development?

{1) Maximum use of natural resources
{2) Respect and care for all forms of life

{3) Change m personal attltude and
practlces towards env1ronment
(1) Improvernent .in }the quahty of
human life .
S L X
Two c1t1es~N ‘and M are located at 15°E
and 15°W of Greenwich respectlvely
What will be ‘the d1fference in time
hetween these two citiés? '

Il

(2) 1 hour
{3) 1 hour 30 minutes - : !
(1) 2 hours

35
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69, The Minimum® Wages Act

60.

(1)
()
(3)
4)

specifies that minimum wages
should tbe -given to :labourers

specifies that the wagesshould not
be below a specific. minimum

allows employers > to  decide
minimum wages of their employees

covers only;government employees
under the organized sector -

Which Article of the Constitution
prescribes that the énforcement of any

- disability arising ‘out of ‘untouchabmty

shall be an offence: kpumshable in
accordance with law’g_:_ .

(1) Article 15

" (2) Article17 o -

61.

62,

&3.

(3) Article 21 : - gt
(4) Article 28 LB P

What is the key reason of »ine'quality
in India? :
(1) Poverty

(2) Religion W
(3) Caste .. . e
(4) Sex

R1ght to the constltutlonal remedies

(1) protects the Fundamental R1ghts of
citizen

(2) is  about  the  Constitution
remedying itself by amendments
.excludes,-the Right to Educat1on
Act, 2009 .

gives JUdlClaI'y the power to
strike' down a law enacted by the
Parliament® =

Q)
)

According to. the Hindu- Succession
(Amendment) Act, 2005

{1) only sons or. male merhbers of the
family can ‘have nght in’ family
property

(2) only - wife has right‘, .to inherit
property of her.deceased husband

(3) sons, daughters and their mothers
can get an equal share of family
property

(4) followers of the Arya Samaj will not
be governed by this ‘Act .

36

60.

61.

62.

63.
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64. Wthh of the following comes under the

65.

66.

67.

68.

2-M

4) Drinking water

function of the State Government?

(1) To maintain peaceful relationship
with Pakistaniand~“Bangladesh

{2) Decision to discontinue the Board

Examination for.Class X

(3) Introduction of new train between |

New Delhi and Vasco da Gama

(4) Introduction.of a new design of
1000 rupee note "
Dropout rates of Dalit and Adivasi girls

are hlghest because -

( 1) thelr parents do _.not: ° value
edtuication -

(2) of poverty and social discrimination

{3) of non—a;railability of all-girl schools

{4) benefit of their, education will be
available to the1r in-law’s family

Which one “of the «followi;ig is- not a
social advertisement? %

{1) Atithi Devo Bhava S S

(2) Life Insurance—Zindagi Ke Saath
Bhi, Zindagi Ke Baad Bhi

{3) Lane dr1v1ng is life dnvmg
(4) Save every drop ‘of water

Identify " the issue which is hardly
focused upon by the media.despite its
1gmﬁcance

(l) Murders and killings

{(2) Demolition of buﬂdmgs
(3) Gender sensitivity

3

With reference to _)udlclary 1dent1fy the
odd one out of the following provisions.

(1) Separation of powers

(4} Once appointed to office, it is very
difficult to remove a Judge

. (3) The judges are appomted without

any interference from the
government 2

(4) The tenure of service for judges is
fixed

37
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70.

71.

V2.

(3) about

R

/el

D. K. Basu Guidelines laid down*by-the
Supreme Court of India are about

(1) prevention of sexual harassment of |

women at workplaces

2) protectxon of children from sexual
offences in schools o

(3) procedures 't be used .by various
agencies for the arrest, detention
and 1nterrogat10n of Aany person

4) procedures to be followed for the

reelectmn in a constltuency
L .

In Subhash Kumar. vspState of Bihar
(1991), the Supreme Courf held that
the 4 g s

(1) Right to  Freedom, . includes
expressing cntmrsm of the
government -« -

(2) Right to Life includes. the r1ght to
the enjoyment of . pollution-free
water and ‘air

(3) Right to Freedom of Religion does
not include crrtlcmng the other
religions foa

{4} Right to Equahty should force
private companies t6 provide

» reservationrin jobs"

Which characteristic of the traditional

external-examination is-excluded in the

present school—based assessment?

(1) EmphaS1s on: systematlc learnmg

(2) Emphasis only on the scholastic
aspects*of learning®

(3) Consideration’ of the needs of the
learner

(4) Rapport among leamers teachers
and parents close to each other

Before assigning -a' new type of
assignment, a teacher must tell her
students

(1) that the forthcoming assessment
will be/willTriot' bé based on this
assignment LR LA

(2) about the we1ght1ng of this
assignment in ‘théir final result.

her : expectation . from
students in terms of learning from
doing the ass1gnment -

(4) about = thé"" requlslte previous
experience students must possess
for doing thissassignment -
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73. Four children of Class VIII were asked
to.;create some ;creative articles from
the. waste material: On completion of
the assignment, the teacher gave the
following observations. On the basis of
this--information; adjudge the most
creative .child.

. et
(1) Most of the time .uses 1mag1nat10n

is conscious not to use exanswe '
material

(2) Discusses with teacher constantly
and asks for- approval at each step

(3) With little gulda_nce, can' make
reasonably good items . -

(4) Skillful and possesses "a vision to |
.. , convert waste material  into

" productive items
'{d

74. _Projects,,in Social Science are useful
a. in theme-based tasks

b. if they do not 1nvolve collectlon -and

analysis " P T
c. if based on conte)&s' from “within
the text"
3 e (‘i-
d. for the group work 1n class or at
home

Which two- alternatxves from amongst
the forms g1ven above are correct?

(1) b and’d

6‘2)" aandb o L
3) 2 and d |

{4) ¢ and d -t

75. Capamty Building Programmes are
esSential for the teachérs.’ of Social
Science because *

(1) they are related to their

professional growth o

(2) their imcremefr:it in salary is
contingent upon Capac1ty Building
Programme

(3) schools have been asked:to dé so by
the CBSE to keep the teachers busy

(4) they require conceptual and
pedagogical clarity in different
components of Social Science

2-M 39
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76. Ih~a Social Science class; which:one:of
‘& the following-i$ & suitable method for
E,gunderlmmg«{the phenomenon that
.common areas - -and open, spaces in
“rural areas are d1sappearmg fast?
(1) Make presentation:with,thethelp of
computers+ . & w. .
(2) Discussion on the ba31s of text
presonbed T w7
(3) A survey'project?
4) Group d1so}1s‘§103} 10\{er the topic
77. The Nat1onal Policy son:~Education
(NPE), 1986 suggested the development
of> 1ntegrated nprogrammes “for the
(1) educationy of BGYS® dnd’ ‘girls together
(2) education of the mentally disabled
(3) handlcapped children to. study in
" i'reglilar schéols ™" NF- —Q-,-
(4) handicapped children to 'study in
special schoo;ls P

Ly

78. A student in Class VIII 1s extremely
upset "over HRer’ mablhty te” wrife on a
prescnbed -topic. -Her. teacher advises
“that she may approach’ fthe" a351gnment
by breaking it into parts’ “Wwhich are

- more. farmhar to her, Which of the
followmg is 'the most appropnate with
this method? ..« &% - * S

how the topic is related to the
assignment d »ne - o

(2) Prepare a d1rectory of books,
articles and Web+*sités “about the
topic i 4y

(3) Find two sources of mformatlon on

the topic and find their common

- > - featul'eS F e P F!'; —" ‘“m)— 2N

(4) Prepare azpaper; andéreadﬂt to a
friend to determme Whl(‘h parts

~ needst6 be-révised -, i

v, 79.=Which-of jthe, followmg approa(‘hes has '

‘been used extensxvely to..cfamlhanze
students with ideas ‘in the textbook
-Social and PolltzcalLtfe pubhshed]by the

NCERT? i Y e S §
(1) Time line

- (2) ‘Gr_aph R WaOETR 4
> (3) ‘Chart % ™ fie fgmowr
(4) Storyboard ¢

2-M -
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.'80. »The content. of Sodial Smence should
o w FECUBT 3 i
(1) provxde comprehenswea ~1nforma-

tion about the socLal issués and

thelr solutlons" & AW (I,
: R g :
(2) excluswely focus on 1ssues related

™ to” sdé¢ial reality” and shotild not
encourage scientific* method of
r.research, . . e

o
e

%
r

{3)~aiff at ‘Fdisifig’studénts  Awareness

-nabout~4History, - -Geography, and
Politics ; gofi . India .and the
interconnection among these

%

(4) aim at raising students’ awareness
~~.'f¥through xcntlcally exploring .and
questioning § familiar-social realities

R F}?’f’;’-“!’u ’? o - {19
81, To make fextbooks representative of all
: -.regions.and social 8Ioups 1 % (¢,

rit- P'l)l“s'lK

(1) conténts: rrélating toTall regions and
social groups. should,"be added in
textbooks, . teis - %

PO R A T

{2) Televant. local contentsshould be
-part<of teaching- learnmg process
drawmg on localyresources '

Eaad

(3) textbooks shoulld be written in all |
f"J lang'u’ages of th"e countxy speciaily !

g ‘!ikn'f + ;

P

S “S’ .

Y

*

R A UL ‘
‘ 553;, Schedule VI ofethe Constltutlon of }

India E R e

(4Yacommon ~.isSues jamong ‘regions
must be: hlghhghted«exclus.wely to
promote the spmt “of federal republic
A3 al \

”"—T‘ Ty
¢ PR
Jg;zm To sensmze students about the gender :
" “Fisues™and “réle of :Socialization in

gender d1scr1m1nat10ns, schools should

o (1) encourage team teachmg and

includé 'male” as*'well 'as female

teachers
N U A t‘.y . CoF N
(2) organize seminars .,on _gender
A sen31t1v1ty by mvmng emment
speakers’ ° * m

-
Y

TR
Y

ask teachers Jo .use case studles

and’ give: conicrete’ examples :

T TR
make rules,? that, boys are not
allowed” to pract1ce dlscnmmatxon
: agamst girls & S

3

-

L~
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While discussing the functionsi of .the
State Government, issues related to
health, water, transport etc may be
dlscussed to

(1) make students aware how their

84.

85.

86‘

@

State-is doifig on"thesé-accounts
(2) make ~students' remember about

the role of the Government in these

areas . _
(3) allow learners torunderstand these
views TP
enlighten students
movements for better facilities for
211 S : .

¥

(4)

The National Currgéulum Framework, |
2005 proposes thdt Geography should

be taught to

(1) instruct the role - of diverse

geographxcal features of India in its |

economic growth ~

(2)cguide students .about  the
destructive . effect “"'of hatural
disasters on the economy of India

(3).
(4)

and utlhzatron of natural resources
inculcate a critical apprecnatlon for
:-conservation and env1ronmenta]
‘concerns. .y
Regarding Pedagogsr and resources for
Socxal Sc1ence the National Curriculum

Framework; 2005 says that teaching of |

Social~Science must adopt
(1) strategies that help students to
remember facts for longer time
(2) mind maps that enhance quxck
retrieval offinformation
methodS’ that™'promote creativity
and~criti¢al.perspective
_approach involving maximum
teachmg ards to promote mtelhgence

Scaffoldmg in a Soc1a1 Science

classroom primarily intends to

(1) strengthen -the desirable outcome
in the summative assessment

(2) help the students till the time

independent thinking is possible

(4)

(3) assure the improvement of
self-regulatory skills
(4) énable the students tof envisage

“ideas

42

issues and - express the'lr critical |

to organize |

focus-on the optimum extraction |
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87. The ability to break down mformatlon
into smaller, pieces “and: fo establish
relation among parts and the whale is

B L

o
e

(1) understandmg

(2) applying : )
(3) analyzing

(4) remembering

88. In order to optimize the time students
spend on academlc act1v1t1es a teacher
should

(1) plan, teach, and-impose:timetable
for trans1t1on times and. classroom
act1v1t1es o

e

assxgn homework at least twice a
week in core content areas

(2)

i
ask students to read new. topics
before discussing them in class

(3)

(4) present new matenal followed by a
question-and-answer:’ session - on
the material -

T BN

89. Inductive learning is contradlctory to
' which of the following approache

[1) Simulation :
(2) Expository teachmg
41.13). Mastery learning
' “{4) Struttlire training "%’

90. Wthh of the followmg statemenfs is
trie with regard “to effectlve reﬂectlve
practice in Somal Scxence teachmg?

(1) Peer tutonng should . be done
carefully because it affects tutor-
students own reflective potential

{2) Reflective practice should . reject
those f students’ mputs that
challenge teachmg practlces for the

sake of classroom d1sc1p11ne

Reflection must exclu_de those links
to conceptual frameworks that limit
inquiry and problem solving

Teacher must €reate atmosphere of
trust and flexibility to every
learning situation

43
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questions from the following Part

L!ENGLISH as LANGUAGE—I.

. RS T T i .
Candidates  should answer|ufigmeff Fvaferfas wir & v &

only if they haver‘ opted for

T e woft § af T
&1 Rweg A g1 &

PART—-IV : Language—I
ENGLISH . - -

. ) .
Directions : Read the given passage and
ariswer the questions (Q. Nos. 91 to '99) that
follow by selecting the: mést-v.qppropriate

opition. DT W

Have you ever wondered what-the qualities of
a really professional teacher are? I know that
all teachers want their students to like them,
but being liked isn’t the be-all -and, end-all
really, is it? I mean teachers have to make
some unpopular decisions sometimes.
Tenchers. can- be .popular just because they
arc friendly and helpful, but to be truly
professional and effective, we need to be able
to identify the skills and behaviour we
require-in a true professional:’A" professional
teacher needs to be confident without being

arrogant. Nobody can expect to have all the

answers, so, if a student asks a real stinker,
the professional teacher should be able to
admit defeat but offer to find otit more for the
student. And they must carry sthat promise
out When the teacher enters the-classroom,
she/he should have. all sthe~~ required
materials and the lesson-plan ready. And, in
orchestrating the class, the teacher must give
everyone ‘their. chance to contribute and
should:be flexible.enough to modify lessons if
they are obviously not going to plan. Indeed,
a fallback position is part of good planning, It
stands to reason also that a~teacher must
observe punctuality:and appropriate tidiness
and dress : it is not possible:to.demand such
behaviour from students ‘if the teacher
doesn’t set the standards. . -« .

The last thing I would  rfiention is that
teachers should be able to feel that their
professionalism entitles them to back up
from the school directors. If a teacher has a
problem class or student, then :the school
should have procedures for handling the
difficuilties. The teacher should not have to
feel “alone ‘and ‘wvuliierable - if a difficult
situation arises. So, yes, professionalism cuts

2-M

| both ways : in the standards we demand of
teachers and the framework we 'have for
- giving them support. _ A
91. The expression 'isn’t the be-all and
end-all... is an assumption that
pertains to the —— point of view.
(1) writer's
(2} teachers’
(3} students’
(4) general

92. Here, the fallback position is the
system where —— well-prepared.
(1) good students are
(2) good teachers Aare , N
(3) teachers, even if caught out
unexpectedly, are still '
{4) students and teachers who support
each other are

93. Here, able to admitdefeat implies that

(1) students can ‘catch’ a teacher
unaware '

{2) teachers easily lose self-confidence
as they lack professionalism “*
it doesn’t matter if students often
contradict what their téacher says
teachers” should be ‘confident
enough to ‘own Lup-.to their

‘unpreparedness’ ¢

(3)

(4)

94. Here, orchestr;a:tin'g the cf!qss‘ suggests
(1) the teacher controlling the class to

ensure high grades ™

44

(2) the 'whole class performing
uniformly well S
(3) acknowledging -thé ‘individual
differencés in" ‘the process of
achievement ,. . 4
(4) that music helps academic achieve-
ment .
g
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95. Here, ...asks a real stinker.....suggests
that 5 v - ‘_\n :

(1) teachers are always {inprepatred "

(2) students can be better informed

than their teachers
v g dﬂ.&b o

(3) students dislike teachers:in general

(4) teachers are unprofessmnal in
students’ eyes it

96. A word that can best replace the word
- _entitles in the passage-is

(1} warrants h

(2} names

(3) calls .

(4) gives

97. The writer’s view that professwnaltsm
cuts both waystmeans WY

(1) teachers are faced with students
and trustees ., hold: them
accountable '

(2) teachers teach well when trustees
- pay them well‘nu ke

Co- - [FeNa o T
(3) trustees and thelr_ ernployee% owe

each other support

(4) ‘'students- and ‘téeachers-owe 'respect
~ - to the management of the1r school

98. A word from the passagejthat is the
antonym of the word unshakable is

(1) vulnerable

(2) difficult . 7

(3) helpful T es
(4) effective

99. Here, framework refers to the overall
(1) school curnculum .(: -
(2) clearly spelt out duties for teachers

(3) system for assessment of teachers’
performance

(4) transparency in ﬁxmg teachers’
salary .

2-M
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Directions : Read the given poem and
answer the guestions (Q. Nos. 100 to 105)
that follow by selectmg the most apprc:przate
option.

HAWK N

All eyes are fearful of the spotted hawk,
Whose dappled wingspread oﬁpens to "

- a phrase
that only victims, gapmg in the gaze
of Death Oc currmg can recite. To stalk;
to plunge; to harvest; the denial-s squawk
of dying’s struggle; these are but a day’s
rebuke to hunger for the hawk whose glazed:
accord with Death admits no show of. shock

Death’s users know it is not theirs to own,
nor can they fathom all it‘means td'die—
for young to know a different Death from old.
But when the spotted hawk’s last flight

5 is, flown,
he too becomes a novice, fear-struck by
the certain plummet once these feathers fold.

—Daniel Waters

e T v

100. The demal-squawk refers to the

(1) hawk’s respopse .t:o the pry of its

prey
(2) helpless cry;,of 1tg';pre§y: to avert
death

e o it
(3) warning cail by the. hawk before
killing its prey

(4). despe;‘a_fe, 'Ipitigtgle_Lci;y of the prey

101. To the hawk, a day’s rebuke tohunger
suggests that the bird: - .

(1) bows to hunger.. = .1g,

(2) causes death by preying on lesser
anirgals - .

(3) averts own death by kxlltng and
eating its. preys

{4) faces death fearlessly in contrast to
its prey A e

[ P.T.O.
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354

PONE IS T

(3) death is
.., starvation

R

/el

Here, glazed accord with Death:means
that T _9, A~

CAGEE TE -

(1) the prey meets death wﬂhngly

(2) death is inevitable

(4) ‘the hawk also becomes a victim of

death at the end c

sl

1035'The ‘word that is closest'i in’ meamng to

104,

‘the word dappled in the poem is

N9 N
(1) spotted .
VY B (_

(2) fearful ;

@) gz, .

@) flown

Here, he too becomes a novice suggests

that R
oot : L

(1) the hawk’s prey becomes a
' predator instead'* =

10%.

2-M

(2) all 11v1ng creatures are potentlally
victims' of others -

(3} death comes sw1ft1y to the fearless |

hawk “-
T T
4) the hawk also meets death, as
weak-afid helplessTastits prey

The following line exemplifies the use of
personification'as a poetlc device

(1) Death’s users know it is'nhot theirs

to own,..
(2) ...the certain plummet.once these
feathers fold.

.(3) To stalk; to_f_.plunge;;to"harvest'...

(4) But when the spotted hawk’s last
flight is flown... .

N
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Directions : Answer the following questions
(Q. Nos. 106 to 120} by selecting the most
appropriate option

106.

107.

P . i -

Providing students -—— can encourage
second- la'.nguage acquisition. 'L

(1) adequate speakmg and writing
assignments

(2) : the ~opportunity ..to voice * their
opinions and. to.problem ‘solve in
the target language

(3) frequent feedback on spoken and
written outputs

{4) informal interviews

Generally speaking,. ithe first language
is

(1) marked by “the characteristic
difficulty in mastenng it

(2) marked by “the mﬂuence«, of the
school enwronment the child is

‘studying ué, L ﬁ

- (3) marked by-the,accent and regional

108.

expressions ,.of the, jarea where
students grow up

(4) influénced’ by "the’ grammar and
“style" of second lariguage "

[ I 4L

Language learmng is better achieved if
what students learn T

(1) is closer in form and sound to their
mother tongue

(2) helps them improve their chances
of college admission

(3) is functional in terms of their life
values and goals

(4} is in' a
environment

controlled. classroom
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AT

110.

h24

/el

An activity. asks .students to determine
from a.list of possible answers with a

_title, ‘what kind of . 1nformat10n will

appear in an input text before an audio
recordlng is played. Here students are

(1) checking for facts. * . .» !

(2) guessing answers to°questions
(3) filling in missing information
& 0D

(4) actively predicting the content of
the input

.o ) : ¥y

A speaking activity )can be made more
purposeful by

. (1)} insisting on correct  structure and

111.

pronunciation . -+ i ¢

(2) interrupting the act1v1ty ‘with' some
writing/reading

(3) motivating students to complete a
task at the end

LY

(4) providing .a- specific list of
vocabulary to use

i

oW b )
In the commumcatlve classroom,
learners acqulre J the grammar of

second language to - L

v w2

(1) enhance their formal communi-
cation skills

(2) write conﬁdently

(3) understand second larigﬁage better
while reading/listening to it

1 caem
4. T

(4) understand how to make meaning
v .- -and become more .proficient in
speaking and writing - -

112,

Structures, in second language are
better assimilated, in a pedagogical

, 'practice C ,. O
\

113.
L
1o

o

114.

(4} being, taught . by .

X o ;

(1) through meaningful
with interesting content
I e T Y4

(2) insisting i .on . accuracy,
instruction in rules

interaction

explicit

Y ) .
Sy, ERNNPO: S '

(3} through repetition arld }pracuce of
commonly used1 syntax
AT @ T s SR

T ¥ A S ¥ 1. B
(4) through application, ., of learnt
structures in discrete language
items
by [ T 3.0

Error correction in students’ written
work is most éffective:whenithe teachér
T R Sl TR #* 114D
(1) writes out the correct ansivers on
the board

B R S U 1T . .

(2) révises ‘the“Cwfong answers with
them
e S

(3) points out major e€rrors using

symbols and students self-correct

-

e ow wedg
(4} gives students more:; dn {1 work till
they ‘learn’ the correct responses

RS N ", 4 9.

Students always find it difficult to
listen to and understand a second
Iangu age presentatlon insidé’or outside

their class. This can be hekped by
. 3N

(1) increasing the number of periods
for thé'second language-
I Re il s S ~N
(2} practice by usmg th 1e second
*. language more.*.c."’ s

(3). recommending to choose another
language :closer to. L1~

only . native
speakersjof-L2 . |, .

[ pA.O>

S
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115. ‘Whén they encounter unfamiliar words

‘during a -reading activity, students
should be trained to —— .while
processing the meaning of the whole

stexts; Laifs L o
AT B, -
(1) refer a dictionary to find out the

. meaningsimmediately -

[OUMUE T s { B e e S

(2) ask the teacher or ne1ghbour
Seop oL S|

(3) use 1nformat10n in its context to
correctly guess its rough area of

fis meaﬁmg*” 5T I S A

'Yy fadc RIbT O TN NPl § P S

SO
(4) choose more simple texts

S I IR AR UG TS SF SRR EF Tl o crell s A
- 116.:Identify. - the\question ~that . assesses
students’ ability to infer the meaning of

. the, text. .- -
ERZIEER ey .- -

4

(1) Why did Mohan change his mind

w z1sdespite his parents’ advice?

(2) Where did Tom and his parents
v ~11ve?

e - » . ~

l “a- -

(3) Use the phrase in disbelief’ in a
* ... sentence of.your own.

O TS

(4) Give the opposite of ‘delighted’.

7

ot e TN A

PR ta ) )
li 7. Whlle ;assesé}mg a report of a school

programme for a class journal, the
followmg are the main criteria

B T o oL ot
(1) Descriptive iy presentation
writer’s name

.’I-" * H '.;

title,

s g P T

(2) Word limit, tltle, factual descnptlon ‘

+110(3) Literary ' . style,r .ichronological

presentation, -word “limit 3

? 7 7(4) ‘Rélevance, loglcal orgamzauon of
content, a dlrectﬂstyle

wal ]

.o

| 118.

-

While learning a language, the

-instruction provides opportunities for

119,

indépendent study; a wide range of
reference tnatérial “and ‘immediate
feedback dbout-achievémerit.

(1) programmed .. .

(2) Czon_lpu‘ter;z}id:e('i‘ -

53

(3) direct

{4} distance

A dual-language classroom. consisting
of students speaking a native language
and the target language is beneﬁc1a1

" because it

120

0

(1) motivates target language speaking
students learn another language
and vice versa

(2) offers an opportumty for separate
project work

(3 justiﬁes conducting' more activities

in each language™’
idd

(4) causes less distractions in the class

as students will talk less

A student has difficulty in applying the
learned knowledge, for example, |
word problems, the student also fails to
translate sentences’ into equatlons or
identify the variables. A’ possible
solution to this problern could be

(1) peairing with
achievers

him/her high

(2) giving carefully désigrred assign-
me nt—sunpler—31mple complex
o RERARES S 1Y &
(3) allowing more time 'to complete the
same activity

¢ -
IS S Ao

(4). giving only simple- assignments to
boost their confidence - -
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Candidates should answer
questions from the following Part

only if they have opted for

HINDI as LANGUAGE—L.

ghtemref facferfaa m'%mﬁé‘;
I Faa adt § gl IFT NET—I
#1 fawew @3t g &h

Hqr—IV

: S?NT——-—I!

=i

3w (v s&a 91 @ 99) : ¥ fiw g mrw #A
qeat TR @ feer w1 = il '

e @l 3 oe-3a wafwEt e €, @ i
3 R@ 7 A, I A-ung TE fa, = e
T A TR, YA @} AW I R @ I AR
@, @ off ok w3l s W F 9R W FEER R
e € @ A grawE @ T, FikE we-AEz € Ry
W wd et B osee fm G w0 B
A HES 30 MUR W T Fen =ifee 7 a8 s
vge ¥ 3 o FIE HW FE F TR A8 3@ AWK
W T wawn ARke 98 FW v vl T8 3
wd w1 fole gfe-fas & snar = & @l Freeh
wraell, gIERSTE % IMUR | Fas T | 39 & a@
#H ww IR v B w@e ot ToEe ek wed €3
wg # W TR UEEMd O T IR AW TR
-1 geHd &1 3 @ W g ek b 9 g
A WA @ ¥ TR et = e T w R e
Aoft T o el @ faweww

91. ¥ yafml T 87
(1) s =@ 1 g TEdt &
(2) s o€ | R &
3) ot ol 1 9| &
(4) Tl o ol @-fea w1 v @

92, M-8 F g H A A 7 §7
(1) St 57 & ger 3R f&a g §
(2) S 37t qEE-TIEE & InuR W By 9w §
(3) Forwi we srgfea gen 3 |
(4) fom 9nR he-FeH W Bl §

2-M 49

93. T8 Ty # fFa yer & st w1 awdw e
™ 7

(1) < o= o &

(2) < T= 9 B €

(3) N gfg 3 fEw-ufe & sm w frg
i

(4) < wereh el ohk gfE A R A &

94, 34 wary # fng wig w0 B7

(1) waeeft weamd

(2) grerfiensht

(3) 318 o w@rd

(4) Tha-wfy
95-§wﬁiﬁm§aﬁ%ﬁmﬁmam-mqvfgm

p A

(1) foreetaw o

(2) w=x a1yl wE

(3) T-oTR F

(4) = Fen

[ P.T.O.
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96.” W’"m’ﬁeﬁqw%‘* T T

o
e

e e -
Y e
e ST 6T T AT T
(@) @R .
I AT 3 T
(3) SFENEH® . . . _

(4) JAHBRIHSD

97. “3 @ W v IR TR T TE 0 WEH

B R Y wew e o e @7
(1) T=edt saaneTt & forg
) aré—ﬁﬁaugﬁﬁs%%q |

L

(3) w@nd ﬁﬂauqﬁvﬁ%%q

TS

v~(4) THG - Wésﬁvm

ok

fog = d ‘@’ Suwl 1 owEm T R e
el 87

a8.

(1) et
(2) TR
(3) W&’

(4) I

Yo, ‘Fredwr w few &
(1) Gy

(2) Afavayor

@ W,
(4) Ha&mu S

2-M

fAdwr (v dem T100 @ 105) ¢ R &
F-fRE BN Te. vy 3R REer @ 9.

| Ffss R

@y L omteE RS-l T g 3,
i A w1 e T g
«ﬁﬁ,w%wmtﬁ(-w@ﬁ
foere @t w0 S et 2
maﬁﬁaﬁaﬁumﬁm

C -t ) FEE el TE arelt
wE 3-3i | o @i W R,
@ oft 7 ot e ww wd e Tt

100. 1 & P o 8 o 0 o T YT
~(1) fddwy s

;F , (z) fRY it ?5!2% g | "
(3) S @a‘i@ﬁmﬁ @l o Fm s 2

‘(4) ¥ T et ?

101. "W % W™ # gR-AR G R w e

2
(1) 3% o9y 5Tt a1 8

(2) ®Oa 1 W I W R
(3) uWa WEA W @R

(4) T I Z8-T” =@ o B

102. ﬁ!ﬁ!ﬂ“@?«ﬁﬁﬁsm st 17 e

01 g

(1) T % faemm = @relt e A

(2} srrar, T mﬁsz%m%rﬁ -
@3) mmmﬁaﬁmiﬁéﬁt.

(4) T % g S 1 T

50
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103. mmﬁmmagawv%%—-sama

104.

105

R

/el

ﬁmmmvﬁ%%—-

(1) e, &, Brdt A sy o
(2) SR-TR h FaF e gEY aEh
(3) wiewl i 3<t-wh wr@ grgm 3
(4) Bt W % A vea goe 2

‘i’ e SR w37
(1) Pt i o i
(2) sreferd & e
(3) wiweni Y 3T
(4) TEERI 3R

grgm 33T w5 e §
(1) TG F et I

io
+

(2) FwATE S
(3) R-+R s

(4) 3R ¥ ¥ fg srestir 21

ﬁé‘w(mm 106 ¥ 120) : TR @& fyweq &
T34 i

106.

107.

I e TR R e @ el Rw

(1) ¥ & Hiedwe & o
(2) Fsft srgwdl % anum W w1 w1 gemEia

(3) ol wfefres faunstt & 7gwew = ww
FET
(4) T d w d @ g

g, @ R wweh @ wmwr Wi cwes -3k
@I e g JTficadd s o gwea &
o w0 4 ffafaa 8 4 9 qems 37

(1) froenfis ox-d@H
(2) Tt ot g8 el =t g i forem

(3) gf, <&, udt wew =l ua wsdl # fofEm
®9 ° ffveraa &

(4) ‘B P Frerer’ i w By R

2-M
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108. Wt % " #§ wpelt faw w1 7@ 3= weifie

109.

110.

111.

112.

T ——, —— R —— Qg > fagm H
qﬁzéammmﬁ%l

(1) «mw, aﬁ%a: LERIEE

(2) aife ay, mg:naha thaBrﬁq

(3) wifecw, wuem, wrifore

(4) d=d sy, o s, -t

I mwﬁquzmmf*hm Fl W

e —
(1) sgreTon it gfomet & $8wg 30

2 mma%ﬁmaaag«ﬁaﬁw aﬁ:m
Ry #

(3) Waﬁﬁwaaﬁﬁ:maﬁtrméﬁ

(@) Wt it yFh, wer-aiv e fadl

F FIY FE

39 gEiE W W & yn-REm % R

-t nfafafy swirht & @ i

(1) ugl ¢ w5 wqg § weg- s

(2) fogmst, dred, mzﬁéﬁzwn%m
m@nﬁmﬁa—mm

(3) wETt ¥ aref fr@a I @

(4) =, eml-own, fm-dey sk @
1 wHE

I yfe T w se-fiew € waifhe

3fera fafy @

(1) e fafy

(2) smma iy

(3) wmur- wfﬁrﬁx

@ il

4

i w1 s f waE @ Aol o
?

(1) URETIRH T,

(2) w9 wmET-ufE@w W
(3) amhe Y ﬁvamw W
(4) d@=m- e

SFthe

[ PT.O:
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113.

114,

115.

116.

2-M

R

/€l

3= yrfies T W I8 w8 T o=

(1) weR-ux ¥ oft frdt @, da @ wd
ara & ke v s

(2) T TEGEE i T w e W
'{T&? o

(3) T ¥ s ¥ R & A e @i
nfafafte # e w9 @ e

(4) w1 erfafEa o =t #R qi@isE-
Fd T 3T 1 T4 H

W.m@ﬁmaﬁmmaﬁ——-—ﬁﬁ@m%ﬁ
?, wifs v et i —— a1 orfi R
Tt B

(1) SR, =R

(2) Frerergar, s

(3) e, @

(4) wwpla, wepfa
wmana%ﬁﬁ%mm%;r;rwm
T e fore Fn s watfes s 27

(1) =31 & wifres goyfy

(2) ===t & AT fsivand it wyr-wam
# ema

(3) =1 % WIWI-WANT T TR
(4) mvﬁw%m,aé%
=

s, fam, afest, a!aﬁa'lamﬁ'ﬁﬁaﬁ
— q Wi, T gfafsran
mmﬁﬁmfﬁmwﬁm:méo

(1) A%, @&, qerelt

(2) "H, T, depalE | ¢
(3) wa7, tﬁﬁﬁ,f\a%a
(4) was, umsﬁmﬁg

52

117.

118.

119.

120.

TR APHE H- MHERX A A 9 ggEgel
st gt & | goe dfdrs Pt @z @ 6 o
# wefT A

(1) @ el W aradia it s
2} A H AEA-FH qQIET WY

(3) sEd-dEd W Wk Rw s afd Sdwm
qigad €9 T

(4) ===t = fafy vl § s 0, ffiw
Irgvat A W gt & e Ry and

gfear amadt wen & R s verdh €1l %
9E &% 9N T A S 9T W9 3 R 9
% gt a9 @ A g A

(1) ®faar § R, @ w 49 7o e s
(2) i &1 v Fifda s, ot 7€ @ 9@

(3) wfaa@ = ma § wfafda wER arh tRifyfy
wiar- e a1 sfard o &

(4) wfomr K v, =R ® f{w @ R
<

fo=dl s =1 SrheR B T GERRE Tt

%aaﬁﬁaaam%%

(1) Y

(2) wAw: R i fr uR @ @}

(3) SR wrfe 3 wve-fe <A qfiv St 2

(4) s woifer & Rt A e et 2

oy wfeferes o % wer w anw weR v

R srfarda: I &7

(1) sfaf o

(2) aen-gar

(3) 3mamEm

(4) R
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Candidates should o - answer| gfereff AferRas s gt &

questions from the foll6wirg Part

MR T I

I I qE afy R err—n

only if they vhave., ,opted Sor
ENGLISH as LANGUAGE—11. |1 Rea ST0F gar-gts-.
Yy . ~ M,'.;‘* ,‘ " (AR T2 B 'IUH.‘-'.; [
PART ~V : Language— 8 L
SRR ENGLISHf S
Sy g (S . PR T IR
«w L oead &,
Directions : Read the gwen passage and | other ways and places in which

answer the questions (Q. Nos.,121 to 129)
that follow by selecting. the most appropnate
option.

Anthropology is the holistic "é"t'ﬁdy" of
humankind. It studies all’aspects of human
life in all geographic‘ regions' ‘of” ail txme
pericds, from its evolution as Homo sapiens
to its diverse manifestations within; cultures
and nOCletleS, both past and- present -Since
to such, probmg quesnons as Who are{we ?
How have we come to be as we,are(? How. .can
diverse peoples peaceabl‘z\} coexzst ?‘andL !Vyhat
might the past and present tell us about our
future? Anthropology seeks!tovanswer ithese
and many other fundamentally humanistic

questions. Anthropologyi employs« . both
qualitative  and: (quantitative .:aresearch
methods  within - -its | numerous d sub-.

disciplines. Commongto, ally anthropologists,
is the method of fieldwork. ;A wphysical
anthropologlst may . observe w11d. or, captlve

R,

clues about humankmds ongms and earlyJ
migration patterns,) a W whxle o @0 applzed
anthrupologist plays garnes with ~disadvan-
taged schoolchildren “i‘to3 ‘advisex?2school
administrators .on -how 2to :create:conflict:
reducing  after-schéol s programmes. A
socio-cultural anthropologist may:live iha-hut
among tribal communities to: learniithe
meanings of their unique rituals.andspolitical
economy, while a linguistic fdanthropologist
interacts .with native language,speakers,at -a
family function to .discover clues; toy-their
cultural retention am1dst a,, globahzmg

society. Within each of these and the myriad |

2-M

s

53

anthropologlsts conduct day-to -day )esearcb
they seek answers’ to beneﬁt humankmd
Anthropology has been “described as “the
reformer’s  science”, and », -ithe ) most
humanistic of the sc1ences and the most
scientific of the humanities™1. o2

121. The prime function's of ‘an anthro-
pologist is to —— human hlstory and
behaviour. :

(1) watch
(2) record - 14t .-, . T
o U(8) predict v '

oo L ey

i PP,

Y = 2(4) .analyze. ,i! ~n. o s
1A HYV B Aal !

122, Quality in the given context implies
(1)

the tools of research used durmg
VISIt‘ . 3. imn

(2) positive impacton- sthevcommunity

being studied

Fas
community benefits
anthropologist

(3) “shared by

(4) use of test methods of researche r
. - NeNe BTty

— anthropologlst describes and
analyzes the’ dlverse peoples of the
world, extending to’all forrns of human
association, from village communities
to corporatg jcultures to urban gangs.

ROVER

123.

(1) ngLustlc

1o (2) Appl ed) rapes o rjuf‘i’;: (-
©) S"-‘i‘°f‘é‘«‘“;f"?‘l_ oG ek
(4} Physical . ., TR

| PA.O

. et R el
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125.

126.

127.

_l_rrf” s that Anthropology
is a_discipline that,leads:to ““e—a -

(1) -removal- of . diversity. of human
~ cultures 7 7 ‘
’ I“; S -

(2)
(3)

greater gl?balizatidn -

promotion  of
individuality in human society ..

(4)
diversity which leads to harmony

A word that can best replace the word
line 01 of the passage is

holistic in
(1) spiritual

¥ H

(2) comprehen-sive-»
(3) mystical e
(4) healthy

A/An —- anthropologist «studies
human and non-human_ primate
evolution, human varidtion and its
significance, and the biological bases of
human behaviour.

. .
¥ : Voaam, A

(1) physical

" x

(2) linguistic
(38) socio-cultural
(4) applied

LS

The discipline is referred ‘to ‘as the
reformer’s science because

=

c o, .
(1) necessary ) .ch‘angeﬂs can easily be
introduced . .
(2) laws can be ‘applitd with little
' resistance o B
(3) of being a favoured field of study for
scientists Boim sy

. A Ciw
of its potential to improve human
lives in general * ¢

(4)

B

diversity and”

deeper understanding of hurian.]

128. An antonym for the word countable
from the passage is -
(1) captivee g -
(2) diverse =~ »
(3)-disadvantaged ° --
- (f) ‘f-r"tnz{iad"‘f L A
-129. The phrase. the_most. scientific of the
humanities means conclusions can be
‘drawn
{1} based on the researchers’ instincts
(2) on humanistic grounds
(3) based on factual records
*“obServations - B
T 4) *rt'ﬁi;od'gh personal-interactions with

~
b

of

a “§tudy subjects

Directions : Read the given passage and
answer the questions (Q. Nos. 130 to 135)
that follow by selecting the most appropriate
option. .

The President of" Earth glowered at the
auto-cue”and . thé television' camera in the
small présidéntial studio which was where
he should have beért ‘fight now instead of
reading ‘ridiciilous” public service emergency
anhouncements. ' -
It was -his dayoff and he-reckoned that the
world -and its ~wretched -public  service
announcements shoulduwaitiuntil tomorrow.
Unfortunately, thé world didn’t want to wait
afid the World:Parliament had prepared this
announcément for him' to. read so he was
glowerifig at everyoie The auto-cue started
rolling and the Presidefit’relaxed his scowling
face and beaméd itito the television camera,
exuding borihomie to theé billions who were
Watsli?mg as he rgadf!_f;'om the auto-cue.
‘e I &t -

Scientists are today investigating objects that
are appearing. across,the -world and which
seem .to present a degree of danger to
anybody touching them. World scientists are
advising" that, under no circumstances
should these “objects be touched. A heavy
metal’object that is floating on a pond would
be such "an’+example. A tree growing out of.
con{:jz;ete would be anothiér. However there is
no 'gu‘ér'é.r"mee that objects will” always have

this’ incongruity dnd” scientists are advising
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the general public to proceed with great
caution, especially when at home where
unfamiliar objects may bé Tmore easily
identified. After reading the émnounc’ement,
the President of Earth leaned back-in his
presidential chair and gave his most
reassuring smile. Well that’s it folks. Take
care while we get to the bottom of this. You
can be sure we are working on it hard. So bye
for now, from your President, goodbye !

o
e

130. The contradiction is cthejréd in the
phrase  ridiculous public service
emergency announcements by the word

(1)
(2)
(3)
(4)

public
ridiculous
emergency

service

131. The expression

means

exuding bonhomie

(1) appearing friendl‘y
(2) showing pride

(3) appearing tired
(4) lacking patier;ce

132. The President was glowering at

everyone because he was
(1) tired '

2} angry

{3) frightened

{4) forgetful

133. "The incongruity lies in

(1) strange objects seen everywhere
and frequently

new objects appearing where none
existed before

unfamiliar objects that cannot be
touched :

familiar objects seen in unexpected
places ;

134. A word that can- replace the phrase
get to the bottom of is.

(1) clarify
(2)
(3)
(4)

misunderstand
estimate N
explore

N TS

135. The writer’s attitude is one of ——

towards leaders. . ...
(1} admiration

(2) indifference -

(3} distrust

(4) deference

B

Directions : Answer the following questions
(Q. Nos. 136 to 150} by -selecting the most
appropriate option.

3 vyt ' e y
' 136. Two competency areas, which give a
language learner in progress the ability
to communicate competently, are

(1) linguistic and soc;id;c11itural

(2) discourse and accent-
: ‘ it B
(3) audio and expressive

(4) grammar and phonetic

137. Communicative competence is a
subset of functional' grammar and
its approach in teaching will allow
students to PP

(1) learn structures and use them
accurately 0

(2) wuse structures in a range of output
texts

learn grammar through meaningful
communication

3)

(4) enable teachers expose students to

55
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waTmm—stomonle work - in. pairs  or
groups, they just end up chatting in
their own language. This can be
overcome/ monitored by -

giving an éasy task,
may chat less

(1) so that they

writing notes on the baard, 'so that
they will not use L1

(2)

R

increasing the difficulty level of
task

(3)

(4) instructions for the task and

objectives to be made clear first

To assess listening skills, the teacher
has framed an activity.: What can the
assessment be based on? .

(1) Students’ interpretation of a visual

(2) Watching ‘ a - short film and

reviewing

(3) Compileting a tabulation based on
an audio recording

(4) Reading a text aloud

To develop language  functions,

teaching of speaking skills for younger
children would include

(1) greétifxg, informal, requests, asking
for personal information

(2) telephonic chat
(3) debates and ‘declamations

Wi e

(4) short project presentatiéms

56

141.

1 4‘2.

143.

Leamers who develop an .increased
awareness. of ‘their own style’ of
learning and teacher’s awareness of
students’ individual style enhance ——
learning. :

(1) group

(2] biased

.(3) 1 ::oopgrat%ve

4) indiﬁdualisﬁc

An early emphasis on linguistic
accuracy along with prompt error

correction in L2 class at Class V level
results in students’

(1) mastering the language more
‘quickly ’
{2) failure to .. achieve requisite

proficiency required of that level
(3) learning only the minimum or less

4

not learning at all

Poverty of stimulus with respect to
language acquisition among young
children implies that they would

(1} express themselves ungramratically
(2) read later
{3) not recognize human language

(4) need more stimulus at home for
learning language

.
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Considering students’ learning styles
broadens the approaches taken to help
language-related probléms. An example
of a learning style is

(1) loud

(2) quiet

(3) print-orientated

(4) focused

Learning a language involves the
processes of listening, speaking,
reading and writing. These processes
involve

(1) linguistic aspect

(2) psychological aspect

(3) either (1) or (2)

(4) both (1) and (2)

A reading activity where students focus
on phonemic sounds, pronunciation
and intonation can be used to assess
(1) reading accuracy

(2) inference

(3) analysis

(4) literary appreciation

A factual description of a laboratory
equipment, for a school science
journal, requires the student to present
the following

(1) Appearance, users, location

(2) Function, appearance, use

(3) Function, location, colours

{4) Comparisons, function, users

57

148,
-~ schools as.well .as between 'students/

149,

150.

— facilitate communication between

teachers and programmes or between
students/téachers and data.- Y

-

(1) Refer@;’iqe books

R

(2) Whiteboards
(3) Voice recorders

(4) Computers

—— education is to use the student’s

native language to .teach. some

academic content while simultaneously

providing an additional L2 instruction.
ol 3

(1) Multilingual

(2) Bilingual

N

(3} Basic

(4) Humanistic

While writing, a student finds difficulty
in expressing his/her views clearly
due to lack of vocabulary. A possible
solution would be the following

(1) Motivate the student to read more
storybooks and the teacher should
take informal feedback about new
words encountered

(2) Change the topic to suit the
student’s ability
(3) Give a list of words with meanings
to learn and use
(4) Conduct special classes to practice
writing  with  periodic  word
dictations and drills
[ P.T..
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z
oeb

(2) wreamo
(3) & uerf

(4) s=1 Te
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(1) forwm
(2)
(3) whrstwo

127.

(4) TEaTEE G

128. mwaﬁmﬁmwaﬁ%@wm@@%

" 7 T R

(1) W T

(2) W T

{3) fos I

(4) Trarrs o
2-M

s
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THE F _J CTIONS CAREFULLY :

Out of the four alternatives for each
question, only one circle for the correct
answer is to be darkened completely with

Blue/Black Ballpoint Pen on Side-2 of the

OMR Answer Sheet. The answer once
marked is not liable to be changed.

The candidates should ensure that the
Answer Sheet is not folded. Do not make any
stray marks on the Answer Sheet. Do not
write your Roll No. anywhere else except in
the specified space in the Answer Sheet.

Handle the Test Booklet and Answer Sheet
with care, as under no circumstances (except
for discrepancy in Test Booklet Code or
Number and Answer Sheet Code or Number),
another set will be provided.

The candidates’ will write the correct Test
Booklet Code and Number as given in

the Test Booklet/Answer Sheet in the

Attendance Sheet.

Candidates are not allowed to carry any
textual material, printed or written, bits of
pager, mobile phone, electronic
device or any other material except the Admit
Card inside the Examination Hall/Room.

Each candidate must show on demand
his/her Admit Card to the Invigilator.

No candidate, without special permission of
the Superintendent or Invigilator, should
leave his/her seat. :

The candidates should not leave the
Examination Hall without handing over their
Answer Sheet to the Invigilator on duty and
sign the Attendance Sheet twice. Cases
where a candidate has not signed the
Attendance Sheet, a second time will be
deemed not to have handed over the Answer
Sheet and dealt with as an unfair means
case. The candidates are also required to
put their left-hand THUMB impression in
the space provided in the Attendance
Sheet. )

Use of Electronic/Manual Calculator is
prohibited,

The candidates are governed by all Rules and
Regulations of the Board with regard to their
conduct in the Examination Hall. All cases of
unfair means will be dealt with as per Rules
and Regulations of the Board.

No part of the Test Booklet and Answer Sheet

shall be detached under any circumstances.

On completion of the test, the candidate
must hand over the Answer Sheet to the
Invigilator in the Room/Hall. . The
candidates are allowed to take away this
Test Booklet with them.
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